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 «�HZ>�­�Y�Hh4�

319
� ¦H� Z¥d=Z [

γp
  �KZ>�K�N�Hh4� 〈W 〉 = 210

� ¦H�': 5��YZ�f	_N\b\>£/�2�HWYWN�N[Y�K�N�K�N[N© :��
Z>\b�N�H§HV>_Id=�Y\>WN¨��H[Y�­�YZ>h4WY�­�YZ L = 36.5

X�� −1 :���Z>¡�¡��KV>�H\b]>Z<_Id=�N\>WY�7�K�Hª>�K\>Z>�¯V>W=<2fe�K\>Zb`
h4�K¢HWY\>WY[ �Y£�d=W Zb¢H©Fª>�K\>W�^F_N^�¡�©F\>^>]bZb`�XbWYX>�HVb�Hª>\>WN§HW'Zbh4Xb© d=�Y�Q_ Z �Y£/�­�YV>WP�Y£*Z�XbV>WY[Y� fe�H\>W
�HV<_P[Y\>�H\bZ>�
��h4WHfe� d<`>h4Z9°<WNX>Z>�H£/[Y_+: ��Z>h4Z7V>W=<�fe�H\bZ>��_ feV>WY\>WN[>:

��_�¢ _ ��Zb�P©p[Y£/\>WY�U`¥�Y�U`�� d=� f<© : ��Z>�
V>�K¢K© d=� �I_P�Y£�®

�Y: #��HV>[NWY� Zb¢Qh4�KV>�H\>Zb�sZ>\b^¥d!:�¢HZ>[Y\>WN§HW \>� feZb¡�V>_N^>]>Z>WN\>\>WY§KW �H�Kª>�H\bZb` V>W=<2fe�K\>Zb`
ρ(770)0 ° K∗(892)0 Z

φ(1020)
  h4�­¢QWY\bWY[ \<_ ©Y�K^FWNV>Zb�Y� d=� R T V X�:3��V>_N[Y\>�K\>Z>�

X>WPd>©¥ªb�H\>\>£�¤ V>�­¢H© d=� �I_P�YWN[ � fe_N\>\>£/h4Z � ©N�H^TWYV>Z¥�Y�­d>` V R ��� Z h4WQf=�­d=�Y\b£/h4Z
X>V>� fe�H^F_P¢Q_N\>Zb`bh4Z9:

�¥: �%_I¢QV<_	�NWN�Y^F_¬h4�K�NWQfe_ XbWQf=�Hª>�­�I_ ¦K¡�¡��K^b�YZ>[N\>WY�K�NZ
dE/dx

  ZTfe�H\b�NZ>¡�Z>^F_N]>Z>Z ^F_NWY\>WN[
[2¦H^T�HXb�HV>Z>h4�K\b�Y��R��Y:

�b:���Z>�­�Y�Hh�_I�YZ>ª>�K�H^>Zb¨ _P\<_Id=Zb¢ ¢Q_N^TWY\>WYh4�KV>\>WY�­�Y�H¨ °$\<_	�Id!:�f	_N�Kh4£�¤ [sZb¢Hh4�HV>�K\>\>£�¤
�HXb�H^b�NV<_I¤c¢ _NVE`A<��H\>\>£�¤�ª>_N�K�NZ>]9°FV>W=<2fe�K\>\>£�¤�[

γp
°
pp
Z X��¥  X��c[P¢ _NZ>h4WHfe�K¨>�K�N[YZb`F¤

X>V>Za[Y£/�KWY^>Z¥¤a¦K\>�HV>§KZb`¥¤	:

6¯_P�Y�KV>Z<_Id=£�°2Zb¢­d=W=<��H\b\>£/��[�f=Z>�H�K�HVb�I_N]bZ>WY\>\>WN¨ V<_	�YWP�Y�N°�WNXb©��Pd=Z>^TWY[E_P\>£ [ � ��� 8�	 °
feWY^¥d=_gfe£/[E_Id<Z>�H� \<_ �KWY[Y� ��_N\>Zb`F¤ h4� <�f=©F\<_NV>WHfe\>WN§HW �KWN�YV¥© f=\>Z>ª>�K�K�Y[Y_ R
�Y°p_ �I_N^A<��
\<_ h4� <�f=©F\<_NV>WHfe\>£�¤ ^TWY\>¡��KV>�H\>]bZb`¥¤	°�[Y^¥d!:�ª<_P`�� ���b�N� 
 ��_P\>^b�P  #��K�Y�KV��N©FV>§ °���WY�K�HZb` � °
�WR
	
��	�
��N�Y�#6 
 ��_PVA@�_N[Y_b°�#�WPd<�+@�_ � ° ���������#5�
 �b_Nh �N©FV>§ °��¥�KV>h�_N\>Zb` � °�\<_1\<_Q©Fª>\>WY¨
�H�K�H�HZbZ¥  ^TWY\>¡��KV>�H\>]bZ>Z �H�K^>]>Z>Z &�� ����� �	�'� 
 "���5/� � [ �N�Y�P� Z �N�Y�2;n§KWHf	_I¤	°�\<_
h4� <�f=©F\<_NV>WHfe\b£�¤ @�^TWPde_g¤ 8 Z>h4\b`¥`��+^TWPde_ "���5/� [ �P�Y�Y�7§KWQf<© Z�������� � 6+5 
 ��_N\b^b�P 
5�\FfeV�:
°��+WN�Qde_N\TfeZb` � [c�N�Y�N�2§KWQf<©Y:
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��Z>�K�H�KVb�I_N]>Zb` �KWY�K�NWYZb� Zb¢�[Y[N� fe�K\>Zb`9°�ª>�K�N£/V>�­¤ § d=_N[ Z1¢ _N^¥d�:'ª>�K\>Zb`9:�� § de_N[Y�
1W��Y�­© <�f	_N�­�Y�U` ¡��H\>WNh4�H\>WPd<WY§HZb`

ep
  V<_N�K�H�­`>\>Zb` :�� § de_N[Y�

2
WYX>Z>�H_N\>£ ^FWId>de_N¨Ff=�HV RUTWVYX

Z ¦H^T�HXb�HV>Z>h4�K\b�I_Id=�N\<_P` ©Y�K�I_P\>WY[Y^F_ R
�Y:�� § de_N[Y�
3
X>V>� f=�K�I_N[Pd<�H\<_ h4�K�NWQf=Z>^F_ WN�	�YWYV<_

ρ(770)0 ° K∗(892)
Z

φ(1020)
 «h4�K¢HWY\>WY[ Z WY]>�K\>^F_ ¦K¡�¡��K^b�YZ>[N\>WY�K�N�H¨kWP���YWYV>_b:v�,_P^A<��

WYX>Z>�K£/[E_N�­�Y�U` h4�K�NWQf+WYXbV>� fe� d=�H\bZb` ¦H¡�¡��H^b�NZ>[Y\>WY�­�YZ
dE/dx

 «ZFfe�K\b�YZ>¡�Z>^F_N]bZ>Z ^F_NWN\>WY[>:
� § de_P[Y�

4
X>V>� fe�K�I_P[Pd=�H\bW*Zb¢Qh4�KV>�H\>Zb���H�Kª>�H\>Zb¨

ρ0 ° K∗0 Z φ(1020)
  h4�K¢HWY\>WY[b°,Zb¢H©Fª>�K\>Z>�

�HZ>�­�Y�Kh�_P�YZ>ªb�H�H^bZ¥¤kW @�Z��YWN^ Z W��N�K©�<2f=�H\>Z>� XbWPd<©Fª>�H\b\>£�¤ V>�K¢K© d=� �I_P�YWY[b:�89_N^Fd!:'ª>�K\>Z>�
�HWHfe�KV�<cZb�cWY�H\bWY[Y\>£/��V>�K¢K© d=� �I_P�Y£ X>VbWQf=�­de_N\b\>WY¨7V>_	�YWN�N£�:
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���K� � �B��q�����oa�'q¯��~ lnzB�7m�u��
���I_N\Ff	_PVb�Y\<_I` h4WQf=�­d=� f=Wk�HZ¥¤�X>WYV�©QfeWY[Pd=�­�Y[YWNV>Zb�Y� d=�Y\>W WYXbZ>�H£/[E_P�K� X>V>_N^b�YZbª>�H�K^>Z
[Y�H� `>[Pd<�H\>Zb`+[ �HWN[YV>�Hh4�K\>\>WY¨ ¡�Zb¢HZ>^T� ¦­d<�Hh4�H\¥�I_NV>\>£�¤ ª>_N�K�NZ>]9:2��©F\Ff	_Nh4�K\b�I_Id=�N\>£/h4Z
ª<_N�­�YZ>]<_Ph4Z ���I_P\Ff	_NVb�N\>WY¨ h4WQf=�­d=Z `>[Id<`�: �Y�U` ¡��HV>h4ZbWY\>£�° Zb¢ ^FWP�YWYV>£�¤ �HWY�­�YWYZb�
h�_P�Y�KV>Zb` °�Z �YWP¢QWY\>£�°�^TWN�YWNV>£/� [Y£/X>WPd<\b`�: � V>WPd=� X>�HVb�H\>WY�Kª>Z>^TWY[ ¦­d<�H^b�NV>WY�­d=_	�Y£�¤xZ
�HZ¥d<�Y\>£�¤$[N¢ _NZbh4WQf=�H¨>�­�Y[YZ>¨ :/� V<_N[YZb�I_P]>Z>WY\>\b£/��[N¢ _PZ>h4WHfe�H¨>�­�Y[YZ¥`�\>�p`>[Pd<`A:��N�U`�ª<_N�­�Y�#:
���I_N\Ff	_PVb�Y\>WN¨�h4WHfe�­d=Z :

� �­d>©¥ª>_N�1¦­d<�H^b�NV>WY�­d=_	�Y£�¤ [N¢ _NZbh4WQf=�H¨>�­�Y[YZ>¨ Xb�HV>�K\>WY�HªbZ>^F_Nh4Zk`>[Pd>`�:��N�U`k¡�WN�NWY\9°
\>�H¨¥�YV<_Id<�Y\>£/¨

Z0   �YWN¢HWY\ Z ¢ _NVE` <��H\>\b£/�
W±   �YWN¢HWY\>£�:�� �YW [YVb�Hh,` ^F_N^ ¡�WN�YWY\

�Y�K¢Hh�_N�H�KWY[Y£/¨9°Pf=Vb©F§HZ>� ¦­d=�K^b�YVbWY�­de_��Y£/� �YWP¢QWY\>£ h�_N�K�HZ>[Y\b£/�N®
MZ = 91.1876±0.0021

� ¦H�
Z

MW = 80.398 ± 0.025
� ¦Q��:��Td!:�WY\>£ `>[Id<`�: �Y�U` X>�KV>�H\>WN�Hª>Z>^F_Nh4Z �HZFd=�Y\>£�¤

[N¢ _PZ>h4WHfe�H¨>�­�Y[YZb¨9:

����� � y
��qp��z�y���~ � opz
l�zB�7rpq¯��lnrptc�

0�[E_N\b�NWY[E_P`*?'V>WYh4WHfeZ>\<_Ph4Z>^F_ 
 0�?B� � � ¦­�YW �Y�KWYV>Zb` X>WPd>` �HZ¥d=�N\>WY§HW [N¢Q_NZ>h4WHfe�H¨b�K�Y[NZb`9:
� 0�?B� �HZFd=�Y\>£/� [N¢Q_NZ>h4WHfe�H¨b�K�Y[NZb` Xb�HV>� f	_+:��N�U`k� X>WYh4W����#: § d!:�WY\>WY[b:p0�_ <2feWNh,©
_NV>WYh�_I�N© 
 �YZ>Xb© � ^>[E_PV>^F_ h4WN§K©T� �HWYWN�N[Y�K�N�K�N[YWY[E_P�N� �NV>Z V>_P¢Q\>£�¤ ]b[Y�K�I_ Z ^¥_ <2feWNh,©
_N\b�NZ>^>[E_NVb^b© �KWYWN�N[Y�K�N�K�Y[P© : � �YV>ZxV>_P¢Q\>£�¤ _N\¥�YZ>]>[N�K�I_b:��Td!:�WY\ `b[Pd<`>�­�Y�U`x\bWY�HZb�N�­d=�Kh
^TWYh �YZ>\<_P]>Z>Z�]>[Y�K�NWY[YWY§KWP  _P\b�YZ>]b[Y�K�NWY[YWY§KW ¢ _PVT`Tf	_b: � �YW [YV>�Kh,`�^¥_P^s^>[Y_NV>^>Z h4WY§­©F�
[N¢ _PZ>h4WHfe�H¨>�­�Y[YWN[E_P�Y��Zc�B¦­d<�H^b�NV>WY�­d=_	�Y£/h4Z�^F_Id=Z��NV>WY[YWYªb\>£/h4Z �YWP¢QWY\<_Ph4Z9°E§ d!:'WN\>£ h4WY§­©F�
[N¢ _PZ>h4WHfe�H¨>�­�Y[YWN[E_P�Y�1�NWPd=�Y^TW1��ª<_N�­�YZ>]<_Ph4Z9°�\>�K�K©���Zbh4Zx[+�H� �Y�n]b[Y�K�NWY[YWY¨ ¢Q_NVE`Ff�°2�YW
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�H�­�Y� �p^>[E_PV>^F_Nh4Z$Z!§ d!:'WY\>_Nh4Z9:�5��YW;X>V>Z>[YWHfeZ¥� ^$¦K¡�¡��K^b�N© [N¢Q_NZ>h4WHfe�K¨>�K�N[YZb` § d�:'\>WY[
h4� <�f=©��KW��YWY¨ ° ^TWN�YWNV>WY§HWp\>�­�a[�¦­d=�K^b�YV>WN�­de_	�NWYh�[P¢ _NZ>h4WHfe�K¨>�K�N[YZ>Z9:���� d=Z>ª>Zb\<_��HZ¥d=�N\>WY§HW
[N¢ _PZ>h4WHfe�H¨>�­�Y[YZ¥` Zb�Hª>Z>� d<`>�­�Y�U` X>V>Z X>WNh4W	��Z ^TWY\>�­�I_N\b�N£ �HZ¥d<�Y\>WY§KW [N¢ _NZbh4WQf=�H¨>�­�Y[YZb`
αs

:�� WN�Qd=Zbª>Z>Z WN� X>WY�­�YW `>\>\bWY¨ �NWY\>^TWY¨ �K�NVb©F^b�N©FV>£
αem

° ^TWY\>�­�I_N\b�I_ �HZ¥d=�N\>WY§HW
[N¢ _PZ>h4WHfe�H¨>�­�Y[YZ¥`n¢ _P[YZ>�HZ¥�$WN� ¦K\>�HV>§K�K�NZ>ª>�H�K^TWY§HW�h�_N� @��I_	�Y_

µ
: 5��NW `b[Pd=�H\bZ>�;Z¥¢Q[Y�K�K�Y\bW

^F_N^ �N�H§K©���_P` ^FWN\>�K�I_N\¥�I_ �HZFd=�Y\>WY§KW [P¢ _NZ>h4WHfe�K¨>�K�N[YZb` :c� [Y� f=©����Kh X>WYVE`Ff=^F���N�HWYV>ZbZ
[YWN¢Hh,©����H\>Z¥`

αs

X>V>� fe�K�I_N[Id<`>�­�Y�U`�� d=� f<© : ���K¨¬¡�WNV>h,© d=WY¨9®

αs(µ) =
12π

(33 − 22nf) ln(µ2/Λ2
QCD)

,

 �Y: � �

§ fe�
nf

� ^TWPd=Zbª>�H�­�Y[YW _NVbWYh�_P�YWN[ ^>[E_PV>^TWY[ �ah�_N�H�KWY¨$h4�K\>�+@��H¨
µ
:
ΛQCD

� �K[YW��YWHfe\>£/¨
X<_NV<_Ph4�K�YV °<Zb¢Q[Y�K�K�N\>£/¨7^F_N^ph�_N� @��I_	�c0�? � Z�Z¥¢Qh4�HVb�H\>\>£/¨¯¦H^T�HXb�HV>Z>h4�K\b�I_Id=�N\>W

ΛQCD ≈
0.2

� ¦H�':
?�WPd=�+@�Z>�*¢Q\<_ ª>�K\>Zb`

µ
�KWYWN�N[Y�K�N�K�Y[P© : � h�_Id=�K\>�Y^>Z>h V<_N�K�K�YW `b\>Zb`>h/:�#�V>Z

µ → ∞[Y£/V<_ <��H\>Z>� 
 �Y: � � X>V>� f=�H^F_P¢Q£/[Y_N�K� αs → 0
°��NW �H�­�Y� X>V>Z h�_gd=�H\>�N^>Z¥¤+V<_N�H�­�YW `>\bZb`¥¤

^TWY\>�K�I_P\b�I_��HZFd=�Y\>WY§KW
[P¢ _NZ>h4WHfe�K¨>�K�N[YZb`�X>V>�K\>� �NV>� <cZ>h4W�h�_Ide_b°YXbWY¦K�NWYh,©2[�X>V>WY]b�H�H�H_I¤�X>V>Z
[Y£/�HWN^>Z¥¤�¦H\>�KV>§HZb`F¤�^>[Y_NV>^>Zvh4WN§K©T�2�Hª>Z¥�I_P�Y�Y�U`p�K[YW��YWHfe\b£/h4Z�ª<_N�K�NZ>]<_Nh4Z :<5��YW�XbWY[Y� f=�H\>Z>�
^>[E_NVb^FWN[cZb¢H[Y�H�­�Y\>Wc^F_N^7_P�HZ>h4Xb�NWN�YZbª>�H�K^¥_I`��H[NW��YWHf	_b:

� feVb©F§KWY¨ �K�YWNV>WY\>£
αs
©F[Y� d=Z>ª>Zb[E_N�K�N�U`$XbV>Z

µ → 0
:45��NWN� ¦H¡�¡��H^b� �KWYWN�Y[N�K�Y�­�Y[N©N�K�

�YWYh,©!¡�_N^b�P©Y°�ªb�NW*�H[YW	�YWHfe\>£/��^>[Y_NV>^>Z \bZ>^TWY§ f	_*¦H^T�HXb�HV>Z>h4�K\b�I_Id=�N\>W!\b��\<_	�Pd�:�f	_Id=Z>�K�>:
0�[E_NV>^>Z�[Y�H�K§ f	_'¢ _N^Fd!:'ª>�K\>£ [ �Y�K�H]>[Y�­�Y\>£�¤�_gfeV>WN\<_I¤	:Y5��NW�h4WY§K©T���N£��Y��h4�K¢HWY\>£�°P^FWP�YWYV>£/�
�HWY�­�YW `b��Zb¢�^>[E_NVb^¥_�Z¯_N\b�NZ>^>[E_NVb^¥_¥°eZ �E_PV>Z>WY\>£�°<�KWY�K�NW `&��Zb��Zb¢��YVb�­¤a^>[E_PV>^TWY[>:

����� � rpqpm/l ����rpt��
ep �

oa��|�|�m�~cqar�~

�
ep
  V<_P�H�H�­`>\>ZbZ ¦­d<�H^b�NV>WY\>£ [N¢Q_NZ>h4WHfe�K¨>�K�N[N© :�� � X>V>WN�NWY\<_Nh4Z ª>�KV>�K¢ W��Yh4�H\

^F_Id=Z��YVbWY[YWYª>\b£/h �NWN¢QWY\bWYh/: ��W [N¢Q_NZ>h4WHfe�H¨b�K�Y[NZb`¥¤ ª>�HV>�­¢�89_NVE`A<��H\>\>£/¨ �%WY^ 
 8 � �
©Fª<_N�K�N[N©Y�­�

W±   �YWN¢HWY\�Z�¦­d=�K^b�YVbWY\¯Xb�HV>� ¤EWHfeZb��[�\>�H¨b�NV>Z>\>Wb:=��W�[N¢ _PZ>h4WHfe�H¨>�­�Y[YZ¥`¥¤pª>�KV>�K¢
���H¨b�NV<_Id=�Y\b£/¨ �%WY^ 
 ��� � ©Fª<_P�K�Y[P©Y�K� ¡�WP�YWY\3Z¥d=Z Z0   �NWN¢QWY\�Z3V<_N�K�H�­`>\>\>£/¨n¦­d=�K^b�YV>WN\
h4W=<��K� �Y£��N� ¢ _NV>�K§HZ>�­�YV>ZbV>WY[E_N\ [ fe�K�N�H^b�NWYV>�P° �K�­d=Z ©F§HWPd V<_P�H�H�­`>\>Z¥`�feWY�K�I_I�YWYª>\bW
�YWPd=� @�WY¨9:�#�V>WY]b�H�H�aV<_N�K�H�­`>\>Zb`!h4W=<��K� �Y£��N� WYX>Zb�Q_N\ \<_	�YWNV>WYh+Xb�HV>�Kh4�H\>\>£�¤	°�^FWP�YWYV>£/�
X>WY^F_P¢Q_N\>£ \<_ V>Z>�K©F\>^T� �Y: �Y:v��Z>Vb�N©Y_Id=�Y\bWY�K�N� ^F_Id=Z��NV>WY[YWYªb\>WY§HW �YWP¢QWY\<_1[N£/V<_ <2_N�­�Y�U`
ª>�HVb�K¢
Z>h4Xb© d=�Y�P°<X>�HV>� f	_N\>\b£/¨�¦­d=�K^b�YVbWY\>WYh XbV>WN�YWN\b©e®

Q2 = −q2 = −(k − k′)2 .

 �Y:�� �
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��Zb�N: �Y: �Y®<0�Z>\>�Kh�_P�YZ>^F_
ep
  V>_N�H�K�K`>\bZb`9: � ��WP¢Q\<_ ª<_N�­��8 ��°>_ 
 � �p����:

5�\>�HVb§HZb`¯]>�H\¥�YV<_�h�_N�H��¢ _ f	_N�K�N�U`7¡�WYVbh,©gd<WY¨9®

s = (P + k)2 ,

 �Y:�� �

\>�K©FX>V¥©¥§KWY�K�N��WYX>V>� fe�­d>`>�K�N�U`9®
y =

P · q
P · k ,


 �Y: � �
^TWN�YWYV>_P` V>_N[Y\<_ WN�Y\bWY�HZb�N�­d=�N\>WY¨ ¦K\>�HV>§KZ>Z9° X>�HVb� f	_N\b\>WY¨ [ [Y�HV @�Z>\>� ¦­d=�K^b�YVbWY\<_b:
#��HV>�Kh4�H\>\<_I` ?��N�HV>^>Zb\<_b°<WYX>Vb� fe� d=�H\>\>_P`7¡�WYVbh,©gd<WY¨9®

x =
Q2

2P · q ,

 �Y:96 �

V<_N[Y\>_3feWPd=Z Z>h4Xb© d=�N�Q_b°�©F\>�K�H�K\>\>WY§KW [N¢Q_NZ>h4WHfe�K¨>�K�N[N© : ��Zbh X<_NVb�NWY\>WYh/:�#�V>�K\>� �NV>�H§ _P`
h�_N�H�H_Nh4Z [P¢ _NZ>h4WHfe�K¨>�K�N[N© : ��Z¥¤ ª<_N�­�YZ>] °c¦­�YZ ª>�­�Y£/V>�nX>�HV>�Kh4�H\>\b£/� �H[N`¥¢ _N\>£ h4� <�f=©
�HW��NWY¨a©FV<_P[Y\>�H\bZ>�Hh/®

Q2 = x y s .

 �Y: 8 �

5��YW�WN¢H\<_ ª<_N�K�g°Nªb�YW�X>V>Z�¡�Z>^T�KZ>V>WY[E_P\>\>WY¨2¦H\b�HV>§KZ>Zc]b�H\b�NV<_�h�_N�H���NWPd=�Y^TW'fe[Y��X>�HV>�Kh4�H\>\b£/�
\>�K¢Q_N[YZ>�KZ>h4£�:

����� � ��o���tp���coa� �aopz���z�q¯�

� ���I_N\Ffe_NVb�Y\bWY¨ h4WQf=�­d=Z XbV>WN�YWN\ \>�c`b[Pd<`b�K�Y�U` ¦­d=�Kh4�H\b�I_NVb\>WY¨ ª<_N�­�YZ>]>�K¨*Z �HWN�K�YWNZb�¬Zb¢
^>[E_NVb^FWN[�Z¬§ d!:'WY\bWY[>:=��d<`�WYX>Z>�H_N\>Zb`¬¦ d=�H^¥�YV>WY\F  X>V>WP�YWY\>\bWY§HWaV<_N�K�H�K`b\>Zb` ¦­�I_p�­�YVb©F^b�P©FV<_
feWPd�<c\<_ �Y£��Y�!�Hh4WHfe�­d<Z>V>WY[E_P\<_ feWPd�<�\>£/h W��YV<_P¢HWYh/:�5�^T�HX>�KV>Z>h4�H\¥�Y£ R�� Z�� T ����X>W
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§ d<©��YWY^TWY\>�­©FX>Vb©F§HWYh,©�V<_N�H�K�K`b\>Z�:$\>_�©Y�K^FWNV>Zb�Y� d=� RUTWV X$X>WP¢Q[YWPd>`�:��'Zb¢H©Fª>Z¥�Y���K�NVb©F^b�N©FVb©
X>V>WN�NWY\<_2Z¯�K�'feZ>\<_Nh4Zb^b©p[�¢ _N[YZb�HZ>h4WY�­�YZ¯WN��V<_P¢Kd<Z>ª>\>£�¤¯X>�KV>�Hh4�K\>\>£�¤	:

� �Y£/ªb\>Wv�K�NVb©F^b�N©FV<_pX>V>WP�YWY\<_vWNX>Z>�H£/[Y_N�K�N�U` \<_	�YWYVbWYh��K�NVb©F^b�N©FV>\>£�¤;¡�©F\>^>]>Zb¨9: � �E_
�H�Kª>�H\>Z¥`��7��� Z 8 � [Y£/V<_ <2_+:��N�U` ª>�KV>�K¢7¦K�NZ��K�YV¥©¥^¥�N©FV>\>£/� ¡�©F\>^>]>Z>Z :����Kª>�H\>Zb�¬���
[Y^¥d!:�ª<_N�­�7[��K� � ` ª¥d=�H\b£+WN�

γ
  W	�Yh4�H\<_¥°

Z
  W	�Yh4�H\<_vZ

γZ
 «Z>\b�N�HV>¡��HVb�H\>]>ZbZ9:%#�V>WNX>WY§ _P�NWYV

ª¥d=�K\>WY[>°�[Y^¥d!:�ª<_+: ��Z>¨ [��H� �g`
Z
  W��Nh4�H\9° X>V>WYXbWYV>]>Z>WN\<_Id=�K\

1/(Q2 + M2
Z)2 °�^TWN�YWYVb£/¨

X>V>Z>[NWQf=Zb��^cX>WHf	_N[Pd=�K\>Z�:
Z
  W��Nh4�H\<_�Z

γZ
 «Z>\b�N�HV>¡��HVb�H\>]>ZbZaXbW
�KV<_N[Y\>�K\>Z�:��

γ
 «W��Yh4�H\bWYh

X>V>Z
Q2 � M2

Z

:v��d=� feWN[E_P�Y� d=�Y\>W [+W��Pde_N�­�YZ �KV>� f=\>Z¥¤xZ \>Zb¢Q^bZ¥¤
Q2 Z>h4�K�K� �KZ¥d<©

X>V>� feX>WPd=W=<��K\>Z>�;ª>Z>�K�NWY§HW
γ
  W��Nh4�H\<_*Z f<d<`3WYX>Z>�H_N\>Zb`��H�Kª>�H\bZb`nh4W=<c\>W Z>�HXbWPd=�N¢HWY[E_P�N�

�YWPd<�Y^TWcWHfe\b©p�­�YVb©F^b�P©FV>\b© : ¡�©¥\b^>]>Z�:
F p

2 (x, Q2)
®

d2σ

dxdQ2
=

2πα

xQ4
F p

2 (1 + (1 − y)2) .
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qpqa��~ lnz/��m�u��

#�V>Z �NWPd=�+@�Z¥¤ Z>h4Xb© d=�N�Q_I¤�

pp � mp

� X>V>WN�NWY\nh4W=<c\>W V<_N�H�Kh�_P�YVbZ>[E_P�N�$^F_N^�� Xb©Fª>WY^��
�H[YW	�YWHfe\>£�¤ ^b[E_NV>^TWY[>:n� f	_N\>\bWY¨ ^>[E_NVb^¥  X<_PVb�YWY\b\>WY¨ h4WHfe�­d=Z XbV>WY]>�K�H� V<_N�K�H�K`b\>Zb`
WYX>V>� fe�­d<�H\ ^¥_P^*V<_N�H�K�K`b\>Z>��¦­d<�H^b�NV>WY\<_ \<_7WHfe\>WNh ^b[E_NV>^T�N°%[7�YW [YV>�Kh,`*^F_N^*WY�­�I_Id=�Y\>£/�
^>[E_NVb^>Z \>� [N¢ _NZbh4WQf=�H¨>�­�Y[N© :�� Z \<_P¢Q£/[Y_+:��N�U` X>V>WP�YWY\>\b£/h4Z WY�K�I_P�N^F_Nh4Z9:�� ¦­�YWY¨
©FX>V>W	���H\>\>WN¨�h4WHfe�­d=Za�K�NVb©F^b�N©FV>\>_P`¬¡�©F\>^>]>Zb`

F p
2

[N£/§ d<`FfeZ¥��� d=� f=© : ��Z>h�W��NV<_P¢QWNh/®

F 2
p = x

∑

q

c2
q(f

p
q (x, Q2) + f p

q (x, Q2)) ,
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§ fe�
cq

� ¢ _NVE`Ff ^>[E_PV>^F_b°�_ ¡�©F\>^>]bZ>Z
f p

q

Z
f p

q

� X¥d=WP�Y\>WY�­�Y�;V<_N�HXbV>� fe� d=�H\bZb` ^>[Y_NV>^F_ Z
_N\b�NZ>^>[E_NVb^¥_*[ XbV>WN�YWN\>�¬�HWYWP�Y[Y�­�Y�K�N[Y�H\b\>W>: �4�­d=Z X>V>� feX>WPd<W><cZb�N�>°�ªb�NW*X>V>WN�NWY\ �HWY�­�YWYZb�
�YWPd<�Y^TW Z¥¢¬�YV>� ¤3[E_Id=�K\b�Y\>£�¤�^>[E_NV>^F_b°��YW �K�NVb©F^b�N©FV>\<_I` ¡�©F\>^>]>Zb`

F p
2

�N©Qfe�K�*¢Q_N[YZ>�K�K�N�
�YWPd<�Y^TW*WN�

x
:�5��YW `b[Pd=�H\bZ>��Zb¢H[Y�H�­�Y\>W ^F_N^ ?��N�HV>^>Zb\>WY[Y�K^>Z>¨��H^T�K¨¥d=Z>\>§ :���WN�H^TWY\<_Id<�Y\>WY�

Zb¢Qh4�KV>�H\bZ>� ��� X>VbZ�§ d<©��YWY^TWY\>�­©¥XbVb©F§HWYh V>_N�H�K�K`>\bZ>Z �H[YZFf=�K�Y� d=�Y�­�Y[N©N�K��W �NWYh/°�ªb�NW
F p

2[Y�H�  «�I_N^bZ ¢Q_N[YZ>�KZb��WN�
Q2 : 5��YWv`b[Pd=�H\bZ>��\<_P¢H£/[E_N�­�Y�U` \<_NV¥© @��H\>Zb�Hhn�K^T�H¨¥d=Zb\>§ _b: �Ed!:'WY\b£

Z § d!:�WY\>£�°�VbW><�f	_+: ��Z>��^>[E_NVb^¥  _N\¥�YZ>^>[Y_NV>^TWY[Y£/��X<_NV>£ �KWN¢­f	_ :�� ¦­�YWN� ¦K¡�¡��K^b�g:v��_
V>Z>�­©¥\b^F���N: �!XbWY^F_P¢ _N\>_!¢ _N[NZ>�HZ>h4WN�K�Y�

F p
2

WN�
Q2 °BZb¢Hh4�HV>�K\>\<_P` [!¦H^T�HXb�HV>Z>h4�K\b�Y�!��� [

V<_	�YWP�Y� � �=6
	 °<§ f=��ªb�K�Y^TWc[YZFfe�K\¯¦K¡�¡��K^b��\>_NVb©�@��K\>Zb`��K^T�H¨¥d=Zb\>§ _b:
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Q2 / GeV2

F 2 ⋅
  2

i

x = 0.65, i = 0

x = 0.40, i = 1

x = 0.25, i = 2

x = 0.18, i = 3

x = 0.13, i = 4

x = 0.080, i = 5

x = 0.050, i = 6

x = 0.032, i = 7

x = 0.020, i = 8

x = 0.013, i = 9

x = 0.0080, i = 10

x = 0.0050, i = 11

x = 0.0032, i = 12

x = 0.0020, i = 13

x = 0.0013, i = 14

x = 0.00080, i = 15

x = 0.00050, i = 16

x = 0.00032, i = 17
x = 0.00020, i = 18

x = 0.00013, i = 19
x = 0.000080, i = 20

x = 0.000050, i = 21 H1 e+p high Q2

94-00

H1 e+p  low Q2

96-97

BCDMS

NMC

H1 PDF 2000

extrapolation

H
1 

Co
lla

bo
ra

tio
n

�4Z>�N: �Y:��¥®=���NVb©F^b�N©FV>\<_I`¬¡�©¥\b^>]>Zb`
F p

2

°<Zb¢Qh4�KV>�H\b\<_P`¯[�¦K^T�HX>�KV>Z>h4�H\¥�Y������[cV>_	�YWN�N� � �>6
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����� �;m/z�opm/l � � ��tp��z
opr�jB���prar r �coa��y�qpm/qarpm���y�z�u¯w��prar

� �Y�KWYV>Z>Z [YWP¢Qh,©����K\>Zb` 0�? � X>VbZ>h4�H\>Zbh�_$�Y�HWNV>�Hh�_ ¡�_N^b�NWYV>Zb¢Q_N]>Z>Z :�� \>�K¨ X>V>WY]b�H�H�
V<_N�K�H�K`b\>Zb` V>_P¢­fe� d=�H\ \<_ [N¢Q_NZ>h4WHfe�H¨b�K�Y[NZ>�1[Y£/�KWY^TWY¦H\>�KV>§HZbª>\>£�¤ X<_PVb�YWY\bWY[>°a^FWP�YWYV>£/�
\<_P¢H£/[E_+:��N�U`S<��H�K�N^>Z>h4Z¯X>V>WY]>�K�H�H_Nh4Z7Zah4WY§K©T� �Y£��Y���Hh4WHfe� d=Z>V>WN[E_N\>£ [2X>�KVb�N©��E_I�YZ>[Y\bWY¨
0�? � 
 X<0�? � � ° Z \<_v[N¢Q_NZ>h4WHfe�H¨b�K�Y[NZb` \<_!�YWPd=� @�Z¥¤�V<_N�H�­�YW `>\bZb`¥¤ 
 h,`>§H^bZ>��X>V>WY]b�H�H�K£ � °
^TWN�YWYVb£/�vWN�Y\bWY�U`b�N�U` ^ \>�HXb�HVb�P© �Y_P�YZ>[N\>WY¨ W��Pde_P�K�YZ :�� �H�­�Y^>Z>��XbV>WY]>�K�H�H£ WYXbZ>�H£/[E_ :��Y�U`
¡�©¥\b^>]>Zb`bh4Z ^FWN¦H¡�¡�Z>]>Z>�K\b�YWY[

Ci
2

° ^TWN�NWYV>£/�kV>_N�H�Kª>Zb�Y£/[Y_+:��N�U` [�X<0�? ��:!6a`b§H^>Z>�
X>V>WY]b�H�H�K£!WNX>Z>�H£/[Y_+:��N�U`2¡�©F\>^b]>Zb`>h4Z�V>_N�HX>Vb� fe� d=�H\>Z¥`2X<_NVb�NWY\>WY[ 
 �2��# � f p

i (ξ)
°I^TWN�YWYVb£/�

X>V>� fe�K�I_N[Id<`�: � �HW��YWN¨n[Y�KV>W `b�Y\bWY�K�N��\<_I¤EW=<�fe�H\bZb` X<_PVb�YWY\>_$� ª<_P�K�Y�+:�Z>h4Xb© d=�N�Q_
ξ
WN�

X>V>WHfeWPd<�Y\>WY§KWcZ>h4X¥©gd<�Y�Q_�X>V>WN�NWY\<_b:e���NVb©F^b�N©FV>\<_I`¬¡�©¥\b^>]>Zb`ah4W=<��K� �Y£��N�cX>Vb� fe�­�I_N[Pd=�K\<_
^F_N^¯�K[Y�HV¥�Y^F_c¦­�YZ¥¤¯X>�KV>�Hh4�K\>\>£�¤	®

F p
2 (x, Q2) =

∑

i∈q,q,g

∫ 1

x

dξC i
2

(

x

ξ
,
Q2

µ2
,
µ2

f

µ2
, αs(µ)

)

f p
i (ξ, µf , µ) ,
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§ fe�
µ
�2X>�KV>�H\>WNV>h4Z>V>WY[NWYª>\>£/¨ph�_N� @��I_	�20�? ��°

µf

��[Y�­d=Zbª>Z>\<_�¡�_N^¥�YWYV>Z¥¢ _N]>ZbZ9°b^TWN�NWYV<_P`
WYX>V>� fe�­d>`>�K��§KV<_N\>Zb]>£*h4� <�f=©�X>�HV¥�N©��E_P�NZ>[Y\>WY¨2Z
\>�HX>�KVb�N©��E_I�YZ>[Y\bWY¨cW	�Pde_N�­�Y�#:
:Y8 \<_ ª>�K\>Z>�
µf

¢Q_N[YZ>�KZb�cWN��� ¤E�Hh4£�°=Z>�KX>WPd=�P¢H©Y�Kh4WY¨�¡�_N^b�NWYV>Zb¢Q_N]>Z>Z :
� fe\>_N^TW XbV>Z ¡�Zb^F�KZ>V>WY[Y_N\>\>WY¨ � ¤E�Kh4� ¡�_N^¥�YWYV>Z¥¢ _N]>ZbZk����# ©F\>Z>[Y�KV>�Q_gd=�Y\>£�°v�g: �N:

WY\>Z \>� ¢ _P[YZ>�U`b��WN�3X>V>WN]>�H�K�Q_ V<_N�H�K�K`b\>Zb`9°�[ ^TWN�NWYV>WYh ©¥ª>_N�K�N[N©Y�­� X>V>WP�YWY\9°�_ �I_N^A<��N°
Zb¢Qh4�KV>Z>[7����# [aWHfe\bWY¨¬�YWYª>^T�

µf
° h4W=<�\bW�V<_N�H�Kª>Zb�I_P�N�7Z¥¤�¢Q\<_ ª>�K\>Z>��[�d�: �YWY¨7feV¥©¥§KWY¨9:

5�[YWPd!:�]>Zb` �2��# h4W=<��K� �Y£��Y� XbV>� fe�K^F_P¢ _N\>_b°7Z>�KX>WPd=�P¢H©N`kX<0�? ��:a� �YWPd=� @�Z>\>�­�Y[Y�
�­d<©Fª<_I`¥¤xZb�HX>WPd<�N¢H©N�K�Y�U` ©FV<_N[N\>�H\>Zb� ¦H[YWId!:']>ZbZ �	� �3X � 
 ��

���������������H°�������� 
"!	° �#��$�%I 
��
"!e° X�&��'%(����&)&�� ° ��%(������� � � �=8 �e�Q±�	 :�� \>�K^FWP�YWYV>£�¤3W	�Pde_N�­� `¥¤�¦­�YW*©FV<_N[Y\b�H\>Z>�¬¦K[YWPd!:�]>Z>Z \>�
X>V>Z>h4�K\>Z>h4W¬Z XbWY¦K�NWYh,© Z>�KX>WPd=�P¢H© :��N�U` feVb©F§HZ>��XbWQf>¤EWHfe£ �I_N^>Z>�P°,^F_N^+*-,/. � 
0*-%(&���������1N°
,2%(3���4 °5.�����%(��!e° �6�)$7%8��
9! � ���P� �¥�Y� 	'Z¥d<Z � �-, � 
 �-%:�'%(4�� ° �;�<%8=0%(&)

4�� °>,���
(��%(4 �9° �?%(��@'�������  
4�� � ���N� �F�+8�	 :

����A B z���z�opz�� �7m/qprpm

��_ ^TWPd>de_P¨Ffe�HVb� RUTWV X �­©����H�­�Y[N© : � f=[Y�sWN�H\>WY[N\>£�¤ ^>Z>\>�Kh�_P�YZ>ªb�H�H^bZ¥¤ W��Ide_N�K�NZ9®
¡�WN�YWYVbW><�fe�K\>Z>� Z § d<©��YWY^TWY\>�­©FX>Vb©F§HWY� V>_N�H�K�K`>\bZ>� 
 ����� � : 5�^T�KX>�HV>Zbh4�H\b�I_Id<�Y\>W ¦K�NZ
W��Pde_P�K�YZ WYX>Vb� fe� d<`�: �Y�U` � XbWYh4W	���+: ¢ _NV>�K§HZ>�­�YV>ZbV>WY[E_N\b\>WY§HW�V<_N�K�H�K`b\>\>WY§KW�¦ d=�H^¥�YV>WY\>_
[+^F_Id=WNV>Z>h4�K�NV>���C$7% �-%(& 
 �Hh/:�V<_P¢ fe�­d �F: �¥:�� � X>V>Zx� ���

1 < Q2 < 1000
� ¦H� 2 Z

\>�K¢Q_NV>�K§HZ>�­�YV>Z>VbWY[E_N\>\bWY§HW�¦ d=�H^b�NV>WY\<_�[ �C$7%��-%(& XbV>Z¯¡�WN�NWYV>W=<�fe�H\>ZbZ
0 < Q2 < 1

� ¦H� 2 :
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0�_N^3©�<�� W��N�K©�<2fe_Id=WY�K�$[ V<_I¢­fe� d=� �Y: �$X>VbZ \>Zb¢H^>Z¥¤
Q2 f=WYh4Z>\>Z>V¥©Y�K� γ

W	�Yh4�H\ [
X>WPd=\bWYh �H�Hªb�H\>Z>Z V<_P�H�H�­`>\>Z¥`9:9� �I_N^ ^¥_P^�¡�WN�YWY\b\>£/¨ X>V>WYX>WN§ _P�YWYV [Y� fe�K�v�H� � ` ^F_N^

1/Q2

[cZb\>^¥d!: ¢QZ>[Y\bWYh$�KX>�H^b�NV>�N°e�YW�¡�WN�YWYVbW><�fe�K\>Z>��X>W��H�Hªb�H\>Z�: \<_Nh4\bWY§HW�X>V>�K[YWY� ¤EWHfeZ¥�p� ����:
?�WPd=�K���YWY§KW>° X>V>Z ¡�WN�YWYVbW><�fe�K\>Z>Z ¦­d=�K^b�YV>WN\ V<_N�K�H�KZ>[E_N�­�Y�U`;\<_�WYª>�H\b�¯h�_Id<�H\>�Y^bZ>¨ ©F§KWPd :
#�WY¦K�NWYh,©�WYXbV>� fe� d=�H\bZ>�

y
[�©FV<_P[Y\>�K\>Z>Z 
 �N:�� � ©FX>V>W	��_N�K�N�U`2feW y = 1−E ′

e/Ee

°P_�[�X>V>� fe�­d=�
Q2 → 0

°>��^TWY\>�Hªb\>£/h4Z¯¢H\<_ ª>�H\>Z¥`>h4Z
s
Z

y
°bZ¥¢�©FV<_P[Y\>�H\bZb`�
 �Y: 8 � �­d=� f=©Y�­�g°	ª¥�YW x → 0

:
#�V>Z ¡�WN�NWYV>W=<2f=�H\>Z>Z ¡�WN�YWN\9°�©Fª<_N�­�Y[N© : ��Z>¨ [ W��Yh4�K\>�N°�h4W><c\>W �HªbZb�I_P�Y� ^>[E_P¢HZ¥ 

V>�Q_gd=�Y\>£/h/°/�I_N^�^¥_P^��K§HW [YZ>Vb�P©E_Id=�N\>WY�K�N� h�_Ide_¥®
0 < Q2 < 1

� ¦Q� 2 : 5��NW$X>WN¢H[YWPd<`b�K�
V<_P¢ fe�­d=Z¥�Y�

ep
 «V<_N�K�H�K`b\>Z>��\<_ Z¥¢Kd<©Fª>�K\>Z>��¡�WN�NWY\<_�¦ d=�H^¥�YV>WY\bWYh Z
\<_ V<_N�K�H�K`b\>Z>��V>�Q_Id<�Y\>WY§KW

¡�WN�YWY\>_�\<_�X>VbWN�YWY\b�N:e#�WY¦K�NWYh,©
ep
 «V<_N�H�K�K`b\>Z>��h4W=<�\>W2X>Vb� fe�­�I_N[YZb�N�v[2[YZFfe�P®
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(
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 �Y: � � � [Y� f=�K� �K� � ` ^F_N^
V<_N�KX>V>� f=�­d=�K\>Z>� ?�WId=�Y]>h�_N\>_

exp(−Ekin
T /T )

°H�
T = ET0

/n
:I#�WHfeW��Y\>WN�4¦H^T�HX>WN\>�H\>]bZ<_Id=�Y\bWY�

X>WY[Y� fe�H\bZ>� _gf=V>WY\>\>WN§HW+�KX>�H^¥�YV<_+h4W=<c\>W W���� `b�H\>Zb�N�+[ V<_Nh4^F_I¤ �N�HV>h4WHfeZ>\>_Nh4Z>ª>�K�H^TWY¨
^F_NVb�YZb\>£ VbW><�fe�K\>Zb` _ feV>WY\>WN[ � �N��	 :!� ¦K�YWNh � d<©Fª<_N� X<_NV<_Nh4�­�YV

T
Z>§KV<_N�K� V>WPd=�

�Y�Kh4X>�HV<_I�N©FV>£�°�X>V>Z ^TWN�YWYVbWY¨ X>V>WNZ>� ¤EWHfeZb� _ feV>WY\>Z¥¢ _N]>Z¥`9:c#�VbZ �YWPd<�+@�Z¥¤ ¢H\<_ ª>�H\>Z¥`¥¤
[Y�­d<Z>ª>Z>\>£

Ekin
T

X>_NV<_Nh4�­�YV>WYh
ET0

h4W=<c\>W X>V>�K\>� �YVb�Hª>�>:�� V<_Nh4^F_I¤30�? � X>WY^F_P¢ _I�Y�­d<�
�K�N�HX>�K\>Z

n
WYXbV>� fe� d<`>�­�Y�U`�^F_N^�V>�K¢K©gd<�g�I_I���H[Y�KVb�Y^bZ�¡�©F\>^b]>Z>ZvX¥d<WN�Y\>WN�K�YZ�V>_N�HX>Vb� fe� d=�H\>Z¥`

X<_NVb�NWY\>WY[ �­�I_Id=^>Z>[Y_+: ��Z¥¤E�U`sª<_N�­�YZ>]�� feZ>¡�¡��HVb�H\>]>Z>_Id=�Y\>£/h4Zs�H�Kª>�H\>Z¥`>h4Z X<_NVb�NWY\¥ 
X<_NVb�NWY\>\>£�¤�[N¢Q_NZ>h4WHfe�H¨b�K�Y[NZ>¨9:¥#�Vb� feX>WId=W=<�Z>[b°Fª¥�YW

pT

Z
ylab

\b�K¢ _P[YZ>�HZbh4£/�'X>�KV>�Hh4�K\>\>£/�N°
\>WYV>h4ZbV>WY[YWYªb\>£/¨!^TWY¦K¡�¡�Zb]>Z>�H\¥�

A
h4W=<�\bW¬�H[N`¥¢ _P�N�;��feZ>¡�¡��HVb�H\>]>Z>_Id=�Y\>£/h+�H�Hªb�H\>Z>�Kh
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dσ/dylab

°>[Y£/ª>Z>� d=�H\b\>£/h�[YW2[Y�H�K¨¯W	�Pde_N�­�YZ
pT

°<�­d=� f=© : ��Z>h�[Y£/V<_ <��H\>Z>�Kh/®

dσ

dylab

=

∞
∫

0

d2σγp

dp2
Tdylab

dp2
T =

∞
∫

0

Aπ

(ET0
+ Ekin

T )n
dp2

T ,

^TWN�YWYVbWY��fe_N�K�

A =
dσ

dylab

(n − 1)(n − 2)(ET0
)n−1

2π(ET0
+ (n − 2)m0)

.

 �Y: �Q� �

?�£�d X>V>WY[N� fe�K\k�HZ>�­�Y�Kh�_P�YZ>ªb�H�H^bZ>¨�_P\<_Id=Zb¢+Zb¢Qh4�KV>�H\b\>£�¤ �KX>�H^b�NV>WY[ ¢Q_NVE`A<��K\>\>£�¤
ª<_N�­�YZ>]9° V>W=<�fe�H\>\b£�¤�[

γp
���26F°	�+8�	 °

pp
� �2; �T�Y±�	 Z�X��¥  X�� � �E��	 [P¢ _NZ>h4WHfe�K¨>�K�N[YZb`F¤

X>V>Z [Y£/�HWN^>Z¥¤ ¦K\>�HVb§HZb`F¤ :���_�V>Z>�­©¥\b^F�3�Y: ���H[Y�KVY¤¥© XbWY^F_P¢ _N\bW3Zb\>[E_NV>Z>_N\b�Y\bWY� �H�Hªb�H\>Z>�
¢ _NVE` <��H\>\b£�¤��YV>�K^TWY[�[

γp
Z X��¥  X����KWN©Qf	_NV>�K\>Zb`¥¤�^F_N^�¡�©¥\b^>]>Zb`2X>WNX>�HV>�Kª>\>WY§KW�Z>h4Xb© d=�Y�H_

pT

Z �K§HW XbWQf=§HWY\>^F_ ¡�©F\>^>]>Zb�H¨9°¯X>WHfeª>Z>\b`A: ���H¨>�U` �­�Y�HXb�H\>\>WNh,© ¢ _P^FWN\b© 
 �Y: � � � :¯��_
V>Z>�­©¥\b^F� �Y:�� �K\>Zb¢H© X>WN^¥_I¢ _N\>W Z>\>[Y_NV>Z<_N\¥�Y\>WY� �H�Kª>�H\>Zb� ¢ _PVT` <��H\b\>£�¤ �YV>�K^FWN[ [

pp
 

�HWN©Qf	_PV>�H\>Z¥`¥¤	°�\>WYV>h4ZbV>WY[E_N\b\>WY� \<_ X>WHfe§KWY\>^b© �­�Y�KX>�H\>\bWY¨1¡�©F\>^>]>Z>Z 
 �N: � � � �HX>�K^b�YV>_3�
¦H\>�KV>§HZb�H¨a[�]>�H\¥�YV>��h�_N�K� √

s = 500
� ¦Q�'°¥^¥_P^�¡�©F\>^b]>Zb`�X>WNX>�HV>�Kª>\>WY§KW2Z>h4Xb© d=�Y�H_

pT

X>V>Z
V<_P¢H\>WY¨�¦K\>�HVb§HZ>Zv�­�YWPd<^>\>WY[Y�K\>Z>¨c[
�KZ>�K�N�Hh4��]>�K\b�YV>_
h�_N�K�N°T[E_NV>�NZ>Vb© : ���H¨>�U`�WN�

53
� ¦H�*feW

1800
� ¦H�':

��^F_P¢Q_Id=WY�K�>°¯ª¥�YWxV>W=<�fe�H\>Zb�+¢ _NVE` <��H\>\b£�¤kª<_P�K�YZb]�[
γp

���#6¥°<�#8�	 °
pp

� �2; �F�Y±�	 Z
X��¥  X�� � �E��	 �­�YWPd<^>\>WY[Y�K\>Zb`F¤ X>WHfeª>Z>\¥`>�K�N�U`�\b�1�YWPd=�N^FW �­�Y�HXb�H\>\>WNh,© ¢ _N^TWY\b© 
 �Y: � � � °
ªb�YW X>WY^F_P¢Q_N\>W \<_xV>Z>�­©¥\b^F� �Y: �>°�\>W Z W��Pde_ f	_N�K� \>�K^TWN�YWYVb£/h4Z feWYXbWPd=\>Zb�N�­d=�N\>£/h4Z
�H[YWN¨>�K�N[E_Nh4Z9:I��_/V>Z>�K©F\>^T���Y:76�X>Vb� fe�­�I_N[Pd=�K\>W�V<_N�KX>V>� fe�­d=�K\>Z>��X<_NV<_Nh4�­�YV<_

T
^F_N^�¡�©¥\b^>]>Zb`

X>WY^F_P¢Q_P�Y� d<` �K�N�HX>�K\>Z
n
°�Z¥¢Qh4�HVb�H\>\>WN��Zb¢��H�Kª>�H\bZ>¨ ¢ _NVE`A<��H\>\>£�¤+ª<_N�­�YZ>] [

γp
°

pp
Z

X��¥  X��*�­�YWPd=^b\>WY[Y�K\>Zb`¥¤	:40�_N^*[NZFfe\>W�Z¥¢�V>Z>�­©¥\b^¥_¥°,[
pp
  �HWP© fe_NV>�H\bZb`¥¤ X>V>Z ©F[Y�­d<Z>ª>�H\bZ>Z

¦H\>�KV>§HZ¥`¬]>�H\¥�YV<_vh�_N�K� √
s
°	X<_PV<_Nh4�K�NV

T
�I_N^A<��
©¥[N�­d=Z>ªbZ>[E_N�­�Y�U`9°9_cX>WY^F_P¢Q_P�Y� d=���K�N�HX>�K\>Z

n
©Fh4�K\>�+@�_P�K�Y�U` : �4�­d<Z�<�� �HV<_P[Y\>Z>[E_I�Y� VbW><�fe�K\>Z>� _ feV>WY\>WN[ [

γp
°

pp
Z�X��¥  X��

�K�NWPd=^>\>WN[Y�H\>Z¥`¥¤sX>V>Z�¡�Z>^T�HZ>V>WN[E_N\>\>WN¨ √
s
°¬X<_NV<_Nh4�­�YV>£

T
Z

n
©F[Y� d=Z>ª>Zb[E_+:��N�U`��

©Y� d=W=<�\>�K\>Z>�Kh��HZ>�­�Y�Hh4£ �­�I_Id=^>Zb[E_+: ��Z¥¤E�U`7ª<_N�­�YZ>]9:

���K� � � z�qp��m � ��ovu¯z lnz/��m�u¯rpopz
y
��qarpm

6¯WY\b�N�10�_NV¥d<W h4WHfe� d=Z>V>WY[Y_N\>Z>� \>�HW	� ¤YWHfeZ>h4W ^F_N^ f<d<` ^TWYV>V>�K^>]>Z>Z fe_N\>\>£�¤	°��I_N^ Z
f<d<` �HV<_P[Y\>�H\bZb` � Zb¢Hh4�HV>�K\>Zb`bh4Z9: ��d<` Zb¢Hh4�HV>�K\>Zb` �K�Hª>�K\>Zb` ª<_N�K�NZ>] \b�HW��Q¤EWHfeZbh�_
fe�K�I_gd=�Y\<_P` �KZ>h,© d<`>]bZb` WN�Y^Fd=Z>^F_ fe�K�N�H^b�NWYV<_ R
�Y: ��W��Y£��YZ¥` ¡�WP�YWYV>W=<�fe�H\bZb` �Y£�d=Z
�Hh4WHfe� d=Z>V>WY[Y_N\>£ X>V>Z X>WYh4W���Z ����� R � X � �>� 	 Z �WR
	 �#T � � �T�F°>�E��	 6¯WY\b�N� 0�_NV¥d=W
§H�K\>�HV<_I�YWYV>WN[>: �3W��YWYZF¤p�­d<©Fª<_I`¥¤	°	h4WHfe� d=Z>V>WN[E_N\>Z>��X>V>WN]>�H�K�Q_v_gf=V>WY\>Zb¢Q_N]>Z>Z¯WY�H\bWY[E_N\>W�\<_
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�4Z>�N:��Y: �>®e��_2V>Z>�­©F\>^F_I¤��K[Y�HVY¤F©¯X>WY^F_P¢ _P\>W�Z>\b[E_NV>Z<_P\b�Y\>WN���H�Kª>�H\bZ>��¢ _PVT` <��H\b\>£�¤a�YV>�K^FWN[
[

γp
Z X��¥  X�� �KWN©Qf	_NV>�K\>Zb`¥¤ ^F_N^ ¡�©F\>^b]>Zb` X>WYX>�KV>�Hª>\bWY§HW Zbh4Xb© d=�Y�Q_

pT

Z �H§HW
X>WHfe§HWN\>^F_v¡�©F\>^b]>Z>�H¨ ° X>WHfeª>Zb\b`�: ���H¨b�U`¬�K�N�HX>�K\>\>WYh,©¯¢ _N^TWY\b© 
 �N: � � � :e��_cV>Z>�­©F\>^T���H\>Z¥¢H©
X>WY^F_P¢Q_N\>W'Zb\>[E_NV>Z>_N\b�Y\bWY���K�Hª>�K\>Z>��¢Q_NVE`A<��K\>\>£�¤��YV>�K^TWY[�[

pp
 «�HWN©Qf	_NVb�H\>Zb`F¤
^¥_P^�¡�©F\>^>]>Zb`

X>WYX>�KV>�Hªb\>WY§HWnZ>h4Xb© d=�Y�H_
pT

XbV>Z+V<_I¢Q\>WY¨ ¦H\>�KV>§HZbZ1�K�NWPd=^>\>WN[Y�H\>Zb¨ [��KZ>�K�N�Hh4� ]>�K\b�YV>_
h�_N�H�P°T[E_NV>�YZbVb© : ���K¨>�U`vWP�

53
� ¦Q� feW

1800
� ¦H�

�
Z>\>[E_NVbZ<_N\b�N\>£/�'�K�Hª>�K\>Zb`v\bWYV>h4Z>V>WN[E_N\>£

\<_ X>WHfe§KWY\>^b© �KX>�H^¥�YV<_ �1¦H\b�HV>§KZ>�H¨s[ ]>�H\¥�YV>� h�_N�H� √
s = 500

� ¦Q� ¡�©¥\b^>]>Z>�K¨9°
X>WHfeª>Z>\¥`�: ���H¨>�U` �­�Y�KX>�H\>\bWYh,©+¢Q_N^TWY\b© 
 �Y: � � � �

X>WHfe§HWY\b^¥_ �­�Y�KX>�H\>\b£/h�¢Q_N^TWY\>WYh 
 �Y: � � �
�I_N^A<���X>WY^F_P¢Q_N\<_�\<_2¦K�NWYh$V>Zb�K©F\>^T��f<d>`¯[N�H�­¤��HX>�K^b�YV>WN[>:
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− γp <W> = 210 GeV

−  pp √s


 = 53-1800 GeV

− AuAu √s


NN = 200 GeV

n

T
 [G

eV
]

√s  ∼ 200 GeV

√s

 is increasing

0.08

0.1

0.12

0.14

0.16

0.18

0.2

7.5 10 12.5

�4Z>�N:��N:76¥®��%_P�HX>V>� fe�­d<�H\>Z>�pX<_PV<_Nh4�K�NV<_
T = ET0

/n
^F_N^*¡�©F\>^>]bZb`*X>WY^F_P¢Q_P�Y� d<` �K�N�HX>�K\>Z

n
°�Zb¢H[Pd=�Kª>�H\>\bWY� Z¥¢ XbWQf=§HWY\>^bZ feZ>¡�¡��HVb�H\>]>Z>_Id=�Y\>£�¤ �K�Hª>�K\>Z>¨ ¢Q_NVE`A<��K\>\>£�¤ ª<_P�K�YZb]
¡�©¥\b^>]>Z>�K¨9°�XbWQf=ª>Z>\b`A: ���K¨>�U` �­�Y�KX>�H\>\bWYh,©�¢Q_N^TWY\b©�
 �Y: � � � °/Z3Zb¢Hh4�HV>�K\>\>£�¤�[ γp

°
pp

Z
X��¥  X��a�K�NWPd=^>\>WN[Y�H\>Z¥`¥¤	:

X>V>Z>\b]>Z>X>� �K�NVb©F\>\>WY¨ ¡�V>_N§Hh4�K\b�I_N]>Z>Z ���Y�¥°N�N��	 °�^TWN�YWYVb£/¨+W��Y�­©�<2f	_gd=�U` [�V<_P¢­f=�­d=�3�Y:�±b:
��d<` WYX>Z>�H_N\>Zb`+fe_N\>\>£�¤	°�[YW [YVb�Hh,` ¡�V<_N§Kh4�H\b�I_P]>Z>Z X>_NVb�YWN\>WY[ �Y£�d=Z Z>�KX>WPd=�N¢HWY[E_N\b£
X<_NV<_Ph4�K�YVb£ \<_N�­�YV>WY¨b^>Z�h4WHfe� d=Z>V>WY[Y_N\>Zb` °EW��Y\<_NV¥© <��H\>\>£/� [�¦H^T�HXb�HV>Z>h4�K\b�Y�UX �-T � R � �Y��	 :
5�¡�¡��K^b�Y£ ?�WN¢Q�   5�¨>\A@
�Y�K¨>\<_ ^TWYV>V>� d<`>]bZ>¨ 
 ?/5�0 � \<_ �HXb�H^b�NV1Z>\>[E_PV>Z<_N\b�N\>WY¨ h�_N�H�K£
WHfeZ>\<_N^TWY[NW�ZaXbV>WN�YZb[YWYX>WPd<W><��H\>W�¢Q_NVE`A<��K\>\>£�¤pX>ZbWY\>\>£�¤vX<_NV �Y£�d=Z�©Fªb�N�H\>£�°<Z>�KX>WPd=�P¢H©N`
X<_NV<_Ph4�K�YVbZb¢ _N]bZ�: �¥_ ©N�H�KWYh � �N��	 Z W	�Y�K©�<�f	_+:��N�U` [ V<_P¢ fe�­d<� �Y: � �b:���W	�Y£��YZb`
¡�WN�YWYVbW><�fe�K\>Zb`9° �Kh4WQf=�­d=Z>VbWY[E_N\>\b£/��X>V>Z X>WYh4W���Z ���
� R�� X Z �WR
	 �#T �1§K�H\>�KV<_P�YWNV>WY[>°
�Y£�d=Z X>V>WNXb©����H\b£kª>�HVb�K¢ h4WHfe�­d=ZbV>WY[E_N\bZ>�7fe�K�N�H^b�NWYV<_$���Y°�\<_ WY�K\>WY[Y� � T X

�� � ��6
	�Z
ª>�HVb�K¢��I_N^b© : <��4V>�H^TWY\b�K�YV¥©¥^b]>Z�:$Z�_N\>_Id=Zb¢N° ^¥_P^�Z'f	_P\>\>£/�N:P��h4WHfe� d=Z>V>WY[Y_N\>\>£/���HW��N£��YZb`
Z>�HXbWPd=�N¢K© : �Y�U`pf<d<`a^TWYV>V>�K^>]>Z>Z�f	_N\>\>£�¤a\>_2¦K¡�¡��K^b�Y£�f=�K�Y�K^b�YWNV<_b:



����� 
 ����� 
 ��� ��� � 

	
ep �
� ����� 
�	���

	 �¥�

���K� � �+� �km/tp��� �1z�j�m
�
� �pq�� ��m/�pqa� t�z
opopm�ua~ �prp�

5�¡�¡��K^b� ?/5�0 Zb¢Q[N�H�K�N�H\ ^F_N^ ©F[Y�­d<Z>ª>�H\bZ>� [Y�HV>W `¥�Y\>WY�­�YZ V>W=<�fe�H\>Z¥`�X<_NV�ZFf=�H\b�NZ>ª>\>£�¤
�YWN¢HWY\>WY[>°�\<_PX>V>Z>h4�KV+X>Z>WN\>WY[>°��$WHfeZb\<_N^TWY[Y£/hkZbh4Xb© d=�Y�HWNh/:
�%_N^ ^F_N^ ?/5�0 Z>�K^¥_ <2_N�K�
V<_N�KX>V>� f=�­d=�K\>Zb` X>_NV WQf=Z>\<_N^TWY[YW ¢ _PVT` <��H\b\>£�¤ X>Z>WN\>WY[>°,�NW ¦­�YWN�;¦H¡�¡��H^¥� [Pd<Zb`>�­�;Z \<_
V<_N�KX>V>� f=�­d=�K\>Zb`�X<_PV
X>ZbWY\>WY[���X>VbWN�YZ>[NWYX>WPd=W=<��K\>\>£/h7¢Q_NVE`FfeWNh/°I\bW�©�<���[�h4�K\>�+@��K¨�h4�HVb�N:
#�V>WHf=©F^b�Y£xV<_P�HX<_gf=WY[ V>�­¢QWY\>_N\>�HWN[;�a^TWYV>WN�N^>Z>h1[YVb�Hh4�H\b�Hh <cZb¢Q\>Z °4\<_NX>V>Zbh4�HV

ρ(770)0  
h4�K¢HWY\9°YV<_P�HX<_gfe_+: ��Z>¨>�U`�[

π+π−   h4WHf=©Y°P�I_N^A<���©Fª<_N�­�Y[N© : ��[ ?/5�0�°PZ>�H^F_ <2_I`��Y�Hh �Q_Ph4£/h
¡�WYV>h,©�V>�­¢QWY\>_N\>�HWN[>:

?�5�0 �Y£�d<Z�Zb¢H©Fª>�K\>£ [ ¡�Zb¢HZ>^T�¬[Y£/�HWN^>Z¥¤�¦K\>�HVb§HZb`F¤�X>V<_P^b�YZ>ªb�H�H^bZn[YW [N�H�­¤!�YZbX<_I¤
�HWN©Qf	_PV>�H\>Z¥`¥¤	°B\<_NX>V>Zbh4�HV3[

e+e−
  _N\>\bZ>§HZ¥d>`>]>Z>Z °�d=�HXb�NWY\¥  `Ffe�KV>\>WYh 


lN � V<_N�K�H�­`>\>Z>Z ° [
ep
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	 °

πN
°
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°
NN

Z
NN

 «V>�Q_P^>]>Zb`F¤�� ��;F° �25�	 :
� 6¯WY\b�N��0�_PV¥d=W�h4WHfe� d=Z>V>WY[Y_N\>Z>Z�� �>� 		[YWN¢Qh4W=<c\>W�X>VbZ��Pd=ZA<��H\>\>W�WNX>Z>�Q_I�Y��h4�­¤E_N\>Zb¢Hh

§H�K\>�HV<_P]>Z>Z�¦K¡�¡��K^b�YWY[O?/5�0�:P�7f	_N\b\>WYh¬_Id<§HWYV>Z¥�Yh4��XbV>WY]>�K�H��¡�V<_P§Hh4�H\¥�I_N]>Z>Z�X>VbWYZ>� ¤EWHfeZ¥�
^F_N^�W��N£/ª>\>W �N�K¢�¦H¡�¡��H^b�NWY[ ?/5�0�°T\<_NX>VbZ>h4�HVcV<_N�HX>_gfp^TWYV>WP�Y^TW=<�Z>[P©���Z¥¤�h4�K¢QWN\>WY[
�I_P^>Z¥¤
^F_N^

ρ(770)0 :T� ©�<�� X>WN�NWYh X<_PV<_Nh4Z�V>_N�H�Kh�_P�YV>Zb[E_+:��N�U`�ZFfe�K\b�YZbª>\>£/���YWN¢HWY\>£�°T\<_NXbV>Z>h4�HV
π+ :=��� d=Z>ª>Zb\<_ Qij

X<_PV>£
i
Z

j
X>WHfe�Kª>Zb�Y£/[Y_N�K�N�U`¬�­d=� f=© : ��Z>h�W��YV<_I¢QWYh/®

Qij =
√

(pi + pj)2 − 4m2 =
√

M2 − 4m2

§ fe�
m
�¯h�_P�H�Q_ �YWP¢QWY\>WN[>°

pi
Z

pj
�¯Z¥¤�ª>�K�N£/V>�­¤ Z>h4X¥©gd<�Y�H£�°

M
�¯Z>\>[Y_NV>Z<_N\¥�Y\<_P` h�_P�H�Q_

fe[N©E¤ �YWN¢QWN\>WY[>: ��d<`;V>�Q_Id<Zb¢ _N]bZ>Z ?/5�0xZ>�HXbWPd=�N¢K©Y�K�N�U` � fe[YZ>§c[Y�­d=Zbª>Z>\>£
Qij

[¯W��Pde_P�K�Y�
h4�H\>� @��H¨�[N�­d=Z>ªbZ>\>£

Q′
ij

�I_P^9°¥ª¥�YW�Z¥¤cWN�N\>W+@��H\>Z>�
f2(Q)

h4W=<��K� �Y£��Y��X>_NV<_Nh4�­�YV>Zb¢HWY[E_N\bW
�­d=� f=© : ��Z>h�W��YV<_I¢QWYh/®

f2(Q) = 1 + λ exp(−(Q/d)r) , r = 1
Z¥d=Z

2 ,

§ fe�
d
� ¤T_NV<_P^b�Y�KV>\>£/¨ V>_P¢Qh4�KV W	�Pde_N�­�YZ ?/5�0 ¦K¡�¡��K^b�YWN[

�
X<_NV>_Nh4�K�NV

λ
WN�YV<_ <2_N�K�

[Y�­d<Z>ª>Z>\b© ^TWY§K�HV>�K\b�Y\bWY�K�NZ�Z>�K�NWYª>\>Z>^F_
� r = 1

�*¦K^F�KX>WY\>�K\>]>Z<_gd=�Y\<_P`!X<_NV>_Nh4�K�NV>Zb¢ _P]>Zb`9°
_

r = 2
�xX<_NV<_Ph4�K�YVbZb¢ _N]bZb` �b_Q©N�H�HWNh � �Y��	 :¯-��YW��Y£ �KWQ¤bV>_N\>Zb�N�x¡
_I¢QWY[Y£/¨ W���� �Kh

Z>\>^¥d�:�¢QZb[Y\>WY§KW��KX>�H^¥�YV<_
Qij

°¥[Y�­d<Z>ª>Z>\<_
Q′

ij

X>WHfe�Hª>Z¥�Y£/[E_N�­�Y�U`7^¥_P^�V>� @��H\>Z>��©FV<_N[N\>�H\>Z¥`9®
∫ Qij

0

Q2dQ
√

Q2 + 4m2
=

∫ Q′

ij

0

f2(Q)
Q2dQ

√

Q2 + 4m2
.

��_N\>\>£/¨;� fe[YZ>§�V<_N�K�Hh�_P�NV>Z>[E_N�­�Y�U`;f>d<` ^¥_ <2feWN¨;X<_PV>£ �YWP¢QWY\>WN[¯[aWN�Hfe� d=�Y\>WY�­�YZ9:%��WY[Y£/�
¢Q\<_ ª>�K\>Zb` Zbh4Xb© d=�Y�HWN[ X>V>Z>�K[E_NZ>[Y_+:��N�U` ª<_N�K�NZ>]<_Nhx�NWPd=�Y^TW X>WN�­d=� �NWY§HWb°'^F_N^ � fe[NZ>§ X>W
WN�Y\bW+@��K\>Z�:+^pX>�KV>[YWY\>_gª>_Id=�Y\>£/h$Z>h4Xb© d=�Y�H_Nh �Y£�d7X>V>WNZb¢Q[Y� fe�H\�f<d<`p[Y�K�­¤aX<_PV �NWN¢QWY\bWY[>:
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��W �K�K�N�>°��K�­d=Z © X<_PV>£ ZFfe�K\b�YZ>ªb\>£�¤ �YWN¢HWY\>WY[ �Pd=Zb¢H^>Z>��X>W+¢Q\>_gªb�H\>Z�: ª>�K�N£/V>�­¤
Z>h4Xb© d=�Y�K£�°	�NWv[Y�­d<Z>ª>Z>\<_

Qij ≈ 0
°eª¥�YWvX>VbZ>[YWHfeZb��^7h�_N^T�HZ>h�_Id<�Y\>£/h�^TWYV>V>� d<`>]bZb`>h/: ��W

�H� d=Z �NWN¢QWY\b£ [Y£�¤YWQf<`b� Zb¢�¤T_NV>_N^b�Y�KV>\>WY§KW V<_I¢Qh4�HV>_ W	�Pde_N�­�YZ ?/5�0 ¦H¡�¡��H^¥�YWY[ 
 V>_P¢Q\>£/�
ª>�K�N£/V>�­¤¯Z>h4X¥©gd<�Y�H£ � °=�NWc^TWYVbV>�­d<`b]>Z>Z¯\>��\<_	�Pd!:�fe_+:��N�U`9:
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� �K� � z�uau7������m/o � ���x�

5�d=�H^¥�YV>WY\F  X>V>WP�YWY\>\b£/¨ ^TWPd>de_P¨Ffe�HV R T V X `b[Pd<`>�­�Y�U` X>�KV>[Y£/h [ h4Z>Vb� d=�HXb�NWY\¥ 
X>V>WN�NWY\>\>£/h ^TWPd>de_N¨Tfe�HV>WNh/: ��\ V<_N�HXbWPd=W=<��H\ \b� f	_Id<�H^TW WN� de_	�YWNV<_P�YWNV>Z>Z �OT � � [
�b_Nh �P©¥Vb§H�N° �F�HV>h�_N\bZb`9: RUTWV X �Y£�d V<_P�H�HªbZb�I_N\ \<_ ©Y�K^TWYV>�H\bZ>�k¦­d<�H^b�NV>WY\>\>£�¤ Z¥d=Z
X>WN¢HZb�YV>WN\>\>£�¤nZ�X>VbWN�YWY\b\>£�¤3Xb©Fª>^TWY[$[ �YWN\>\>�­d<�¬f<d<Z>\>WY¨�[ 8¥:�� ^>h f=W!¦K\>�HV>§KZ>¨ �N� Z
5E�N�¯� ¦H�1�HWYWP�Y[Y�­�Y�K�N[Y�H\b\>W>:�� � ±N±#5¯§KWQf<© ¦K\>�HV>§KZb`*X>VbWN�YWY\b\>WY§HW¬X¥©¥ªb^¥_ �N£�de_¯©F[Y�­d<Z>ª>�H\>_
feW ±E�N� � ¦Q��:a5�\>�HV>§KZb` X>WN¢HZb�YV>WN\<_�
 �Y£�de_ V<_P[Y\<_ �#;¥:96Y�1� ¦Q��°�ªb�YW �HWNWN�Y[Y�­�Y�­�Y[N©N�K�
¦H\>�KV>§HZbZ �HZb�K�Y�Kh4£1]>�K\b�YV<_ph�_N�K� √

s =
√

4EeEp = 318
� ¦Q�': 5��I_p¦H\b�HV>§KZb` \<_vX>WYVE`Ff=WY^

[Y£ @���X>Wv�HV>_N[Y\>�K\>Z�:1��¦K^T�HX>�KV>Z>h4�H\¥�I_Nh4Z9° Z>�HXbWPd=�N¢K© : ��Z>h4Z ¡�Z>^T�HZbV>WY[E_N\b\b© :1h4ZA@��K\>�>:
0�WPd>de_N¨Tfe�HV RUTWV X X>V>� f=WY�K�I_N[Id<`>�­�+©F\>Z>^F_Id=�N\b© : [YWP¢Qh4W=<�\bWY�K�N� Z¥¢H©Fª<_P�N�+V<_N�K�H�­`>\>Z>�
X>WN¢HZb�YV>WN\>WY[�ZpX>VbWN�YWY\bWY[cXbV>Z¯WNª>�H\>� �YWPd<�+@�Z¥¤�¦H\>�KV>§HZb`F¤	:

R TWVYX Z>h4�K�K� f=[Y� Xb©Fª>^TWY[Y£�¤3�YVb©��Y£ 
 ©Y�K^FWNV>Zb�Y� d=�Y\>£/�*^F_N\>_Id=£ � °BV<_P�HX>WPd<W><��H\>\>£/�
[ 8b:�� ^bZ¥d=WYh4�­�YV>WY[NWYh �NWY\>\>� d=�N° X>VbWYV>£��YWNh \<_ § d<©��YZb\>� � �   �>6 h4�K�NV>WY[ WN�
X>WY[Y�KVY¤b\bWY�K�NZ 8 �Hh%d=Z :
#�WN¢HZb�YVbWY\>\>£/� Z XbV>WN�YWN\>\>£/�$X¥©¥ªb^>Z+]>ZbV>^b© d=Z>Vb© : � \<_N[Y�­�YV>�Kªb©
feVb©F§7feVb©F§K©N:B��_ ^TWPd=�Y]>�¬^TWPdbde_N¨Ffe�KV<_ \<_I¤EWHf=`¥�Y�U`3ª>�­�Y£/V>� ¦H^T�KX>�HV>Zbh4�H\b�I_b:����K�N�H^b�NWYV>£
¦H^T�HXb�HV>Z>h4�K\b�YWN[ � T �
� Z R��Y° V>_N�HX>WId=W=<��H\>\b£/� �HWYWN�N[Y�K�N�K�N[Y�H\>\bW [ � <c\>WYh Z
���H[Y�KV>\>WYh ¢ _Ide_g¤ °BZ>�KX>WPd=�P¢H© :���XbVT`bh4£/�;�­�YWPd<^>\>WY[Y�K\>Zb`nX>WN¢QZ¥�YV>WY\b\>WY§HW!ZnX>VbWN�YWY\b\>WY§HW
Xb©Fª>^TWY[>:�5�^T�KX>�HV>Zbh4�H\b� RUTWV��ST �e°�V<_N�KX>WPd=W=<��K\>\>£/¨ [ ��WY�­�YWYª>\bWYhx¢ _Id=�P°�Z>�KX>WPd=�N¢K©Y�­�
X>WPd<`bV>Zb¢HWY[E_N\>\b£/�3¦ d=�H^¥�YV>WY\b£ Z X>WPd<`bV>Zb¢QWN[E_N\>\b© : § _P¢HWY[N© : h4ZA@��K\>� f<d<` Zb¢K©¥ªb�H\>Zb`
�����������������! "���$#%��&"'(�*)�+-,*.0/��*#%&*.1)*243$506�����#7�"��,*.% ��0/�.181�0#%�1�:9;�" *9<.0,*&"�=���� "��)*�*9>.051.0�@?�,*6BA*CB.18ED

,*.1/��*#0&*.0)*)".0F�.G�IH� ���C*#%&".0)*)*.1F�.�J
�P�
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HERA

PETRA

DORIS

HASYLAB

Hall NORTH (H1)

Hall EAST (HERMES)

Hall SOUTH (ZEUS)

Hall WEST  (HERA-B)

Electrons / Positrons

Protons

Synchrotron Radiation

360 m

779 m

Linac
DESY

�4Z>�N:¥�¥: �Y®F��¤E�Kh�_
^TWPd>d=_N¨Ffe�KV<_ R T V X�:F-��K�N£/V>� �NWPd=�+@�Z¥¤2¦H^T�KX>�HV>Zbh4�H\b�I_�V<_N�KX>WPd=W=<��K\>£ [
¦H^T�HXb�HV>Z>h4�K\b�I_Id=�N\>£�¤ ¢ _Id=_I¤ � <�\b£/¨�
 � T ��� � ° 89_NX<_gf=\>£/¨�
 RUTWVYXB  * � °	���H[Y�KV>\>£/¨ 
 R�� �
Z7��WY�K�NWYª>\>£/¨ 
 RUTWV��ZT � � :

�HX>Zb\>WY[YWY¨ �­�YVb©F^b�P©¥Vb£ \b©F^¥d=WY\>WN[>:�5�^T�HX>�KV>Z>h4�H\¥� R T V X   * V<_N�HXbWPd=W=<��H\ [389_NX>_gfe\>WYh
¢ _Id<��Za�H^TWY\b�K�YV¥©¥ZbV>WY[E_N\pf<d<`aZb¢H©Fª>�K\>Zb`¯\<_NVb©�@��H\>Zb`

CP
 «�HZ>h4h4�­�YV>ZbZ7[2�HZ>�­�Y�Kh4�

BB̄
:

��_�V>Z>�K©F\>^T���F: ��X>V>� f=�K�I_N[Pd<�H\<_�� ¤E�Kh�_�^TWPd>de_N¨Tfe�HV<_ RUTWVYX
:b#��KV>� fp�N�Hh ^F_N^vª<_P�K�YZb]>£
Z>\A<��K^b�YZbVb© :��Y�U` [�^FWId>de_N¨Ff=�HV9°
WY\>Z1X>WHfe[N�HV>§ _+: �Y�U` XbV>� fe[Y_NV>Zb�N�­d=�Y\bWYh,©+©N�H^TWYV>�K\>Z�:�:
"�\A<��H^b]>Z>Z�X>V>WN�NWY\>WY[�X>V>� f!@��K�K�Y[P©Y�K��©N�H^TWYV>�K\>Z>��WN�YV>Zb]<_P�Y� d=�Y\>£�¤cZ>WN\>WY[�[YWHfeWYV>WHf	_ 
 R − �
feW 6N��6a¦Q�'°<^TWN�NWYV>£/��XbWYX<_gf	_ :��c[��KZ>\¥¤¥V>WN�NV>WY\ �UT � � � � � :="�WY\>£�X>V>WYXb©N�H^F_+: �Y�U`¬ª>�KV>�K¢
¡�WPd=�Y§­©Y°,[ ^TWN�YWNV>WY¨ WN�Hfe� d<`�: �Y�U` ¦ d=�H^¥�YV>WY\b£�:�#�WY� d=�v�YWN§HW>°4^F_N^ X>V>WP�YWY\>£ ©Y�K^FWNVT`A:��N�U`
feW ¦K\>�HVb§HZ>Z ;¥:96;� ¦H�'°�WY\>Z X>WNX<_gf	_+: � [ ©Y�­�I_N\>WY[Y^¥© �WT � VYX
°�§ fe��feWY�­�YZ>§ _+: � ¦H\>�KV>§HZbZ
�E�7� ¦H�'° X>�HV>� f Z>\A<��H^>]>Zb�H¨*[7XbV>WN�YWN\>\>WY�c\<_N^TWYX>Zb�N�­d=�N\>WY�v^TWPd=�N]>W R T V X�:�5�d=�K^b�YVbWY\>£
Z¥d=Z X>WP¢QZb�NV>WY\>£ X>V>� fe[E_NVbZb�Y� d=�Y\>W V<_P¢H§HWY\¥`�:��N�U` [3d=Zb\>�H¨>\bWYh ©Y�H^TWYVbZb�Y� d=� � � 
YX � �

 �Y�P� 6¯¦H�'° � − � Z¥d=Z � � 
 X � � � 
 �26N�n6a¦Q�'° � + � °
_ ¢ _P�N�Hh [ �OT � � � �afeW�;F:763� ¦H�':
� \<_N^TWYXbZb�Y� d=�Y\>WY�*^TWPd<�Y]>W�^TWPd>de_P¨Ffe�HV>_ RUTWVYXsWY\>Z X>WNX<_gf	_+: ��X>WY� d=�;©N�H^TWYV>�K\>Zb` feW
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�4Z>�N:N�¥:��¥®I"�\¥�Y�H§KV<_Id=�N\<_P`��K[Y�K�NZ>h4WY�K�N��^TWPd>de_N¨Tfe�HV<_URUTWVYX![�¢Q_N[YZ>�KZ>h4WY�K�NZ�WN��ªbZ>�­de_/fe\>�H¨
V<_	�YWP�Y£n[�V<_P¢­d=Z>ª>\b£/�
§KWQf=£�:

¦H\>�KV>§HZbZ �Q�c� ¦Q��[�©N�K�I_N\bWY[Y^T� �WT � VYX
:
"�\b�N�H§KV<_Id=�Y\>_P` �K[Y�K�NZ>h4WY�K�N� ^FWId>de_N¨Ff=�HV<_ R T V X [;V<_P¢H\>£/��§HWHfe£ \<_��YWYV<_�f	_N\>\>£�¤	°

X>WY^F_P¢Q_N\<_B\<_ VbZ>�K©F\>^T�/�F: �¥:Q0�_P^�[NZFfe\>W Zb¢�V>Z>�­©¥\b^¥_��¥: �F°Q[Y�­d<Z>ª>Z>\<_B�H[N�K�YZbh4WY�K�NZ�X>WY�K�NW `>\>\>W
V>WY� de_ [Yh4�H�­�Y� � h�_N�K�N�HV>�­�Y[YWYh WYX>�KV<_P�NWYV>WY[ R T V X�:�� f	_P\>\>WY¨ V<_��YWN�Y� Z>�HX>WId=�N¢H©N�K�N�U`
�K�I_P�NZ>�K�NZ>^F_b° \>_	�YV<_N\b\<_P`a[��Y�Hªb�H\>Z>���N�Y�Y��§KWHf	_b:

� ��� � m/��m/tp��z�o � �

���K�Y�K^b�YWNV R
� �Y£�d+V<_N�KX>WPd=W=<��K\+[����H[Y�KV>\>WYh ¢ _Id=� Z X>V>� fe�K�I_N[Id=�H\1\>_ VbZ>�K©F\>^T���F:��
� ©F^F_P¢Q_N\>Z>�Kh WY�H\>WN[Y\>£�¤ ^TWYh4X>WY\b�H\b�NWY[>° [P¤EWHf=` ��Z¥¤ [��HWY�­�I_N[ fe�­�Y�K^b�YWYV>_b:���d=� f=©N`
\b©Fh4�HV<_P]>Z>Z9°=X>WY^F_P¢Q_N\>\>WN¨¯\<_2V>Z>�­©F\>^T�N®
�Y:>���H^TWYVbZb�Y� d=�Y\>£/¨�^F_N\>_Id�Zph�_N§K\>Zb�N£
�¥:=.��H\b�NV<_Id=�N\>£/¨¯�NV>�H^TWY[Y£/¨�fe�K�N�H^b�NWYV
�b:=#��HV>� fe\>Z>¨a�YV>�K^TWY[Y£/¨pf=�K�Y�K^b�YWNV
�>:e5�d=�K^b�YV>WNh�_N§H\>Z¥�Y\>£/¨¬^F_Id=WNV>Z>h4�K�NV7\<_ <cZFfe^TWYh!_NV>§HWN\>�
6¥:<�Bf=V>WY\>\>£/¨a^F_Id=WYVbZ>h4�K�NV�\<_ <�ZTfe^TWYh _NVb§HWY\>�
8b:e��[Y�KVE¤¥X>VbWY[YWHf=`&��Z>¨7h�_P§H\>Zb�
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�4Z>�N:e�F:��b®<��¤E�Hh�_2©Y�­�I_N\>WY[Y^bZafe�K�N�H^b�NWYV<_ R
�

;¥:=0�WYh4X>�K\>�Q_N]bZ>WY\>\>£/¨¯h�_N§H\bZb�
5b:e��Z>�­�Y�Hh�_�f<d<`aX>WHf	_ ª>Za§H� d=Zb`
±b:e6S:�WY\>\>£/��^F_Nh4�HV>£
� �b:7� �­d<�K¢Q\bWY��`bV>h4W2h�_N§H\bZb�I_
�Y�Y:>��WYV>WYZTf	_Id=�Y\b£/¨¯h�_N§K\>Zb�cZph :'WY\>\b£/�
^F_Nh4�KV>£
�g�¥: � $7%��-%(& ^F_Id=WNV>Z>h4�K�NV
� �b: � � � �+^F_Id<WYV>Z>h4�­�YV
�Q�>:�?��K�YWN\>\<_P`a¢ _���Zb�I_
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�>6¥:7� ZFfe^TWP  _NV>§KWY\>\>£/¨a^>V>Z>WN�K�I_P�
��_P¢Qh4�KV>£sfe�­�Y�H^¥�YWYV<_ �KWY�K�I_N[Id<`�: �

12
h ¤

10
h ¤

15
hkZ+�K§HW [Y�K�$WY^TWPd<W

2800�YWY\b\9:
��Z>�K�N�Hh�_�^TWYWNVYf=Z>\<_P� R
� [Y£ �YV>_N\<_��­d=� f=© : ��Z>h W��YV<_I¢QWYh/®�WN�H�
z
�KWY[YX<_ f	_N�K�3�

\<_NX>V>_N[Pd=�K\>Z>�Hhsf=[YZA<��K\>Zb` X>V>WN�NWY\>\>WY§KW+Xb©Fª>^F_b°�WY�K�
x
d<� <cZb�1[ X¥d=WY�K^TWY�K�NZx^FWId=�Y]<_

RUTWV X Z¯\<_NX>V<_P[Pd=�H\>_c[��K�YWNV>WY\b©a]>�K\b�YV<_c^FWId=�Y]<_b°=WY�K�
y
�Hh4WN�NV>Zb�v[N[Y�HVY¤	:9��X>Vb� fe� d=�H\>Z¥`

� X>�KV>� f=\>Z>¨ ��Z � ¢ _ fe\>Z>¨ �3WP¢Q\<_ ª<_+: �+XbW Z X>V>WN�NZ>[+\<_PX>V<_N[Pd<�H\>Zb` X>V>WP�YWY\>\bWY§HW1X¥©¥ªb^¥_
�HWYWP�Y[Y�­�Y�K�N[Y�H\b\>W>° �H� d=Z �Hh4WN�NV>�K�N��Z¥¢ �YWYªb^>Z [N¢ _NZbh4WQf=�H¨>�­�Y[YZb` : #�WPd<`>Vb\>£/¨ ©F§HWPd

θZb¢Qh4�KVE`>�K�N�U`¬WN�c\<_NX>V>_N[Pd=�K\>Zb`aWY�HZ
z
: ?�£/�K�NV>WN�I_�[�de_	�NWYV<_P�NWYV>\>WY¨a�HZb�K�Y�Kh4��ª<_P�K�YZb]>£

ylab��¦H\>�KV>§HZ>�K¨
E
ZaX>V>WHfeWPd=�N\>£/h$Z>h4X¥©gd<�Y�HWYh

pz

¢Q_gf	_N�­�Y�U`¯¡�WYV>h,© d=WY¨9®

ylab = 0.5 ln{(E + pz)/(E − pz)} .

 �¥: � �

"�¢K «¢Q_ V<_P¢H\>£�¤ ¦H\b�HV>§KZ>¨ Xb©Fª>^TWY[>° ]>�K\b�YV X>WN¢HZb�YVbWY\¥  XbV>WN�YWN\>\>WY¨ �HZ>�­�Y�Kh4£ � fe[YZb\b©T�
X>W \<_NX>V<_P[Pd=�H\bZ�: X>V>Z¥d=�­�I_+: ���H§KW X>V>WN�NWY\<_b° ªb�NW �N£�d=W ©¥ª¥�Y�H\bW X>V>Z X>WY�­�YV>WY¨b^F�
_N�H�KZ>h4�K�NV>Z>ª>\bWY§HW�fe�K�N�H^b�NWYV<_ 
 �YWPd=� @���h�_P�N�HV>Z<_gde_�[�XbWPd=W=<�Z¥�Y�­d<�Y\>WYh \<_NX>V>_N[Pd=�K\>Z>ZpWY�HZ
z � :=��V¥©¥§KWY¨ [E_ <c\>WY¨7¤E_NV<_N^b�N�HV>Zb�K�YZb^FWN¨ fe�K�N�H^b�NWYV<_MR
��`b[Pd<`>�­�Y�U` X>V<_P^b�YZ>ªb�H�H^bZ X>WPd<\<_P`
4π

§H�HWNh4�K�YVbZb`9:�5��YW �K[YWY¨>�­�Y[YW!WYª>�H\b�$[E_ <c\>W f<d<`��HW��N£��YZ>¨9° © ^TWN�YWYVb£�¤ [!^FWN\>�Hª>\bWYh
�HWY�­�YW `>\bZ>Z7\<_g¤EWHf=`b�N�U`�\>�K¨b�YVbZ>\>W>°=�HZb§H\<_Id�^TWN�YWYVb£�¤a\>�­d=�P¢H`aZb¢Qh4�KV>Zb�N�>:

���­�I_Id=�Y\>WN�7WYX>Zb�Q_N\>Zb�afe�K�N�H^b�NWYV<_ R���h4W=<�\>W \<_N¨¥�YZ�[ � �E±b° 6N��	 :�8=fe�H�K� X>V>Zb[YWHfeZb�Y�U`
�YWPd<�Y^TW ^bV<_P�Y^TWY� WYXbZ>�Q_N\bZ>� �Y�­¤xª<_N�K�N�H¨ fe�K�N�H^b�NWYV<_b°p^TWN�NWYV>£/� �Y£�d=Z Z>�KX>WPd=�N¢HWY[E_N\b£
[$f	_N\>\>WN¨ V<_	�YWN�N�N:�5��NW3XbWN¢QZb�NV>WY\>\b£/¨ �I_N§K§H�HV °�]b�H\b�NV<_Id=�Y\b£/¨ �YVb�H^TWY[Y£/¨ fe�K�N�H^b�NWYV+Z
^F_Id=WYV>Zbh4�K�YVb£ 
 �3X � Z �C$7%��-%8& � :��,_P^1^F_N^ _N\<_Id<Zb¢QZ>V¥©Y�Hh4£/�$f	_P\>\>£/� �Y£�d=Z \>_	�YV<_N\b£
�YWPd<�Y^TW [YW [YV>�Kh,` X>�HV>ZbWQfe_ RUTWV X � °��HWN�K�I_N[¬fe�K�N�H^b�NWYV<_ W��N�K©�<2fe_N�K�N�U`!�NWPd=�Y^TW;¢Q_ ¦­�YWN�
X>�HVbZ>WHf�:

��������� ���
	���
�������	�������
��
����������� ��� �!�#"$�

.��H\b�NV<_Id=�Y\b£/¨ �YV>�K^FWN[Y£/¨ fe�­�Y�H^¥�YWYV �HWN�K�YWNZb� Zb¢ fe[N©E¤ ]>�K\b�YV<_gd=�Y\>£�¤ feV>�K¨>¡�WY[Y£�¤
^F_Nh4�HV 
 �����'�vZ������/� � °�]>�H\b�NV<_Id=�N\>WY§HW7^>V>�Hh4\bZ>�H[YWN§HW7�NV>�H^T�HV>_ 
 � � � � Z ]>�K\b�YV<_gd=�Y\>£�¤
[Y\b©T�YVb�H\>\>�K¨+Z [Y\>� @�\>�K¨

z
  ^F_Nh4�HV 
 � � � ��� 	 � � °'^TWN�NWYV>£/� X>WY^F_P¢Q_N\>£�\>_ V>Z>�K©F\>^T�$�¥: �>:

.��H\b�NV<_Id=�Y\b£/� [Y\¥©F�NV>�H\b\b`b` Z [Y\>� @�\b`b` XbV>WYX>WYVb]>Z>WY\<_gd=�Y\>£/� ^F_Nh4�HVb£ � � � Z � 	 �
Z>�HXbWPd=�N¢K© : �Y�U`*�NWPd=�Y^TW7[a�YV>Zb§H§H�KV>\>WY¨*�KZ>�K�N�Hh4��Z;V<_N�HXbWPd=W=<��H\b£ �Pd=Zb¢H^FW¯^ � � �!Z � 	 �
�HWYWP�Y[Y�­�Y�K�N[Y�H\b\>W>:

�Ede_N[Y\b£/h �NV>�H^TWY[Y£/h+X>V>Z��YWNV>WYh `>[Pd<`b�K�N�U`!]b�H\b�NV<_Id=�Y\>_P` f=V>�H¨>¡�WY[Y_P` ^F_Nh4�HV<_������'°
^TWN�YWYV>_P` �HWY�­�YWYZ¥� Z¥¢�fe[N©E¤ ^TWE_N^T�KZ<_Id=�Y\b£�¤ ]>Z¥d=Zb\FfeV>WY[b° \<_NX>WPd<\>�H\>\b£�¤ § _P¢QWNh Z
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�4Z>�N:	�¥: �>®<.��H\¥�YV<_Id<�Y\<_P`p�YVb�H^TWY[E_P`¯�HZb�K�Y�Kh�_�fe�­�Y�K^b�YWYV>_�R
�

V<_N�KX>WPd=W=<��K\>\>£�¤ [IfeWPd<�3WN�HZ+X¥©¥ªb^FWN[�WN�
z = −1.1

hxfeW
z = 1.1

h/:���\¥©F�NV>�H\b\b`b`
^F_Nh4�HV<_������'�aX>WY^>V>£/[Y_N�K� ©F§HWPd

11◦ < θ < 169◦
°4_¬[Y\>� @�\b`¥`!^F_Nh4�KV<_������/� �

26◦ <

θ < 154◦
°,�HZb§H\<_Id<�Y\>£/�pZ X>WPd=�K[Y£/��X>V>WY[NWPd=WY^>Z*^TWN�NWYV>£�¤ \>_P� `>\b©T�N£xX<_NV<_Idbd=�­d=�N\>W¬WY�HZ

Xb©Fª>^F_¬��feV>�K¨>¡�WY[Y£/h4Z*`>ª>�K¨>^F_Nh4Z Z \<_N^Fd=WY\>�K\>£ XbV>Z>h4�HVb\>W X>WHf
30◦

X>W¬WN�N\>W+@��H\>Z�:x^
V<_gfeZ>_Id=�Y\>WNh,©�\<_NX>V>_N[Pd=�K\>Z�:�:

89_PVT` <��H\b\>£/� ª>_N�K�NZ>]>£�° Xb�HV>�K�H�H^F_+: ��Z>� �����'° Z>WY\bZb¢QZ>V¥© : � § _P¢ [ ^F_Nh4�KV>�N:
"��HXb©N�H^F_N�Hh4£/� ¦ d=�H^¥�YV>WY\b£ f=V>�H¨>¡�© :�� X>W \>_NX>V<_N[Id=�H\>ZA: ^ �KZ>§H\>_Id=�Y\>WN¨ X>V>WN[YWPd=WY^T�
Z [Y£�¢H£/[E_+:�� ¦ d=�H^¥�YV>WY\b\>£/¨ d<Z>[Y�H\b�>°�©FX>V>_N[Pd<`b�Hh4£/¨x¦­d<�H^b�NV>Z>ª>�K�H^>Z>h X>WPd=�Kh h4� <�f=©
�HZ>§K\<_Id=�N\>£/h4Z Z X>WPd<�H[Y£/h4Z X>VbWY[YWPd=WN^¥_Ph4Z9: #�WxfeV>�H¨b¡�WN[YWY¨��K^TWYV>WY�­�YZ Z [YV>�Kh4�H\>Z
V>�H§KZ>�K�NV<_N]>ZbZ �HZ>§K\<_Ide_b° �KW��YV<_P\>\>WY§KW � �HZb§H\<_Id<�Y\>£�¤ X>V>WN[YWPd=WY^ ° WYX>V>� fe�­d<`b�K�N�U`
^TWYWYVNfeZ>\<_I�I_k¤¥Zb�NWY[k[

rφ
  X¥d=WN�H^TWY�K�NZ9: ��WY�­�YZ>§ _P�K�Y�U` V<_I¢QV>� @��H\bZ>�

σrφ = 130 µ
h/:

89_NVE`Ff �Hª>Zb�N£/[E_N�­�Y�U` \<_ W	�YWYZ¥¤�^TWY\>]>_I¤s�HZ>§K\<_Id=�Y\b£�¤ X>VbWY[YWHfeWY[>: �%_N^>Z>h W	�YV<_P¢HWYh/°
z
  ^TWYWNVYf=Z>\<_P�I_¬¤bZ¥�I_;h4W=<��K� �Y£��N�;WNX>V>� f=�­d=�K\<_b°�Z>�HXbWPd=�N¢K©N` X>V>Z>\b]>Z>X f=�­d=�K\>Zb` ¢ _NVE`Tf	_b:
�%_P¢HV>� @��H\>Zb�+WY^F_P¢H£/[E_N�K�N�U` \>� �I_N^>Z>h ¤EWNV>W+@�Zbh ^F_N^ [

rφ
  XFd=WY�H^TWY�­�YZ Z feWY�­�YZ>§ _N�­�

σz = 22
h4h/:
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6¯_N§H\>Z¥�Y\>WY� X>WId=���HWPd<�H\>WYZTf	_
1.16

��°�[ ^TWN�YWNV>WY��X>WYh4� ���K\<_������'°�X<_NV<_Idbd=�­d=�N\>W
WY�HZ

z
Z �YV<_P�H^b�NWYV>Zb`!¢ _NVE`A<��H\>\>£�¤!ª<_P�K�YZb]$X>V>WQ¤YWQf=Zb�*X>W �HX>ZbV<_Id=Z9:%��d<` \<_I¤YW=<2fe�K\>Zb`

�YV>�K^F_ [ ^F_Nh4�KV>�1Z>�KX>WPd=�N¢K©Y�­�Y�U` h4�K�NWHf�WYX>V>� fe�­d<�H\>Zb` �YV<_N�K^b�YWNV>Z>Z X>W ¤bZ¥�I_Nh/:7#�V>Z
X>WYh4W	��Z X>WHfe§KWY\>^>Z �KX>Z>V<_gd=�H¨ WNX>V>� f=�­d<`A:��Y�U` X>_NV<_Nh4�­�YV>£ �NV>�H^F_b:c�,_N^>Zb��¦K¡�¡��K^b�Y£�°
^F_N^ h4\bWY§HWY^bV<_P�Y\bWY� V>_N�H�K�K`>\bZ>�N°a¦H\>�KV>§H�­�YZ>ªb�H�H^bZ>� X>WN�N�HV>Z [ Xb�HV>�K�H�H^F_N�Kh4WY¨kh�_P�N�HV>ZbZ
Z¥d=Z \b� �YWPd<�+@�_P`�\>�KWQf=\>WYV>WHfe\>WN�K�Y��h�_P§H\>Zb�N\>WY§KW�X>WPd<` ° XbV>Z>[YWHf=`¥� ^ \>�­¢Q\<_ ª>Z¥�Y�­d<�Y\>WYh,©
WN�Y^Fd=WY\>�K\>Z�: WN���HXbZ>V<_Id=Z :Y5��NZ�¦H¡�¡��H^b�N£ X>V>Z>\>Zbh�_+:��N�U`�[YW [Y\>Z>h�_N\bZ>��XbV>Z�WYX>Vb� fe� d=�H\>ZbZ
Z>h4Xb© d=�Y�H_ �YVb�H^F_ [ �KW��Y£��YZbZ9: #�WHfe§HWN\<_ �NV>�H^F_ �s©Fª>�­�YWYh X>�KV>[YZ>ªb\>WY¨ [Y�KVA@�Zb\>£
[N¢ _PZ>h4WHfe�H¨>�­�Y[YZ¥`¯¢H\<_ ª>Zb�Y� d=�Y\>Wc©gd>©¥ª @�_N�­�vV<_P¢HV>� @��H\>Zb��Z>h4Xb© d=�N�Q_b:

��d<`�f	_Id=�Y\b�H¨A@��H§HW2© d<©FªA@��K\>Zb`¯V<_P¢HV>� @��H\>Zb`¯X>W2WY�KZ
z
°>Z>�HXbWPd=�N¢K© : �Y�U`a¤bZ¥�Y£nZ¥¢ � � �

Z � 	 �¬^F_Nh4�HVaX>V>ZaV>�H^TWY\b�K�YV¥©¥^b]>Z>Z7�NV>�H^F_b:	��\>ZaV<_N�HXbWPd=W=<��H\b£n[Y\b©T�NV>Z �����'��Zph4� <�f=©
�����'�¬Z �����/� �HWNWN�Y[Y�­�Y�­�Y[Y�K\>\>W>:B"'¤!�HZ>§K\<_Id=�N\>£/�¬X>WY[YWId=WY^>Z9°�X>�KV>X>�H\TfeZ>^b© d<`bV>\>£/� WY�HZ
z
°%XbV>Z>[YWHf=`¥�¬^ © d<©FªA@��K\>Z�:

z
 «V<_P¢HV>� @��H\>Zb` \>_pfe[E_aX>WYVE`Ffe^F_ �YWId=�+@��cX>W��KV<_N[Y\>�K\>Z�: �

Z>�HXbWPd=�N¢HWY[E_N\>Zb�Hh$�NWPd=�Y^TW �����':
.��K\b�YV<_gd=�Y\>£/¨ �NV>�H^TWY[Y£/¨ fe�­�Y�K^b�YWYV Zb¢Hh4�HVE`>�­� X>WYX>�KV>�Hª>\b£/¨ Zbh4Xb© d=�Y�

pT¢ _NVE` <��H\>\b£�¤ ª<_N�K�NZ>] � �NWYª>\>WY�­�Y�#:
σpT

/pT ≈ 0.005 · pT [
� ¦Q�

] ⊕ 0.015
�96F� 	 :

"�WY\>Zb¢Q_N]>Z>WY\b\>£/� X>WN�Y�KV>Z
dE/dx

[ feV>�K¨>¡�WY[Y£�¤ ^F_Nh4�KV<_I¤ ¢ _NVE`A<��H\>\>£�¤ ª<_N�K�NZ>]
Zb¢Qh4�KVE`�:��N�U` ��WN�N\>WY�KZb�Y� d=�Y\>WY¨$W+@�Z��N^FWN¨![

7.5 � f<d<` h4Z>\>Zbh�_Id=�Y\>W Z>WN\>Zb¢QZbVb© : ���K¨>�U`
ª<_N�­�YZ>]>£ � 6Y�
	 :

������� � ��������
���"$�
��
��

� ZTfe^TWP  _NVb§HWY\>\b£/¨ ^¥_gd=WYV>Z>h4�­�YV �3X�� Z �HX<_N§K�K�P�YZ ^¥_gd=WYV>Z>h4�­�YV �C$7% �-%(&!`b[Pd<`�: �Y�U`
WY�H\bWY[Y\>£/h4Za^F_Id=WYV>Zbh4�K�YV>_Nh4Z�¦H^T�KX>�HV>Zbh4�H\b�I_QR��Y:

0�_Id<WYV>Z>h4�­�YV �-X � V<_P¢Qh4� ���K\�[ X>�HV>� fe\>�K¨
�YWNV>]>�H[NWY¨�Z�]>�K\b�YV<_gd=�Y\>WY¨�ª<_N�K�NZ�f=�K�Y�K^b�YWNV<_
� ©F§ d=WNh X>WY^>V>£��NZb`

4◦ < θ < 154◦
:!��\ �HWN�K�YWNZb� Zb¢ ¦­d=�K^b�YVbWYh�_N§H\bZb�Y\>WN¨ Z

_gfeV>WN\>\>WY¨ �H�K^>]>Z>¨ �HW �H[YZb\>]>WY[Y£/h4Z Z �K�I_Id<�Y\>£/h4Z X>WN§ d=WN�YZ¥�Y�­d>`>h4Z �KWYWN�Y[N�K�Y�­�Y[Y�K\>\>W>°
^TWN�YWYVb£/��X>WY^F_P¢Q_N\>£1\>_aV>Zb�K©F\>^T���¥:96¥: #�WaWY�HZ

z
^F_Id=WNV>Z>h4�K�NV��3X���V<_P¢ fe�­d��H\ \<_p[YWY�K�Hh4�

�Q_Nh4WNX>WHf>fe�HV2<cZ>[E_+: ��Z¥¤Y�U` feZb�H^TWY[>:�5�d=�K^b�YVbWYh�_N§H\bZb�Y\<_I` �H�K^>]>Zb` Z>h4�K�K���H�Hh4� feZ>�K^TWY[>°
_ _gfeV>WN\>\<_P` � [NWY�H�Kh4�>:
� ^F_Id<WYV>Z>h4�­�YV<_ �3X�� [N£/�HWY^F_P` �­�Y�HXb�H\>� X>V>WY�­�YV<_P\>�K�N[Y�H\>\bWY¨
�H�K§Hh4�H\¥�I_N]>Z>Z �xª>Zb�­d=WYh `>ª>�K�H^9° V<_P[Y\>£/h �Y�E�Y�Y�¥:*�%_P¢HV>� @��H\>Zb� X>W�¦H\>�KV>§HZbZ ¦K�NWY§HW
^F_Id=WYV>Zbh4�K�YV>_'Zb¢Qh4�KV>�H\bW'\<_/�Y�K�K�YWN[Y£�¤
Xb©Fª>^F_I¤ �96N�¥° 6I��	EZ�V<_N[Y\>W

σ(E)/E = 0.11/
√

E/
� ¦H�

f<d<`a¦­d<�H^b�NV>WYh�_N§K\>Zb�Y\bWY¨¬�H�K^>]>Z>ZaZ
σ(E)/E = 0.50/

√

E/
� ¦H� f>d<`a_gfeV>WN\>\>WY¨9:

0�_Id<WYV>Z>h4�­�YV � $7%��-%(& � 6#6
	 V<_N�KX>WPd=W=<��K\s[ ¢ _ fe\>�H¨s�YWYV>]b�H[YWY¨sª<_N�­�YZ f=�K�Y�K^b�YWNV<_
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�4Z>�N:T�F:76¥®P���KVE¤¥\b`¥`2X>WPd=WN[YZ>\<_'^F_Id<WYV>Z>h4�­�YV<_ �3X��K:Y��_P¢Q[Y_N\>Zb`�¦­d=�K^b�YV>WNh�_N§H\>Z¥�Y\>£�¤cª<_N�­�Y�K¨
^F_Id=WYV>Zbh4�K�YV>_�¢ _P^¥_P\>ª>Z>[E_ :��Y�U`7\<_ � T � °>_�_ feV>WY\>\b£�¤ �v\>_ � R � :

R
� � ©¥§ d<WYh X>WY^bV>£��YZb`
153◦ < θ < 158◦

:a��\ �HWY�­�YWYZ¥� Zb¢ ¦ d=�H^b�NV>WYh�_N§K\>Zb�N\>WY¨
�H�K^>]>Z>Z � �Y� ±Y�x`bª>�H¨>^F_Nh4ZsV<_P¢Hh4�HV>WYh

4.05 × 4.05 × 25
�Hh 3 Z _gf=V>WY\>\>WN¨s�K�H^>]>ZbZ

�HW � �#8k`>ª>�K¨>^F_Nh4Z V<_I¢Qh4�HVbWYh
11.9 × 11.9 × 25

�Hh 3 : 5�d<�H^b�NV>WYh�_N§K\>Zb�Y\>_P` �H�K^>]>Zb`
[Y^¥d!:�ª<_N�­� [ �K� � `

27.5
V>_gfeZ<_N]bZ>WY\>\>£�¤ f<d<Z>\ Z W	�Y�H�KX>�Hª>Zb[E_N�K� V<_P¢HV>� @��H\>Z>� XbW

¦­d=�K^b�YVbWYh�_N§H\bZb�Y\>WN¨1¦H\>�KV>§HZbZ
σE/E = 7%/

√

E/GeV ⊕ 1%
� 6+8�	 :��Bf=V>WY\>\<_I` �H�H^b]>Zb`

Z>�HXbWPd=�N¢K©Y�K�N�U`;f<d<` §KVb©��YWY§HWaZb¢Hh4�HV>�K\>Zb`;¦H\>�KV>§HZ>Z Z¬f<d>` V<_P¢Kd<Z>ª>Zb`;h4� <�f=© _gf=V>WY\>\>£/h4Z
Z�¦ d=�H^¥�YV>WYh�_P§H\>Zb�N\>£/h4Znd=Z>[N\b`>h4Z9:����H�K�!^F_Id=WNV>Z>h4�K�NVn�KWQf=�HV2<�Z¥�

2
_gf=V>WY\>\>£/�7f<d<Z>\>£

[N¢ _PZ>h4WHfe�H¨>�­�Y[YZ¥`9:=5�\>�KV>§H�­�YZ>ªb�H�H^TWY��V<_I¢QV>� @��H\bZ>��f<d<`v_gfeV>WY\bWY[
σE/E = 56%/

√

E/GeV
:

0�_Id=WYV>Zbh4�K�YV � $7%��-%(&¯�H^TWY\>�­�YVb©FZ>V>WN[E_N\ f<d<` WN���YWNV<_+�HW	�Y£��YZ>¨ ��§ d<©��YWY^TWY\>�­©¥XbVb©F§HZ>h
V<_N�K�H�K`b\>Z>�Kh �aX>WYh4W����#: �YV>Zb§H§H�KV>\>WY¨ �KZ>�K�N�Hh4£ Z f<d>`$Zb¢Hh4�HV>�K\>Zb`�Z!ZFfe�K\b�YZ>¡�Z>^F_N]bZ>Z
V<_N�K�H�K`b\>\>WY§KW�¦ d=�H^b�NV>WY\<_¥:

��������� � ��� �!�#"$� ���
"$�

��
	�� ��� ���
����" � � �!� ������� � �!
���	 	��	� �
��
�
 �



��Z>�K�N�Hh�_ �H[N�K�YZbh4WY�K�NZ fe�­�Y�K^b�YWYV>_ R�� X>WY^F_P¢Q_N\<_ \>_ V>Z>�­©¥\b^F� �F:98 Z �HWY�­�YWYZb�
Zb¢ � & �;& � � &<*5� ^>VbZ>�K�I_Idbd=Z>ª>�K�H^>Z¥¤ -��HVb�H\>^TWY[Y�K^>Z¥¤ ^F_Id<WYV>Z>h4�­�YV>WY[b° V<_N�KX>WPd=W=<��K\>\>£�¤
�Pd=Zb¢H^TW ^ �YV>_N�H^b�NWYV>Z>Z�Xb©Fª>^TWY[ \>_ WNX>V>� f=�­d=�K\>\>WYh V>_N�H�­�YW `>\>ZbZ�WN� R��1f=�K�Y�K^b�YWNV<_
X>W \<_PX>V<_N[Pd<�H\>Z�: fe[YZA<��H\>Zb` X>WN¢HZb�YV>WN\>WY[>: ��[Y�K�NZ>h4WY�K�N� Zb¢Qh4�KVT`b�K�N�U` � X>WYh4W����#:
V>�H§KZ>�K�NV<_N]>ZbZ X>VbWY]>�H�K�HWY[ ?��­�Y�   ?�d=WQ¤E_

ep → e′p′γ
° �H�Kª>�H\>Zb��^TWN�NWYV>£�¤ Zb¢Q[Y�K�K�N\>W

� �NWPd=�+@�WY¨ �NWYª>\>WN�K�Y�+:�:c�%_N�K�H�K`b\>\>£/��X>WN¢QZ¥�YV>WY\b£ V>�H§KZ>�K�NV>Z>Vb© :��N�U` [ XbWN¢QZb�NV>WY\>\bWYh
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"$#&% ')(+*-,.'0/21 3 4657,.#98.4�% 4:(-/

�����<;�=?>A@CBEDF;HGJIK;�LM���NB�IK��DPO�QP@FRTSJIK>U�V;��)�VW
XZY\[ X
]JY

^ ^ ^ ^ ^ ^ ^ ^ ^ ^ ^ ^_ _ _ _ _ _ _ _ _ _ _ _` ` ` ` ` ` ` ` ` ` ` `a a a a a a a a a a a a bcd d d d d d d d dfe�
gihkj l2m n�o

p
q

r�sutwvyx{z{|~}U�<�w�~�~t�z���p
q���K�������w��� ������� ��� |~x{|~}k��t�x{twvyx{|~z
� n�o ��K���J������� ���E���

���¡ £¢�¤¦¥u}�|�§f¥uxf¨ª©«¨¬§fx{t�¤
­¯®

�4Z>�N:	�¥: 8b®=��Zb�K�Y�Kh�_c�K[Y�K�NZ>h4WY�K�NZafe�­�Y�H^¥�YWYV<_ R
�Y:
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�I_N§H§K�HV>� T ��°¯V<_N�HXbWPd=W=<��H\b\>WYh \<_ V>_N�H�­�YW `>\>ZbZ
z = −33.4

h WN� fe�K�N�H^b�NWYV<_ R
�Y:
��WN�YWY\b£ Vb�H§HZb�K�YVbZ>Vb© :��N�U`![¯¡�WN�YWY\b\>WYh �I_N§K§H�HVb� � ��°�V>_N�HX>WId=W=<��H\>\bWYh \<_¯V>_N�H�­�YW `>\>ZbZ
z = −102.9

h WN�+fe�­�Y�H^¥�YWYV<_ R
�N:���d<`xWYX>�KV<_P�NZ>[Y\>WY§KW WNX>V>� f=�­d=�K\>Zb` �H[N�K�YZbh4WY�K�NZ
Z>�HXbWPd=�N¢K©Y�K�N�U` Zb¢Qh4�KV>�H\>Zb� ª<_N�­�YWN�N£ �KWY[YX<_ fe�H\>Z¥` �HZb§H\<_Id<WY[1[+W	�YWYZ¥¤ �I_N§K§H�KV<_I¤	:���d<`
_N[N�NWY\>WYh4\>WN¨ ^F_Id=Z��NV>WY[Y^>Z;Z>�HXbWPd=�N¢K©Y�K�N�U`*�YWPd<�Y^TW7¡�WN�YWN\>\>£/¨ �I_N§K§H�KV �96+;
	�Z �H[N�K�YZbh4WY�K�N�
WYX>V>� fe�­d>`>�K�N�U` ¢H\<_ ª>Zb�N�­d=�Y\bW �YWNª>\>�H�P:2#�WY§HV>� @�\>WN�K�Y� Zb¢Hh4�HV>�K\>Zb` �H[Y�­�YZ>h4WY�­�YZ [ ¦K�YWNh
_N\<_Id<Zb¢Q��\>��X>V>�K[Y£ @�_N�­�

2%
:

#�WN¢HZb�YVbWY\>\>£/¨ �I_P§H§H�KV Z>�KX>WPd=�N¢K©Y�­�Y�U` f<d<` WN�	�YWYV<_ �HW��N£��YZ>¨ ¡�WN�NWYV>W=<�fe�H\>Z¥` �
X>WYh4W	���#: �YVbZ>§H§K�HV<_�Z�f<d<`�V>�K§HZ>�­�YV<_P]>Z>Z�XbWN¢QZb�NV>WY\>WN[>°E^TWN�YWYVb£/� V>_N�H�K�HZ>[E_ :��Y�U`�\<_�WNª>�H\>�
h�_Id=�K\>�Y^>Z>¨�©F§HWPd�[�¦K�YZF¤��KW��Y£��NZb`¥¤	:F�*X>WN¢QZ¥�YV>WY\b\>WYh �I_N§K§H�KV>�'h4W=<c\>W�¢ _NV>�K§HZ>�­�YV>ZbV>WY[E_P�N�
�HW��N£��YZb`¯�

Q2 < 0.01
� ¦Q��:

��������� � 
�� 
 
 �

�	���� � ��� �!�#"$�

5�d=�H^¥�YV>WY\b\>£/�2Z¬X>V>WN�NWY\>\>£/��Xb©Fª>^bZ¬�K�I_Id=^bZ>[E_+: �Y�U` ^F_ <2f=£/�
96
\b�N°eªb�YW��KWYWN�Y[N�K�Y�­�Y[N©N�K�

ª<_N�­�YWN�N���K�NWPd=^>\bWY[Y�H\bZ>¨
10.4

6¯� ] :=-�_P�K�YWP�I_cZ>\b�N�HV>�K�K© : ��Z¥¤¬\>_N��¡�Zb¢QZ>ªb�H�H^bZ¥¤¯�HW��Y£��NZ>¨
\<_Nh4\>WN§HW3h4�H\>�+@��N:�#�WPd=\>WN� �K�Hª>�K\>Z>�!¡�WP�YWYV>W=<�fe�H\bZb`

σtot
γp ≈ 165 µ

��� 6+5�	�[Nh4�H�K�N�$�KW
�H[Y�­�YZ>h4WN�K�Y�+: L = 1.5 · 1031 �Kh −2 � −1 °4\<_��YV<_N\>\bWY¨![;�N�N�Y��§HWHf=©N°�XbV>Z>[Y� d=W;^ �H^TWYVbWY�K�NZ
V>W=<2f=�H\>Zb` �HW	�Y£��YZ>¨ ¡�WP�YWYV>W=<�fe�H\bZb` XbWYVE`Ffe^F_ ^>� ] :���^TWYVbWY�K�N�1V>W=<2f=�H\>Zb` �KW��Y£��YZb¨
§ d<©��YWY^TWY\>�­©FX>Vb©F§HWY§KW2V<_N�H�K�K`b\>Zb`v\>_Nh4\>WY§KW
h4�K\>�+@���Z2feWN�K�YZb§ _N�K��[N�H�H§KW�d=Z @���\>�K�H^TWPd=�N^>Z¥¤
� ]9:=��feWNX>WPd=\>�K\>Z>Z¯^FW�[Y�K�Hh,©pª<_N�­�YWN�I_c¡�WN\>\>WY[Y£�¤��HW��Y£��NZ>¨�Zb¢­ «¢Q_��­�YWPd=^b\>WY[Y�K\>Zb`�X¥©¥ªb^¥_
��WY�K�I_P�NWYª>\>£/h�§ _I¢QWYh![2©N�H^TWYV>Z¥�Y�­d<�Y\>WYh�^F_N\<_gd=�
�KWY�K�I_P[Pd<`>�­�

50
^<� ]9:

�%_N^p^F_N^¯¢Q_NX>Z>�K£/[E_+: ���H��©Y�K�NV>WY¨>�­�Y[YW�\b�
[��HZ¥d=_I¤aW��YV<_��E_P�Y£/[Y_P�Y�c[Y� : Z>\>¡�WYVbh�_N]>Z�:
� fe�­�Y�H^¥�YWYV<_ ^F_ <�fe£/�

96
\>�N° �YV>� �N©Y�­�Y�U` �Y£/�­�YV>WY� _PX>X<_NV<_I�Y\>WY� Z X>V>WY§KV<_Nh4h4\>WY�

W��Y�K�HX>�Kª>�H\>Zb�N°<^TWN�YWNV>WY��feWPd�<�\>W�V>� @�_P�Y�2¢ _NXbZ>�H£/[E_I�Y�2Z¥d=Z�\>�­�2�HW��N£��YZ>�P:¥�
d>`�¦K�NWY¨p]>�­d=Z
�Y£�de_pV<_P¢HV<_	�YWN�I_P\<_ah4\bWY§HWN©FV>WN[Y\>�H[Y_P` �YV>Z>§K§H�KV>\<_P`;�HZ>�­�Y�Kh�_b°�^TWN�NWYV<_P` X>Vb� fe�­�I_N[Pd=�K\<_7\<_
V>Z>�­©¥\b^F�c�¥:9;cZ�^TWN�NWYV<_P`�WN���YZbV<_N�K�

ep
  �KW��Y£��YZ¥`9°	©Fh4�K\>�+@�_I`¬ª<_N�­�YWN�P©�¡�WY\<_�[�\>�H�K^FWId=�Y^TW

@�_N§KWY[>:e��¤YWQf<`&��_I`�ª<_N�­�YWN�I_�©¥h4�K\>�+@�_N�K�N�U`¬�
10.4

6¯� ]¯\<_cXb�HV>[YWNh!©FV>WY[Y\b� �4��f=W
50
� ]

Z¯\>_2ªb�K�Y[N�HVb�NWYh ©FV>WY[Y\>� � ��feW
10
� ]9:

�BV>Zb§H§H�KV9°$Zb�HX>WPd<�N¢H©N�Hh4£/¨ [ ¦K�YWNh _P\<_Id=Zb¢H�N° WN�H\>WY[Y_N\ �YWId=�Y^TW \<_�©FV>WY[Y\b� �4�Y°
X>WY¦­�YWYh,© [ ¦K�YWN¨ feZ>�K�H�HV¥�I_N]>Z>ZxW��N�K©�<2fe_N�K�N�U` �YWId=�Y^TW+¦­�YWN�1©FV>WN[Y�H\>�b:��Bd=§HWNV>Zb�Yh �4�
WN���NWYV<_¬WY�H\bWY[Y£/[E_N�­�Y�U`!\<_¬�HX>�K]>Z<_Id<�Y\>£�¤ �YVbZ>§H§K�HV>\>£�¤!�KZ>§H\<_gde_I¤ �pV<_P¢H\>£�¤ ^TWYh4X>WN\>�H\b�
fe�K�N�H^b�NWYV<_b:����K�H§HW �I_N^>ZF¤��YV>Zb§H§H�KV>\>£�¤n¦­d=�Kh4�H\b�NWY[

256
Z WY\>Z ^TWYh �YZb\>Z>Vb© :��N�U` [

192�YV>Zb§H§H�KV<_b:���W��Y£��YZ¥` �HWQ¤¥V<_N\¥`�:��N�U` \<_ ©FV>WY[Y\>���4�Y°/�H� d=Z �KV<_	�YWN�I_gdn¤EWP� ` �Y£kWHfeZb\nZb¢
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~100µs

L3
Processor−
Farm

L2

22µs

Topolog.

Neuronal
Network

Trigger

asynchronous
Event Buffer

L4/5

~100ms

Processor−
Farm

reconstruction
full Event−

L1

2,3µs

Hard
wired
Logic−
crcuits

Data pipelines

L3REJECT

L2KEEP L3KEEP

L2REJECT

max.
200 Hz

max.
1 kHz

max.
~10MHz

L1KEEP

read−out
Pipelines

continue
Read−OutPipelines

stop

L4REJECT

L4KEEP

on Tape
write

reject

Trigger Data

clear Pipelines & restart

Subdetector−
Data

10 Hz

50 Hz

~2% ~7%
Dead−time

free
Dead−
time

asynchronous Phase

��� ��� � � �	� 
�� 
� �� � � � �� �� � �� 
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192
�YV>Zb§H§H�KV>WY[>:T�
d>`v�YWY§KW>°bª¥�YW��Y£ �Y£�d<W
feWY�K�I_I�YWYª>\bW�[NV>�Hh4�K\>Z�f<d<`vW	�YV<_	�YWP�Y^>Z�^F_ <�feWY§KW

�HZ>§K\<_Ide_¥°��HW��Y£��NZb` ¢ _NX>Zb�H£/[E_+: �Y�U` [YW [YV>�Kh4�H\>\>WN� ¤¥V<_N\bZ¥d=Z&��� 
 $���$ ��&)��4�� � ° WN�3WQf=\>WY§HW
�K�NWPd=^>\>WN[Y�H\>Z¥`2Xb©Fª>^F_'^�feVb©F§KWYh,©��­�YWPd=^b\>WY[Y�K\>Z�:�:Y��� @��H\>Zb�/�HWQ¤¥V<_N\>Zb�N���HW��Y£��NZ>��Z¥d<Z�\>�K�
X>V>Z¥¤YWHfeZb� �YWPd<�Y^TW¬�HXb©N�K� `

24
�­�YWPd<^>\>WY[Y�K\>Zb`*X¥©¥ªb^FWN[>:4�4�­d=Z*Vb� @��K\>Z>�pX>WPd<W><cZb�N�­d=�Y\bWY�N°

�YWp[YV>�Kh4�H\>\bWY��¤bV>_N\>Z¥d=Z ���2WY�K�I_P\<_N[Pd=Zb[E_N�K�N�U` Z�¢Q_NX>Z>�K£/[E_N�­�7�KW��Y£��YZb�N: ��W�[YVb�Hh,` ¦K�NWY§HW
[YV>�Kh4�H\>Z¯�HW��Y£��NZb`¯\>��W��YV<_	�Y_P�Y£/[E_ :��Y�U` °=ªb�YW�X>V>Z>[NWQf=Zb��^p�I_N^¯\<_P¢Q£/[Y_N�Hh4WYh,©vh4�HVb�N[YWYh,©
[YV>�Kh4�H\>Z9:!-��YW��N£ h4�HV¥�Y[YWY� [YV>�Kh,` \>� XbV>�H[Y£ @�_Id=W

10%
°*h�_N^T�HZbh�_Id=�Y\<_I` ª>_N�K�NWN�I_

�YV>Zb§H§H�KV<_ �4��\>�%feWPd�<c\<_�X>Vb�H[Y£ @�_P�Y�
100

� ]9:g�4�­d<Z�©�^F_N^TWY§KWP «�NW �NV>Z>§K§H�HV>_�ª<_N�­�YWN�I_ WYª>�K\>�
�YWPd=� @�_P` °b�YW�WY\<_�h4W=<��K� �Y£��N�cXbWQfe_N[Pd=�K\<_�[

n
V<_I¢Y:=5��NWcWN¢H\<_ ª<_N�­�g°eª¥�YW2�YWPd=�N^FW�^F_ <�feWY�

n
  �YWY�vXbWPd=W=<�Z¥�Y�­d<�Y\>WY�vVb� @��K\>Z>� �N©Qfe�­�¬�HªbZb�I_N\>W¬¢ _PX>Z>�H£/[Y_+: ��Z>h4�U`*©Y�­�YV>WY¨b�K�Y[NWYh/°4ªb�YW
X>V>Z>[NWQf=Zb�n^ ¦H¡�¡��H^¥�YZ>[Y\bWYh,© ©Fh4�H\>�+@��H\>ZA: Z>\b�N�H§KV<_Id=�Y\bWY¨1�H[N�K�YZbh4WY�K�NZ9°
Z¥¢Qh4�HVb�H\>\>WN¨
f	_N\>\b£/h!�YVbZ>§H§K�HV>WYh/:
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dE/dx

����������������� ��!���"$#%��&'")(*������+-,/.���01����!32����1��������45&��7698;:'�<#=��&�>��1��0?"@�A�B��#=C��1&��������
��45���)#%��!���45����+-,ED�4F�5��&�G

dE/dx
2H�I&���J���452�+-,K� ��C���&A�L,NMPO-&��Q�������SR1����&�T��1����.��10������

D�4�����&��U�A�P�V��������!�>W�AXI����+HC�45T1>Y�P:5+Z��GWD�&��V��01�<�F2FXI����+[�94�&�C\>%XI45JU]-�1�<�<^_]
XI4=,Y�U`baFcFd�e

−〈dE

dx
〉 = 4π NA r2

e me c2 z2 Z

A

1

β2
[
1

2
ln

2me c2 β2 γ2 Tmax

I2
− δ

2
] . f�g M g5h

NA i .���0jXI4lk�2545TQ�L��&�4�m re i �)X���010���.��10�����JP&��L����>�0ZRjXI�1���5&�45�A��m
me i C��F0�0=�nRjXI�1���5&�45�A��m z

i #=��&'" �oD�&�4FXI�1�<�Fp�qr�1Js.A��01����!�+S2t�V��������!��<,uRQXI��C��1���<��&���45T�4r#=��&'" �v��m
Z f A h i �F��45C���45�

.���0QXI4 f C���0�0�� h D���&��10��1�)�F��C�45J[C��F����&����wm
Tmax = 2mec2β2γ2

1+2γme/M+(me/M)2 i C����Y0���C��<XAG5�A�F"
�������j�5��.���0�� �F"xR1����&�T���"Nmy�Y4���45&A�F"zC�4%(*�1�U:5+Z�5G{D���&��V�v���A�o0�254�:54�����45C\>|RQXI������&�45��>zD�&��
01��4FXI����4�25�������}0~.A��01����!��1J}C���010�45J

M
m��

I i 0�&��Q����")"*R�����&�T1��"���45���)#%��!����wM5�l��&���C�������+��
�945&�����!A�

β = p/E
�

γ = 1/
√

1 − β2
4�D�&��Q�I�jXI�1��+�� ����45:5+�.���4�Ml�l45&�&��1��!���"

δ/2R����������<�[D)XA4��5��4�01�5�E25254����)�50?"/�AXA"/>).��1�<��D�4FXA"�&���#%�F!���45����+-,@R��������)�5452�mt� 4F�545&�+��
R�������������25��4H> &��j#%��pn��&A��01D�&�450j�5&A�����������7RQXI���)�5&���.���0��Y45T14/D�4<XA"/2�+�0�45�Y45R1����&�T1��.���+-,
.A��0j�5��!wM

��#�C���&��1��������45����#=��!���45����+-,uD�4��5�1&�Gr.A��0j�5��!
dE/dx

D�4�#=254<XA"��j�r� ���1���5���9��!���&�4525�F�5G
�),7:<X���T�4��v�F&Y"��545C\>�mZ.��54�#��A�%.��������

dE/dx
2�#%�%�v������4�JS01&��Q�I��#%��25��0����x�54<XIG5�Y4�4��

β�7���U#=��25��01���x4����1�{C���010�+�����C�D�>%XIG�0=��D�4F^�4������QXIG5��450j�5�wMZ�l#{��45&�C\>%XI+�]-�1�<�L^�]
XI4=,'�
25� ����4�m'.��54�&A��01D�&��Q�I�jXI�1��������4�����#%�F!���45����+-,WD�4��5�1&�Gt2501��T��v�9D�4���.����)"��1��0?"�0jXA�Q�I> p�qt��C\>
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D�4525�V��������pte':5+�0j�5&�4�> C�����G��*���j�50?"}D�&�������#�� 4�Cz#=���L.��������
βγ

mL��4�01�5��TQ�F"PC�������C��<XAG5��45T14
#=�A�%.��1����"NmF��C��Q�AXI�1����4n>)2��jXI��.���2'���j�50?"*D�&��t:54FXAG��r�),�#��A�%.�������"

βγ
M��~�54�&A��0�D�&��Q���QXI�������

� ���W�l> ����!��)"u��C�D�>%XIG�0=��4F�=XI��.A���j�50?"}��XA"W.���01����!u0n&A�F#=��+�C��WC���010=��C��}2t4501��4525��4�C�D�&��
����#����),o��C�D�>%XIG�0=�<,vM

� ���L.��������
dE/dx

��&���� �*C�4%(*�1�*:�+Z�5G*45D�&��Q���QXI������4}��#���#=C��1&�������Js#��A�%.�������J
dE/dx,)���5452 ��&���� ��M��l&�45!���0�0�R1����&�T��1����.��10����),�D�4�����&�G i 0QXA> .A��J���+�J D�&�4�!���010�M��-�1&�4%"��5��4501��G

�l>)����!����uD XI4��5��4501���
f(∆E, βγ, x)

D�4�����&��uR1����&�T����
∆E

254925&��1C\"WD�&�4%,54%(����1����"}.���&��1#
C��F�5�1&��A�<X ��4FXAqr����45J

x
D�4=�I.�����"��1�50?" &A�F0�D�&��V���jXA������p ����� ���%>�M	�~��4S&���0�D�&��Q���QXI�������

45:FX��%�v���1� �AXA������+�C ,)254�01�54�C 2 45:FX���0j�5� 25+�0�45���), #=���L.�������J
∆E

m .��54�4�#��A�%.A���1�
254�#�C�4L(}��450j�5G70j�54FXI����4525�1����J�0�:54FXAG��r45J D���&��V�v�%.���J R�����&�T1���wm�D�&���254��I"�qt��J��H�54�C\>5m
.��54|01&��Q�������u#=���L.��������

∆E
�A�FC���45T�4{25+��r�Fm\.���C �A����:54FXI�1�u25��&�4L")�5��4���M��~��4��|R����������

45.��1��G72'�F(*�1�[450�4�:5������47D�&���C��<XI�1��G5�Y45J[�54FX�qr�����
x

�wm�0jXI�V��452'�F���jXIG���4�m�>50QXI4%(W�)"��1�
45D�&��V���jXA�������9#=�A�%.��1����"

dE/dx
�5&���� �}��#�#��A�%.�������J{4������QXIG5��+-,s,)����452�M

� ���L.��������
dE/dx

2
CJC

45D�&��V���jXA"��1��0?" D�&�� D�45C�4Fqr� �Y45C�:5������&�452'������"
��#=C��1&�������45T�4 #%��&'"Y�v��m 0�4�:5&A������45T�4 0 �5�Q, ,)���5452 �5&���� ��m �Y4��545&�+�� D�4<XI��450j�5G5p
>=��452FXI�j�5254�&Y"�p��;45D�&��V���jXA������4�C\>7� �L.���01��2�>B4���:545&A��M�O-&��Q�������|#=�A�%.��1�����

dE/dx
��&���� �

45D�&��V���jX�"��1��0?" 0 D�45C�4�qtG5p D�&���45:�&A�F#=4�2'������"�&A�F0�D�&��V���jXA������" 25+~���jXA������4�J R����1&�T����
4�����45T14 ,)���<��0jXA�Q�I> p�qt��CK45:5&A�<#=45C�e

dE/dx → 1/
√

dE/dx
�;D�450jXA�{R1��45T�4�m~45:�&A�F�5��45�

D�&��145:5&A�F#�452'������� 01&��Q�I����T14/#=�A�%.��1����" R1�54�T�43:54<XI���S0���C�C��j�5&���.���45T143&A��01D�&��Q�I�jXI�1����"wM
� &A�����)�545&��)"[�5&��1�)�B�<���Y452'��m�.��54B0�4�:5&A������+�J #=��&'" �/0�� �F(��I45T�4�,)���<����4FXA(r����:5+Z�5G
> C���4%(*���U�A�

sin θ
mAT����

θ i D�4FXA"�&���+�Jo> T14FX M
�l4FX�>).�������4��}#=���L.��������

dE/dx
���P��45.���4{D�4���.�����"��1��0?"�> &A��25���1����p ]-�1�<�<^_]
XI4=,Y��D�4

����01�Y4FXIG5����CSD�&���.�������C�M O-&��V�����1�t#=�A�%.��1�����*C�4%(*�j�u:5+Z��Gu��0�� �F(r����4u�)#1^�#=�}�5&���:54525������"
D�45&�4�TQ�{2 ���Y0��1D��5�1��0��u,)����452�M �~25�Q�I"z>%XA> .!�*��pnqr�����Y45��01�<������+ &A�F0�D�&��V���jXA�������

dE/dxC�4%(W��4�45D���0=�F��G}0QXI�Q�A>)pnqr�1J DA��&A��C��j�5&��)#%��!�����J�` a g d e

fdE/dx = p1 ·
z2

βp2
[1.0 + p3 · e−p4·log10(0.25+βγ)] . f�g M � h

� �A�%.��������
dE/dx

��45&�C��<XA��#=4525����4��<������C 4�:5&A�F#�45C�my.)�54
fdE/dx = 1

��XA"�C�������C��<XIG5��4
��45���)#=��&�> pnqr��J�0?" .���01����!�+ f �oM#" M#$wM h M&%�0QXI��> �5&��1�)� C��1��G��r� .���C

10
,)���54�2�mz��4

��#=C��1&�������45��#��A�%.��������
dE/dx

����C�4%(*�j�9:5+Z�5G9�A�L���j(W��+�C�M('9��&���0j> ���Y� g M#) a)
D�45� �F#=����+

��#=C��1&�������+��H#=�A�%.��1����"
dE/dx

��&����Y452@� ��� �l> ����!���" XI4�TQ��&�����C��/��C�D)>LXAG50=� f ln p h25C���0j�5�90�DA��&A��C��j�5&��)#%��!�����J g M � �AXA"oD���4���452�m�� ��4���452P�oD�&�4��54���452�M
�y��D��1&�G�C�4%(}��4�45D�&��Q���QXI����GSC��j�54��$C����Y0���C��<XIG5��4�T�4�D�&���2<��45D�4=�I45:5��" 0�D�45C�4FqrG5p

��������T�&��<X���D)XI4�����450j�5�
χ2 ��XA"�4�����4�J 01�5�1D������z012545:54���+lmI>50j�<���A��2FXA��2'��pnqr��T14o"�2FXA"��1�50?"
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LH =
1√
2π

∞
∫

χ2

e−t/2 · 1√
t
dt , f�g M�� h

χ2 =
(dE/dx − fdE/dx(p, m))2

s2
dE/dx + s2

p

, f�g Mba h

sdE/dx = σdE/dx · fdE/dx(p, m) , sp =
fdE/dx(p + σp, m) − fdE/dx(p − σp, m)

2
.

k�:5014FXIpn�5�A�F"H4��r��:��)���)#=C���&�������"���C�D�>%XIG50=�
σp

2�+�.���0jX�"��1��0?" D�&��[D�4���T145�����H��&���� ��m
� �F:50�4FXAp��5���F"�4��r��:��)�

dE/dx
^_��#�C���&��1����J

σdE/dx

#%��2���0���� 4��E�Y4FXI��.���01��2'�E,)����452�m
��0�D�4FXIG�#1>5��C�+-,�2{DA��&���C��1��&���#%�F!����wm\� ����R1�54 0��I�jX�����4�2�` a g d M σp

4�:5+�.���4{#��A�%.������jXIG5��4
C�����G��r�

σdE/dx

M
%�0QXI�t.A�F01�5��!��Z:5+-X��nD�&���D���0=������D�&A�F25�)XIG5���F"tC��F0�0�4�2'�F"9T���D�4��5�j#%��m<�54�&���0�D�&��Q���QXI�������

LH
:�>=���1��D)XA450�����C 2[� �I�=�<XIG���45C 0jXA> .A���FM 'l��D�&���25�)XIG��A�F"3(*��C���0�01452'�F"@T1��D�4����1#=�

D�&���2�4=�I����� � 4���!����)�5&A��!���� .A�F01�5��! 4�� 4<XI4
LH = 0

M&�~��4�D�4525�Q�I�������@D�45� �F#%����4
�A� &���0j> ���Y� g M ) b) m �A� �Y4���45&�45C D�45� �F#=����4 &A�F0�D�&��V���jXA�������

LH
�AXA" �5&��1� 4�2 0

T���D�4��5�j#=45J � ��4��A� 	%M[����� 2�� ����4�m[�)# Rj�545T14 &���01> ��� ��m�&A��01D�&��V���jXI�1�����
LH

���
0�452�0���C D)XI4501� 4���mKD�45Rj�545C\>�m3���<XI���Fm/�AXA" 45D�&��V���jXA������" T���D�4��5�j#=+ � ��45�A�)m@:�>=���1�
��0�D�4FXIG�#�452'�F��G50?"���4�&�C��<XI��#�452'�����A�F";��> ����!���"�C��F� 01��C��<XIG���45T�4zD�&A��2L��45D�4���45:���"

LNK
m

�Y4��545&��F"o45D�&��V���jXA"��1��0?"�0jXA�Q�I> p�qt��C745:5&��F#=45C�e

LNK =
LHK

LHK + LHp + LHπ + LHe + LHµ + LHd
, f�g M � h

T����
LHp i T���D�4F�5�1#=�PD�&�4��54��A��m

LHπ i D���45�A��m
LHe i RQXI������&�45�A�)m

LHµ i C�p�4��A��m
LHd i����J)�5&�45����M

'l45&�C��<XI��#�452'�������F"���> ����!���" C��F� 01��C��<XIG���45T�4 D�&A��2L��45D�4���45:���"
LNK

D�4�#�254FXA"��1�
�545.������H4F�����jXI�)�5G@T X���2���> p T���D�4��5�j#�>�mu2��v�F����45C�0QXA> .A��� R1�54/�)�F45�wmP4����I&�> T��),vM �
&A�F#Q���jXI� � M al:�>=���j�rD�4���&�4�:5��4t4�D���0=�F�uC��1��4=�s45D�&��V���jXI�1����"�R1���9�1���5��25��450j�5�u�5&���:54525������"
LN

M '�� &���01> ���Y� g M#) a)
��&A�F0���+�C�� D�45.�� ��C�� D�&��Q�I01�<��2FXA����+ .A��0j�5��!�+lm �Y4��54�&�+��

0�454F�525�j�501��2�> p���T1��D�4����1#=�W� ��45�A�*0
LNK > 0.05

M


�� H�#%. ' �%)"�% "�*/�� �"��,*.0 "�0/�60��#0�:9
dE/dx

D �B����)*#%��
 �"CB���*�@9�#%.0 "�0CB. �" "9 CB�0.0)*.18�� ,*.1H�#%. '(6 /��������
.151��6�� ����� #0�:9 8 . ��)*.180)*. ' C@�%.1)*2 J
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����0�M g M )�e '���&���0j>)��� �
a)

D�&��Q��0j�<��2FXI�1�A�x25�jXI��.����A�
dE/dx

�)�F�7��> ����!���"
ln(p/ � R � )

M
���QXA�<�F"Nm�.��1&��A�F" � #��jXI�1���A�F" XI������� D�4��)�<#=+�2'��pn� DA��&���C��1��&���#%�F!���p f�g M � h �AXA"
D�&�4���45��452�m;� ��45��452 � D���45��452 0�454F�525�j�501��25������4�MB�l&A��01��+�� �54�.���� �A� &���01> ���Y�

a)0�454F�525�j�501��2�> p�� T���D�4��5�j#=��mz.��54 .���01����!A� "�2FXA"��j�50?" � ��4���45C 0
LNK > 0.05

M '��
&���0j>)��� �

b)
D�&��V��01�<��2<XI����4z&A��01D�&��Q�I�jXI�1�����o��> ����!���� C����Y0���C��<XAG5��45T14zD�&���2<��45D�4=�I45:5��"

�AXA"oT���D�4��5�j#=+[� ��45���
LHK

M
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/9XA" 4���:545&A� 0145:5+Z�5��J ��4���45&�4%(*�������)" ��0�D�4FXIG�#�452'�<XI0?" ��&���T1T���&

S83
m �Y4��54�&�+�J

�5&��1:5452'�LXED�&���0j> ��01��25���BD�4�#����5&�4��A��m�#=��&��1T���0j�5&���&�452'������45T�4�2HD�4F#=����&�45����4�C �<�FT�T��1&���m
&����Y45��01�5&)>)��&�452'������45JB25��& �r����+ 0145:5+Z����"�� �A�<XI��.����{D�4���&A�FJ�����J;C���&��o�5&��Q, �5&��1� 4�2
2103240�0�D�45D���&��1.���+�C ��C�D�>%XIG50145C

pT > 0.4 � R � ��XA"u� �F(*��45T14t��#l���),vM
�-��&)��>'�LXIG5��450j�5G
��4��545��� R1� 01D���&���C������<�LXIG5��4745T1&A������.�������� #=���L.��������1C

Q2 < 10−2 � R � 2 M �-����&�T1��"wm
��#=C��1&������A�F"s2rD�4F#=����&�45����4�C �<��T1T��1&��l��0�D�4FXIG�#1>5�1��0?"s��XA"u45D�&��Q���QXI������"sD�4FXI��45J�R����1&�T����
γp

^_0j�54FXA����4525�1����"
W

M
/9XA" �545T14�m�.)�545:5+ > C�����G��r����G 25� X��L� ���

ep
^_��45�A� � ,'45&�4��r4B&��1� 4���01��&�> ��&�452'�<�5G

�������1C��F�5����>o0�45:5+Z����"wmI:5+-XA�UD�&���C������1��+H0QXI�Q�I> pnqr���r��&����5�1&����U4��5:54�&A��e

• O-45:�+Z�5��"�4���:5��&A��pn�50?"Nm���0jXA� &��1�Y45��01��&�> ��&�4525�����A�F"�R1����&�T1��"�!�����&A�@C���0�0
γp

^
0���01�5�1C�+ D�&����A�L��XI�1(}�������)�5��&�2'�<XA>

174 < W < 256 � R ��M��~��4�0�454F�525�j�501��2�>5�j�
0�&��Q�����1J{R1����&�T1��"U!�������&A�}C��F0�0

γp
^_01��01����C�+ 〈W 〉 = 210 � R ��M

• O-45:�+Z�5��"�4��5�)XA45��"�pn�50?"Nm\��0QXI��2{��4���45����4�CS���1��������45&��u#=��&���T1��01��&���&�4�2'������4��54��
0{R1����&�T����1J

Eγ > 2 � R ��M��~��4��5&��1:5452'��������D�4��v��2<XA"��j��0jX�>).���J���+�� 014525DA�L�I������"
5)687:9;6Q^�6<6 "=7?>@6BA 0�45:5+Z����Jwm/#=��&��1T���0j�5&���&�452'������+-, 2 D�4�#=����&�45����45C �<��T1T��1&���m@0
��45��452�+�C��U2�#=����C�4����1J�01��25��"�C��U0�4501�<�F��45.���+�C7TQ�<#=45C;2�>�0��Y45&��)�5�jXAG5��45C7� ���A�LXI��M

• O-45:�+Z�5��" 4���:5��&A��pn�50?"Nm ��0jXA�
z
^��Y4545&������A�<�<� 25�1&!�r����+ 2�#=����C�4����1J�01��25��"wm

&��1� 4���01��&�> ��&�>5�1C��F"wm|��01D�4FXIGF#�>�"C03240�msXI�j(W�)� 25��>Y�5&��
35
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ρ(770)0 � K∗(892) � φ(1020) � � �
	 � � ��� � c

D�4�#���!����
ep
^�2�#%����C�4=�I��J�0j�525��JNM

� &��1:5452'�F����" ��&���T�T1��&A�
S83

D�4��v��2FX�"�p��K> D�&�> T1���$� ������&A�F��!���45����+���0�45:5+Z����"wM

��545:5+ �1qt�70��)XIG������SD�4��v��25�)�5G�25�)X��%�E�I����&A����!���45����+-,KD�&�45!�����0�4�2$2[4���45:5&A�F����+-,
�v������+-,Nm���&���:�452'�<XI4�0�G�25+~���QXI��������R1����&�T1���oD�4���&A��J�����JoC���&��

500 � R �S2*� �<XI4�&���C��1��&��
��� A�2l��������&�25�<XI�nD�0��12<��45:5+�0j�5&�4F�5+

2.03 < η < 3.26
M5��# � 45�)�5�n����&)XI4lC�4����QXI��&�4525������"

:5+-XI4 25� ����4�m�.���4 D�4�0jXI� D�&���C��1��������" Rj�545T14 ��&���:�452'�����)"wm74���45:5&A������+�� ��������+��
25�)XIp�.A��pn��2 0���:%";C�����G��r�

1%
������&A�F��!���45����+-,�0145:5+Z����J�0

XIP < 0.05
m�T����

XIP =

M2
X/W 2 m MX i ����2'��&��A�������A�F"oC���0�0��}�%��&�45����45J��I����&A����!���45����45Jo0���01�5�1C�+lM
�745:Fqr��Jo0jXA4L(}��450j�5�wmI45�Y4FXA4

1.8 × 106 0145:5+Z�5��JU>=��452FXA�1�52�45&'"�p����v������45C\>�4���:545&�>�M

����� � %��.!�� ����&�� %  %"!#�$� ,.&.%�%��&� ,'� , �(�*)"�+%�, (),' *,�

!$&.,'-.-/�3&(�
/9XA"*�Y45&�&��1��!����t�v�F����+-,*D�4lR�������������25��450j�5�P�����Y0��1D��5�1��01>t���j�5�1���545&��9��01D�4FXIGF#=452'�LXI��0�G
�5&��U&A�F#���+-,o250�D�45C�45TQ�F���jXIG5��+-,{� X���0�0��P0145:5+Z����Jwe

• � 4����5� ����&)XI4�C�4����QXI��&�4�2'������� D�&��BD�45C�4�qt�1032�4 6657� ` ��8�d�T1�����1&A�F��45&A��M ]-+-XA4
0�T1�����1&���&�4�2'����4

5
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D�& ��� 0 � ��2<X � �A� 2 2�� ��� ε = εrec · aetag · a3 · εtrig · εdE/dx

M
�-��� � � � ��2���450 � GE& � �Y4���0 � &�> ��!���� C � #=4���4�2 εrec

25�)XIp�.A� � � 2/0 � :%" T � 45C � � &���. � 01����J���Y0 � D � � ��0 � R1�9� � � � ��2���450 � G7& � �Y4���0 � &)>)��!���� � & � �Y452�M�DE���;D�4 � 01.�� � ���A�)m ��01D�4FXIGF#�>�"
� 4�� � � �9�F&)XI4�C�4 ��� X	��&�452'����� � �P&���2��A��D�4���&���J�� � JPC � & � 45%

D�&�� ����#����),
pT

�*&A��0 � � �
� 4 90%

0;>)2 � X	��. � ��� � C pT

M * 0�& ��� � � ����+�J ���Y0 � D � � ��0BD�4�#�� � &�4�����45T14 � ��T�T � &A� aetag&A��2 � ��D�&���:FX	��#�� � � XIG���4 50%
m �Y4 � 45&�+�J�45D�& ����� X � ��� ����2�` a�)Fd M�� &���T � &���+�Jx���Y0 � D � � ��0

a3
� & � :�> � � D�4$��&A��J�� � C � & � � &�� � & � � �30

pT > 0.4 � R ��m�& � �Y4���0 � &)>���&�452'������+-,
��#oD � &�2���.���4�J 2 � &!�
����+ 2�#=����C�4 ��� J�0 � 2���";2 03240�M.DE�xD�4 � 01.�� � ���NmM��0�D�4FXAG�#�>F" � 4�� � �����&)XI4 C�4 ��� X	��&�452'����� � 0 032 4 6 57� � 0�6�@ 2BA 4 � 25��&�G���&)> � � 0?" 4 � 50% � 4 95%

M
� &���T�T � &����F"7R���� � � � ��2���450 � G εtrig

D�4 � 01.�� � ���A� ��# � ������+-,Nm*��0�D�4FXIG�#1>�" � � #%��2���0���C�+ �
� &���T�T � &A��m �z&���2��A�sD�&���C � &���4 90%

M��-��� � � � ��2���450 � G dE/dx
^ � ��� � � ������� ��!����z.A��0 � ��!

εdE/dx = 1 � XA" � � , ��� � � &�2'�<XA452�m�T �	� dE/dx
^ � ��� � � ��� ���)�F!���� � XA" �)�F4���452�� �

��0�D�4FXIG�#�452'�<X��F0�G�m�0�C�4 � &�� � � 2 � �F:FX	��!�> � M 85M
εdE/dx = εK

�
εdE/dx = ε2

K �
XA"

K∗0

�
φ(1020)

01454 � 2 � � 0 � 2 � ����4S2 ��� � � &�25�<X��<,vm�T ��� dE/dx
^ � ��� � � ������� ��!���� � XA"H�)�F4���452

��0�D�4FXIG�#�452'�<X��F0�G�M
εK

45D�& ����� X � ���}2���45&�C\>%X �}f � M c h M

�.��� � )����'�"� ,'� (), ()!��" ��! , �'� ( �.,�� %
	 ,.#'% �
O � � � ��0 � ��. � 01�)�<";4��"��:5� � �A�<,'4 � � � 0?"�2UD�& ���	� X��<, 7 −15% � XA" ρ0 m 10 −18% � XA" K∗0

�
13 −24% � XA" φ(1020)

^_C � #=4��A�)My�l4FX�>). � ��+K45! � ������0QX ��� >)pnq"�),�25�)X�� � 452{2{D�4FX	��> p
0���0 � � C�� � ��. � 0��)>)p@4��"��:5�)>ve

• � � �Y4���0 � &�> ��!��)" � & � �Y452545JUR���� � � � ��2���450 � � f 4% h M

• �l45&�& � ��!��)""�A� � &���T�T � &���+ � R���� � � � + fI� 4 6% h m6��0 � 45.������ ��C �*�Y4 � 4�&�+-,t"�2FXA"�p � 0?"
��#�C � & � ����" � &���T�T � &���+-,|���Y0 � D � � ��0=� �UR���� � � � ��2���450 � � 2}&A�F# �	� X��<, � M���M g � � M ��M �0�4�4 � 2 � � 0 � 2 � ����4�M

• k�� 0 � D � � ��0tD�4�#!� � &�4�����45T�4 � ��T�T � &A� f a + h M

• ��#=C � � � ��� � �
��&�����+ f0(980)
^_C � #=4��A�*4 � ��� � R � � 4U8 � � � R � fI� 4 7% � XA" ρ0 h M

• dE/dx
^ � �	� � � ������� ��!���� � ��4���4�2 f 6% � X�" K∗0 � 12% � XA" φ(1020)

^�C � #=4��A� h m�Y4 � 4�&A�F"o45:50j> ( � �<XI��0�G�2P&A�F# �	� X � � Mba)M



� ��� 	 � ����� � � � � ��� ��� ��� ρ(770)0 � K∗(892) � φ(1020) � � �
	 � � ��� � �

• ��#=C � & � ��� � 012 � � ��C�450 � � f 2% h M

• ��#=C � � � ��� � D���&A��C � � &���#=��!����{� 4�C�:����A� � 45&���4�T�4P�94��A� fI� 4 5% h M

• �Z�F&��A��!��)"/�Y4FX	��. � 0 � 2'� 4 � &A�F( � ����JNM /9XA" ρ0 ^_C � #=4��A�S25+-,'4 � ω
�

K∗0 ^�C � #�4���452
��#�C � ��" XI0?" �A� 20%

m�. � 4uD�&���2 � XI4u� � � 45D�& ����� X � ����4�0 � � � 4 4%
M /9XA"

K∗0 ^_C � #�4��A�25+-,54 � ω
m
ρ0 � φ

^_C � #=4���4�2 �)#=C � �)")XI0?"��A� 20%
�UC���010=�

ρ0 ^_C � #=4��A� ��#�C � ��" X���01G �A�
2%
��#1^�#%�*R���� � � � 452u]��Z��mA. � 4PD�&���2 � XI4P��� � 45D�& ����� X � ����4�0 � � � 4 15%

M
O~> C�C���&���4�0���0 � � C�� � ��. � 0���� � 4��
��:5��� �A��0 � . � ��� � 2'��&�G���&�> p � 0?"�2�45:<X���0 � � 10−12%

� XA" ρ0 m 11 −21% � XA" K∗0 � 10 −17% � XA" φ(1020)
M

�.� �  "#'(���� ! �"� ,'� &(�*) �6� � !9� !$%+%
�E���)XIpn#!��2���4 � � ��� ����&A����!���4�����4 � 0 � . � ��� � ��4 � 45&�4%( �	� ����" � XA" ρ0 m K∗0 � φ(1020)

^
C � #�4���452�:5+-XA4�D�4 � 0�.�� � ����4s2u����� � C�� � ��. � 01�Y45J�45:<X���0 � � Q2 < 0.01

� 6�� 2 m 174 < W <

256 � R � ��2o2�� � ��C�45C �9�F#�452545CSD�&�4�0 � &�����0 � 2 � C � #=4���4�2 pT > 0.5
� 6�� � |ylab| < 1

�
&A��2���4

σγp
vis(γp → ρ0X) = 25600 ± 1800 ± 2700

��:�m
σγp

vis(γp → K∗0X) = 6260 ± 350 ± 860
��:�m

σγp
vis(γp → φX) = 2400 ± 180 ± 340

��:
.

� � &�2'�<"U4��"��:5� ��0�454 � 2 � � 0 � 2�> � � 0 � � � ��0 � ��. � 01�Y45Jwm �*2 � 4�&A�F" i 0���0 � � C�� � ��. � 0��Y45JwM � �	� 0�G
� � �<X ��� K∗0 ^_C � #�4��s45D�& ����� X � �o�)�F�o0���T����<XU4 � .A��0 � ��!�+ �o��� � ��.A��0 � ��!�+lm ��� X � ����+�J �A�
2
M
/
����� � & � ��!����<XIG���+ � 0 � . � ����"s��4 � 45&�4%( ��� ���)" ρ0 m K∗0 � φ

^�C � #�4���452rD�& ��� 0 � ��2FX � ��+2 � ��:FX	��!A�<, ��M 8 � ��M g � �A��&���01> ��� � ��M 85M �P��> � &�� ���A�<X	��#���&�> � C�45T14 ��� � � &�2'�<X���D�4
:5+�0 � &�4 � ��C�m
0 � . � ��� � & � #=4��A����01452�� � #=��2���0�� � 4 � :5+�0 � &�4 � + 2 D�& ����� X��<,���#�C � & � ����+-,4��"��:545�wMPO-D � � � & D�45D � & � .���45T�4 ��C�D�>%XIG50�� � X�" ρ0 m K∗0 � φ

^_C � #=4���452�C�4L( � � :5+ � G
45D���0����s0lD�45C�4�qtG5p[�l> ����!���� f 8�M 8 � h m�T �	� dσ/dylab

2*25+�&A�F( � ����� f 85M 8�� h 0�4�4 � 2 � � 0 � 2�> � �>501& ��� � � ����4�C\> #!�A�%. � ����p 0 � . � ���)" D�4 ! � � � &A�<XIG���+�C :5+�0 � &�4 � ��C 〈dσ/dylab〉|ylab|<1

M
� �A�%. � ��� � D�45� �F#%� � � XA" 0 � � D � ��� n

#=�������Y0���&�452'����4��A�
6.7

m��Y4 � 45&�4 � ��#��A�%.A�<XIG���4:5+-XI4 ��#�C � & � ��4�m"��0�D�4FXAG�#�>F" � ������+ � D�4 ��#=C � & � ����p 0�D � � � &A�[#%�F&Y")( � ����+-,@.A�F0 � ��!
0�4 � &�> � ����. � 0 � 2545C '�8�` � a)m ��� d mM��&A��2���4

n = 6.7 ± 0.3
M~O � � D � ����4 � &A��0�D�& ����� X � ��� � 0

R � ��C7#!�A�%. � ��� � C n
4�D���0�+�25� � � � ���)( � 0 � . � ����" K0

S

^�C � #=4���452�m Λ0 ^�:'��&���4���452U` � g d � D∗± ^
C � #�4���452 ` � � d�m ��#�C � & � ����+-,��A��66A �9�tm � ��� R � 4�D�45� �F#%����4 �A� &���0j>���� � ��M g MnO
,'4%(��F"



� ��� 	 � ����� � � � � ��� ��� ��� ρ(770)0 � K∗(892) � φ(1020) � � �
	 � � ��� � )

1
π

d2σ
dp2

T dylab
[
��:�� f � R � h 2]

pT
` � R �~d pbin

T ρ0 (K∗0 + K
∗0

)/2 φ

[0.5, 0.75] 0.63 5610 ± 870 ± 590 1190 ± 130 ± 200 383 ± 54 ± 60

[0.75, 1.0] 0.87 2440 ± 180 ± 260 621 ± 68 ± 80 264 ± 34 ± 37

[1.0, 1.5] 1.22 680 ± 55 ± 70 176 ± 18 ± 21 76 ± 12 ± 11

[1.5, 2.0] 1.72 142 ± 15 ± 15 48.0 ± 5.2 ± 5.1 19.1 ± 3.3 ± 1.9

[2.0, 3.0] 2.41 29.9 ± 2.3 ± 3.1 8.96 ± 0.90 ± 0.98 3.48 ± 0.76 ± 0.34

[3.0, 4.0] 3.43 3.06 ± 0.42 ± 0.33 1.21 ± 0.17 ± 0.14 0.46 ± 0.11 ± 0.08

[4.0, 7.0] 5.09 0.276 ± 0.037 ± 0.033 0.079 ± 0.014 ± 0.009 0.0335 ± 0.0081 ± 0.0057

�\��:<X	��!A� ��M 85e �E���)XIpn#!��2���4 � ����2'��&��A��� � ��4 �
� ����� � & � ��!��A�<XAG���4 � � ��� ����&A����!���4�����4 �0 � . � ��� � ��4 � 45&�4L( ��� ����" d2σ/πdp2
Tdylab �

XA"
ρ(770)0 m K∗(892)0 � φ(1020)

^�C � #�4���452 2
45:FX��F0 � �7:�+�0 � &�4 � |ylab| < 1.0

2 ��� � � &�25�<X��<,�D�4
pT

M~� � &�2'�F";4��
��:5� ��0�4�4 � 2 � � 0 � 2�> � �0 � � � ��0 � ��. � 0��Y45Jwm �@2 � 45&A�F" i 0���0 � � C�� � ��. � 01�Y45JwM./9XA" � �F( � 45T14 ��� � � &�2'�<XI�ED�4
pTD�& ��� 0 � ��2<X � ��+�� ���o45:FX��F0 � G ��� � � &�2'�<X���m � �����s! � � � &A�<XIG���4 � #��A�%. � ��� � pbin

T

M

dσ/dylab

` ��:�d
ylab ρ0 (K∗0 + K

∗0
)/2 φ

[−1.0,−0.5] 11000 ± 1000 ± 1200 3360 ± 350 ± 720 1440 ± 250 ± 220

[−0.5, 0.0] 13100 ± 1100 ± 1400 2520 ± 270 ± 360 1080 ± 120 ± 160

[0.0, 0.5] 10400 ± 1500 ± 1100 3070 ± 300 ± 440 1440 ± 130 ± 220

[0.5, 1.0] 14600 ± 1300 ± 1500 4280 ± 440 ± 790 1610 ± 330 ± 250

�\��:<X	��!A� ��M g e �E���)XIpn#!��2���4 � � ����� � & � ��!��A�<XIG���4 � � ��� ���9&�����!���4�����4 � 0 � . � ��� ���4 � 45&�4L( ��� ����" dσ/dylab �
XA"

ρ(770)0 m K∗(892)0 � φ(1020)
^_C � #�4���452 2 4�:FX���0 � �

D�45D � & � .���45T�4 ��C�D�>%XIG50=� pT > 0.5 � R � 2 ��� � � &�2'�<XI�<, D�4
ylab

Mo� � &�2'�F" 4��"��:��)�
0�454 � 2 � � 0 � 2�> � � 0 � � � ��0 � ��. � 0��Y45Jwm ��2 � 45&A�F" i 0���0 � � C�� � ��. � 01� 4�JwM
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� ��0�M ��M 85e �����)XIp�#���2���4 � � ����� � & � ��!��A�LXIG���4 � � ��� ����&A����!���4�����4 � 0 � . � ��� ���4 � 45&�4L( ��� ����" � XA" ρ(770)0 m K∗(892)0 � φ(1020)
^�C � #�4���452�D�& ��� 0 � ��2<X � ��4 ��� a)� ���W�l> ����!��)"WD�4�D � & � .���45T14"��C�D�>%XIG�0=��2 |ylab| < 1

� �A�
b)

� ���P��> ����!���"u:�+�0 � &�4 � + � X�"
pT > 0.5 � R ��MI�l&���2'�F" �A��&���01> ��� � a)

0�4�4 � 2 � � 0 � 2�> � � D�4 � T�4���� � 0 � � D � ����4�J ��> ����!�� � JNm��0�D�4FXIG�#1>)pnq � JH25+�&A�F( � ��� ��f 8�M 8 � h 0
n = 6.7

M D � ��4�� � ���)" 8 	HG 7
G � ��� 	;6�> :UD�45� �F#=����+
� XA" � 4�� � � ����&)XI4�0���C\>%XA"�!���� 032 4 6 57� f #%����&A��� � ����+ � � 45.���� h � 0
6�@ 2BAC4 f D�>�0 � + �
� 45.���� h ��� c)

� ���U�l>�����!���"{D�45D � & � .���45T�4 ��C�D�>%XIG50=�P2 |ylab| < 1
���A�

d)
� �����l> ����!��)"

:5+�0 � &�4 � + � XA" pT > 0.5 � R ��MNO � � � ��0 � ��. � 0���� � �U0���0 � � C�� � ��. � 0���� � 4��"��:5����0jXI4%( � ��+��2'� � &A� � ��.���4 ����R � �),o&���01> ��� �<,vM
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h±, H1 Data
K0

s, H1 Data
Λ, H1 Data
(D*+ + D*-)/2, H1 Data
ρ0, H1 Data
(K∗0+ K

∗0)/2, H1 Data
φ, H1 Data

H1

f(E
kin
T   ) =

A

(ET0 + E
kin
T   )

n

n = 6.7

� ��0�M ��M g e��E���)XIpn#!��2���4 � � ����� � & � ��!��A�<XIG���4 � 0 � . � ��� � �94 � 45&�4%( ��� ����"�� ���;�l>�����!���"
D�45D � & � .���45T�4���C�D�>%XIG�0=��M��l&���25+ � �A��&���0j> ��� � 01454 � 2 � � 0 � 2F>)p � D�4 � T14���� � 0�D�45C�4FqrG5p
0 � � D � ����45JB�l> ����!���� f 85M 8 � h M-O � � � ��0 � ��. � 0���� � ��0���0 � � C�� � ��. � 0���� � 4��
��:5����0QXI4%( � ��+��2'� � &A� � ��.���4�M

��45&�C��H2�&A��01D�& ���	� X � ����� D�4[D�45D � & � .���45C\> ��C�D�>%XIG50j>5m"��4 0 � &�> T���C �K#!�A�%. � ����"�C �DA��&A�FC � � &�452 n
�

ET0

m :5+-X�� �A�F:FXIp ��� �A� � XA" 0�D � � � &�4�2 #%��&'"�( � ����+-,�.A��0 � ��! 2
� � &�4�����+-, 0 � 4FXA����452 � ����" , ` � )�m � cFd M � � #1>LXAG � � � + D�4 � T14������ �l> ����!�� � J f 85M 8 � h � XA"
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� % � � � ������= 	 � 8 � � � 8 � � � 	 � �B	 � 8 � � � � � � � � � � ��� � ���B� � 	 � ����� � � ����� � 0
��0 , �7�.(��B� �0� ��� � � dE/dx � � �	� � � ������� � ����� � *"�Y0 , � 	���� � � � � $&` � , 	�� ������� ���0���0 � � � � � ��. � 0"�L� � ���  . � ��� � � � �#������� � 	����50 � � = � � � 8 � 1*����� � � + � 0 , � � � 	 � +� � 	#��� � ��� � +3. � 0 � ��� � 	��I� ��� ��� � + � γp � pp

� � � � � � � � � ���<� �	� =�0 � � ���L+ , 	��
��� 0"���#��=[*�� � 	�-����@%
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� , � 	 �� L1 �5. � 	 ��� (5+��5.  ��� 	 � ��� � (E-K�  8 ���  �1 , 	����!� � � � �.(����50 � (S0 � � � �  � �� .������  	  �#� � � � � � � � 1 � � � 	 �B1 � ��	���� � ��� � ��.  � �50 � � � � �"�� � � , ��0 � � ��� � �  ��� � � 	 � 0�� � +� �6� � . � 0"��� ��� ��� � 0 � ���  �	��	  L1�3"� = � �� .�����= � � �<�50B� � 	 � � , ��0 � ��������� � � ����� � ��� � ��<� � =?	 � 8 � � � %� 8 � � -"� ��� 	�� � � %���% / � �����.� �7 � �U% �
%
	<��	 � � � ���#� ��� % � %�
 � =�� �B�7 � ���	�- � ����� � ��� 1 �<���L+ � �� .�� � + �#��� � � � ��	�� � ��� � ��A.E 2 � ��� � 8  	�-�� � �)� 	 � 8 � � � �*B�Y0 , � 	���� � � � �!$&` %� 8 � � -B� ��� 	�� � 	 � � � ��� � � � � � �<� � = � �� .�����=R	 � 8 � � � � 0B� � 	  !� ����. � 0 � �����
` 4������ 7?9��
� A 6B6 �
�?9HG�� � A 	
	�� � 6 � � >��V� � , ���<� 3 ( � , � � -B� � � � � � 0 � � � (���� `�� � , � . � � �@%� +��5.  , � 8 � � -"� � � 	�� � ( ��%HNU% ����� 	����.� �0� �"!9%$# % � � �D� ���	��� � � � 0B��-K� � 0�� �
8 � � ( � ,�, ��� � � � � � � �<� � = � ��0�0 � 	 � � �����@%%� 8 � � -B� ��� 	�� � NU% � % / �7�.-"�'& � ���  � ���	�- � ����� � ��� 1 � � � �/���[�����. #3"� = ��	�- � ����� � ����� � � % �
%(� � 0B�����#���  � � , 	 ��� 0 � ��� � � ��� ��<� � = � ��010 � 	 � � ����� � � ��0�0 � 	 � � �������������70"� ��� � � %)U�5.  ��� 	 � ��� � ( 8 � � -"� � � 	����50 � ( -B	  ,�, �  . � ������-"� 0 � ��	 � � � 	0�*�U%+��%,� � 0��L�.( �B�7 �	/% � % � ��� � 	 � ������= �-�U% � %.#���	�. � -�������= � � , ���<� 3 ( � ��	�- � ����� � ����� � �73 � � � �<� � =
� ��010 � 	 � � �����@%� 8 � � -"� � � 	�� � 0 � ����� �#�7��� � - � � ��� �+/10 � D!%�� %2
 � �.( � � � ��. � /T% DU� � 	�� �7 �
�U% � �������  � � % � ��� � � � �� � � %@P � � 	  +����  � / % * -K�.� �� � � %3#Q	���+0� � ���  � /T%4! � ��� ����� �7 �P
%VP � +L�)� �� � � % �E�"� ����	�� �� � !9%VP
%5! � � � � ��������= � 	/% �"���	���<����� � ��= � �U%6
 � + � 	�. � ���#� �/]%�/ ��� � 	 �"� ��=R� � � ����-"�5.���0 � � ��� �N� , �7� � �!� �N� � 8 0  � �	� ����� � , ���<� 3 (�%

� � � , 	���� � ��� � � ��� � , � 8 � � -B� ��� 	�� � ([�<����+
�#�7��� � - ���P0B� � 	  !� ����. � 0 � �0�
�
` 0U% �7� �
G � ��� � � � %�E � 9 � 6 ��� �98 � E�%�E � 9
�:� 7?7 � �
% � A;� � 	;9HG���� 6�A � � % 4 A G�� � � A � � %5< >=6�� � � 2�% �&G�� >@6BA �2�%'4 �;A �HG � � � %(0=�=7 
B> �?> % 5)6�A;8 6�A � 0 %'4 A � � 6B> � 2�% ������
 � <
% 0*G��47 �
� � �
% 0 � �47:A 6BA G � �
� %@< � � 7 � � ��� � � % � A�G'A �B� � �C� � �U%@D#� � ��� ��� � �U%9! �"� ������� � � @!% 5 6B9
�
� 6 � 0U% �E� � >@6�A � � % � 6�> �� 7?6 G�	 � < % ��G � � �F<
%/�(��G
�>G � � , �7� � ��� �N� � 8 0  � ��� ����� , �7�  . � ��� � +E	 � �  �.( � � � � � �
, ���<� 3 ( � , � � -"� � � � � � 0 � � � � =H� , � . � � �H� `JILKM� %

N�S
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 � N K
� 8 � � -B� ��� 	�� � ��������. � 0B�#���  �#����	 � ��� � � ��	  5U% � � 9HG��47 � ��� 0"� � 	  !� ����. � 0 � �0� E 4 � �� � , �7� � ��� �N� � 8 0  � ��� ����� 	 � �  �.( � � � � � , � ���B� � 	 � ��� 1 ������� 1 ��� � ����-B�J	���� ��� ����� ρ0 �

K∗0 � φ � � � �B����� � � �
��� � � � � ��	 � E 4 � �6%
� � � 8 � +�� � � �.�50B( , � 8 � � -B� ��� 	�� � ( �<����+ � 	  � � =%	/% � � ������� �0� � � % ! � .��#� � 0"�  L1 �

D!%$! � .��#� � 0B�#��-"� � � % D_	 � 8 � � 1 � � � % D_	 � 8 � � 1 � � /T%�
 � 8 ��	�� �0� � � % !6��� � ������� �7 �
� %�/ � � � �0� �
� %@# � 	 � 0 �B�� � 	/% �? 	 � & �����  � �U% �\� �  =L� � ���#� � � %
������+0� �� � � , ���<� 3 (
� , � ����� 	0�;�  %/ � ��� � ��+��5.  Q��� 	 � �!� � (U-K�  8 ���  L1 , 	����!� � � � �.(����50 � ( � 0 � �[�<�����  .�� � � �)��� ��� >��
��& �L�X� � 8 P+D � � #�:R- % � � �7� 	�� , �X�)� � � 0 � � , 	 � , � �����0� � � �)��� � � / � � � ��+ � 	  !� ���-B	���� � � = � ��� �6� 0 � ����+  0����	��= � � � ���?� � � � � ��.����50 � (�%� 8 � � -B� ��� 	�� � �
% � % # � � �#� �7 � 0"� ��� � � �#� � ��	���-B� 0����.(���� , ���<��-K�	� � � � , 	��
, � � -B� � � � � � � � � 0 � � � ��010 � 	 � � �����@%)U�5.  ��� 	 � �!� � ( 8 � �B-B	 � ����.��  L1 8 � � -B� ��� 	����50 � ( �<����� 	�� � � � � �)���/]% /T%C#Q	�� , � � �������#��=�� ��% � %L#Q	�� , � � �������#���  � �<� � �  8 	 � �  /T%C�U%C#Q	�� , � � �������#���  ��#��� � .����T� � �<� � �  0 � �  �P� � � #Q	�� , � � �������L���  � 8 � � , ���<� 3 � � , � ����� 	0�;���H�#� � ��	 � +* � � 	 � 8 � � � � 	0� � �	�?�#��- ���X� ��� 8  !� (  L� � ��� � � 8 � 0 ��� � %
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` % ` #���� � � � � ��� � ep � 	 � 010 � �������M% 030 ����� � . ��� � 
3/ � � > 0 I?� /]%D%&%6%&%6%6%&% ` �
` % ' � � 	  � �  	�� � � �  ��������� F p

2
� ���B� � 	 � ��� � � � *B�Y0 , � 	���� � � � � �
` �	 � 8 � � � � ` S � % %6%&%6%6%6%6%6%&%6%&%6%6%&%6%&%�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% ` '

` %�� �A��� 1 0 � 	 � �����{0 � 	  ������=\�<� ��� �	� �6� 	�������� � ����� � �
�
	@%R%6%6%6%6%6%&%6%&%6% `BK
` %�� �6� 	���0  ��� � +30 ��� 	�+  , ��� � � � ������� �0� 	�� � � � ��� � 0 � . � ��� � � � 	#��� � ��� � +

� 	 � �L� � � γp
� � � � � � 0B�  !��� 	 � �����L+ � � � �  ��������� , � , � 	 � .�����-B�

��� ,  �.(50 � pT

� � -"� , � � -"����� � �  ������� � = � , � � .������ 1O3"� =�02�|0 � � , � �������  � � �#���  � ` % ` ��� % ��� 	���0  ��� � 0������  , ��� � � � ��� ��� �0� 	�� � � � ��� � 0 � . � ��� �� � 	0��� � ��� � + � 	 � �L� �D� pp � 0"�  !��� 	 � ������+ � � � �  ��������� , � , � 	 � .�����-B�
��� ,  �.(50 � pT

, 	��:	 � �!����=:*�� � 	�-���� 0 � �7�.����� ��� ����= � 0���0 � � � � � � � � 	 �� � 0�0 � �0� 	�(���	  L1O3"� =�02�R� � 53
D_*�� � � 1800

DV*���� ��� �0� 	�� � � � � �N� 0 � . � �����
����	�� ��	�� �0� � � � � , � � -B�����  0 , � � � 	 � 0 *�� � 	�-�� � = � � � � � 	 � � � 0�0
√

s = 500
D_*�� �  ������� � = � , � � .������ 1�3"� =�02� 0 � � , � �������  � � �#���  � ` % ` � � �

, � � -B����� � 0 � � , � ��� � � � � �#�������%� ` % ` ��� � � ��� � , ��� � � � � � � � * � ��� 	���0  ��� �
� �)� � 0 � +s0 , � � � 	�� � % %6%6%&%6%&%6%6%&%6%&%�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% ` �

` % S � � 0 , 	 ���	� � � ��� � , � 	 � � � � 	 � T = ET0
/n

� � � �  ��������� , ��� � � � � � �)�0 � � , � ��� n � ��� � � � . � ����� � ��� , � � -B������� � ����� � 	 � ����� � �.(�� � +30 � . � ����=� � 	0��� � ��� � + . � 0 � ��� �  ������� � = � , � � .������ 1O3"� =�02� 0 � � , � �������  � � �#���  � ` % ` ��� � ������� � 	 � ��� � + � γp � pp �(� � � � �o0 � �7�.����� ��� ������+�%6%&%6%&% ' �
' % ` � + � � � �L�X��� � = �	� 	 � $ A � �&% 
 � � � 	 � 8 �X�.('&"�L+ *"�Y0 , � 	���� � � � �	 � 0 , �7�.��� � � � � *"� 0 , � 	���� � � � � �.(�� � + � � � � + �C��� � = �	� A�
�E�� �

 � , �6� � � =H� $ A � � � 5�� � � �B��� 	�� � =H� $6` � � � �50 � �5.�� � =H� $ A � � A.E��^%&%&%6% ' �

' % ' ��� � � -"	 � �.(�� � �*0 ��� � ���<�50 � (Q�#�7��� � = ��� 	 �Q$ A � � � � �7� ��0����<�50 � �
� � .���0^� �
� � � =?	 � 8 � � � � 	 � �"�	��.�� �N� -"� � � %:%&%6%&%�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% '�S

' %�� � + � � �  0 � � ��� � ��� ��� � � � � ��	 �T$&` %6%&%6%&%�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% ' K
N
�
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 � N N

' %�� � � � � 	 � �.(�� � � � 	 � �#� ��� �o0���0 � � � � ��� � � � � ��	 � $6` %&%6%&%6%6%6%6%6%&%6%&%6% ''N
' % S � � 	�+������ , �7�.� � ��� � � � �.��	���� � � 	 � ���<AB% ��� � �0� ����� *^� � � � 	���� � -���� � � � +. � 0 � � =[� � �.��	���� � � 	 � � � � � ��.�� �0��1 � 02��� � 8 A3: � � �6� 	������ � + I � � 8 $ : % %6% � �
' % K �P��0 � � � � 0 ��� � ���<�50 � � ��� � � � � ��	 � $&` % %&%�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% � `' % � 
 � � � 	 � +  	�� � � �"�0� � � 	���-B- � 	�� � ��0���0 � � � � ��� � � � � ��	 � $&` %\%6%6%6%&%6%&%6% �
�
' % N �6� 	���0  ��� � a) , 	 ��� 0 � ��� � � � � ��� �	��.���� � dE/dx

� � � �  ���������
ln(p/
D_*��

)
% � � � � � � � . � 	�� � � � � � � � ��� � � �	������� , ��� � � �/�0��1 �

, � 	 � � � � 	���� � ��� 1 � ' %���� � �)� , 	�� � ����� � � � � ����� � � , ������� �0B��� � ��� � 0 � ��� ������%*#Q	 � 0�� �N� � �5.���� � � 	���0  ��� � a)
0"��� � ��� � 0 � �7 �1 �-�� , � � � � � � . � � . � 0 � ��� � � � �)� � � 02� � � ������� 0

LNK > 0.05
% �6�	���0  ��� � b) , 	 ��� 0 � ��� � � ���G	 � 0 , 	 ���	� � � ��� � �  ��������� � � � 0���� � �.(�����-B�

, 	 ���-� � , � � � 8 ��� � �)�?-�� , � � � � � � � ��� � LHK

% %6%6%&%6%&%6%6%6%6%6%&%6%&%6% � �
��% ` �]	 ��� � � ��� � ��� ��� � + � 0�������=�� ��� � ��0 � ��� � � # � 	��.�E�<� ��� � ��	�� �0� ��� � �� 032 4 $ 57� I ��	 � 0�� � = � ��� � � 0 $ @ 2BA 4 I 	����B� ��� =W� ��� � � ��0 ��� ��� � � � �� � � 8 	 � ��� � � � � � � � � ��� ��0���� �N� � 	���-"- � 	 � � . � 	�� � = � ��� � � � �)� 	 � �!� � +����� � � � � ��. � 0B����+ , � 	 � � � ��� � +�� a) I � � � 0���� � �.(�� � � , 0 �B�-� � 8 � 0 � 	�� � � �

, 	��9�L� � ��	���= 8 � �;� � � ��� 0���	�� ��� �T��� � 0 � � 	W0 *�� � 	�-�� � = 8 �7�.( & � 500 � *�� �
b) I z � �#����	 � ��� � � � 	 � �L����0 � 	  ��	�� �0� ������= ��� 	9&"��� � 0B� 8 � � ��� � c) I�L�X�	��. � 0 � � � � 	 � �L��� � 0B� 8 � � ��� 0 , � , � 	 � .�� � � ��� ,  �.(50"��� pT >

0.15
DV*�� � d) I �#�7� ��. � 0 � � � � 	 � �#��� � 0B� 8 � � ���*0 , � , � 	 � .�� � � ��� ,  �.(50"���

pT > 0.4
D_*�� � e) I , � , � 	 � .�� � = ��� ,  �.(�0 � 	 � �#� � � f) I 8 � 0 � 	�� � � � 	 � �#� � �

g) I  0B	 ��� � � ��� � = , � , � 	 � .�� � = ��� ,  �.(50 � 	 � �#� � � h) I  0B	 ��� � � ��� � �
8 � 0 � 	�� � � � 	 � �#� � % %6%6%6%&%6%&%6%6%&%6%&%�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% ���
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 � N �
��% ' �]	 ��� � � ��� � ��� ��� � + � 0�������=�� ��� � ��0 � ��� � � # � 	��.�E�<� ��� � ��	�� �0� ��� � �� 032 4 $ 57� I ��	 � 0�� � = � ��� � � 0 $ @ 2BA 4 I 	����B� ��� =W� ��� � � ��0 ��� ��� � � � �� � � 8 	 � ��� � � � � � � � � ��� ��0���� �N� � 	���-"- � 	 � � . � 	�� � = � ��� � � � �)� 	 � �!� � +����� � � � � ��. � 0B����+ , � 	 � � � ��� � +�� a) I � � � 0���� � �.(�� � � , 0 �B�-� � 8 � 0 � 	�� � � �

, 	��9�L� � ��	���= 8 � �;� � � ��� 0���	�� ��� �T��� � 0 � � 	W0 *�� � 	�-�� � = 8 �7�.( & � 500 � *�� �
b) I z � �#����	 � ��� � � � 	 � �L����0 � 	  ��	�� �0� ������= ��� 	9&"��� � 0B� 8 � � ��� � c) I�L�X�	��. � 0 � � � � 	 � �L��� � 0B� 8 � � ��� 0 , � , � 	 � .�� � � ��� ,  �.(50"��� pT >

0.15
DV*�� � d) I �#�7� ��. � 0 � � � � 	 � �#��� � 0B� 8 � � ���*0 , � , � 	 � .�� � � ��� ,  �.(50"���

pT > 0.4
D_*�� � e) I , � , � 	 � .�� � = ��� ,  �.(�0 � 	 � �#� � � f) I 8 � 0 � 	�� � � � 	 � �#� � �

g) I  0B	 ��� � � ��� � = , � , � 	 � .�� � = ��� ,  �.(50 � 	 � �#� � � h) I  0B	 ��� � � ��� � �
8 � 0 � 	�� � � � 	 � �L� � %EP � 	 � � � ��� �N� ηmax

� zvertex
� ntr � ntr3 � pTaverage

ηaverage � � ��� � � # � 	��.�\�<� ��� �	��	�� �0� ����� � � ��� ��� � + � � � � 8 	 � ��� � + � �� � � ��� ��0���� �N� � 	���-"- � 	 � 8 � �	� , � 	 �B� � ��� & � � � � �
��� ��� �N� % %6%6%6%&%6%&%6% � '
��%�� /O	���-B- � 	�� � = � �Y0 � ,�� � ��0 a3

� � � �  ��������� ��� ��� 	�� � � � ����=F� � 0�0 � ρ0 �� � ����� � , 	 ��� 0 � �7� � � � � 0 � � � ��� � � 	 ��� � � + , � pT

� � . � � � 	 � +"��� � � 	 �0� � � +
, � ylab

%3#Q	 � 0�� � �?�	������� 0B��� � ��� � 0 � �� �� � � ��� � � # � 	L�.� �<� ��� � ��	�� �0� ��� 106- � � � 	 � � ��	���� 032�4 $ 57� � � 0�������� I 0�- � � � 	 � � ��	���� 0 $ @ 2BAC4Q% %&%6%&%6% � K��%�� /O	���-B- � 	�� � = � �Y0 � ,�� � ��0 a3

� � � �  ��������� ��� �0� 	�� � � � ����= � � 0�0 � K∗0 �� � ����� � , 	 ��� 0 � �7� � � � � 0 � � � ��� � � 	 ��� � � + , � pT

� � . � � � 	 � +"��� � � 	 �0� � � +
, � ylab

%3#Q	 � 0�� � �?�	������� 0B��� � ��� � 0 � �� �� � � ��� � � # � 	L�.� �<� ��� � ��	�� �0� ��� 106- � � � 	 � � ��	���� 032�4 $ 57� � � 0�������� I 0�- � � � 	 � � ��	���� 0 $ @ 2BAC4Q% %&%6%&%6% � �
��% S /O	���-B- � 	�� � = � � 0 � ,�� � ��0 a3

� � �!�  ���������"��� �0� 	�� � � � ����=
� � 0�0 � φ(1020) �� � ����� � , 	 ��� 0 � �7� � � � � 0 � � � ��� � � 	 ��� � � + , � pT

� � . � � � 	 � +"��� � � 	 �0� � � +
, � ylab

%3#Q	 � 0�� � �?�	������� 0B��� � ��� � 0 � �� �� � � ��� � � # � 	L�.� �<� ��� � ��	�� �0� ��� 106- � � � 	 � � ��	���� 032�4 $ 57� � � 0�������� I 0�- � � � 	 � � ��	���� 0 $ @ 2BAC4Q% %&%6%&%6% � N
��% K /O	���-B- � 	�� � � *"�6� � � � � � ���50 � ( εtrig(ntr3, ntr)

� � � �  ���������� ����� � 0 � ��� �����50 � � � 	 � �#� � ntr
0

pT > 0.15
D_*�� , 	��5�����Y0���	�� �0� ������=� ����� � 0 � ��� �����50 � � � 	 � �#� � ntr3

0
pT > 0.4

D_*��U%?#Q	 � 0�� � �D�	�������
0B��� � ��� � 0 � �� �� � � ��� � � # � 	��)�U�<� ��� � ��	�� �0� ��� 1 0 - � � � 	 � � ��	���� 032 4 $ 57� �
� 0�������� I ��� ��� � � � � � 8 	 � ��� � � � � � � � ��� ��0���� �N� � 	���-"- � 	 � S ���
	�� 
��
����	�� % S �
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 � � �

��% � /O	���-B- � 	�� � � *B��� � � � � � ���50 � ( εtrig

� � � �  ���������  0B	 ��� � � ������-"�
��� ,  �.(50 � pTaverage

� � � � �  ��������� , 0 �"�-� � 8 � 0 � 	�� � � ηleading

���	�
� �!���  � � �)(�����-"�  -K� � φleading

� 	 � � � 0 � � �Y0���� � �)(�� � � , � , � 	 � .�� � �
��� ,  �.(50"��� pT � 0B� 8 � � ��� , 	�� �����Y0���	�� �0� ������= � ����� � 0 � ��� �����50 � �
� 	 � �L� � ntr3

0
pT > 0.4

D_*��U% #Q	 � 0�� � � �	�������B0B��� � ��� � 0 � �� �� � � ��� � �# � 	��.�\�<� ��� �	��	�� �0� ��� 1 0T- � � � 	 � � ��	���� 032�4 $ 57� � � 0�������� I ��� ��� � � �
� � 8 	 � ��� � � � � � � � �7� ��0���� �N� � 	���-B- � 	 � %�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% S `��% N � � �	��.���� � Ktrig

0���0 , �7�.(��B� �0� ��� � � ��� �0� 	�� � � � ����=\� � 010 � M(ππ)
% %6%&% S �

��% � � � �	��.���� � Ktrig

0���0 , �7�.(��B� �0� ��� � � ��� �0� 	�� � � � ����=\� � 010 � M(πK)
%A%6%&% S �

��% ` � � � �	��.���� � Ktrig

0���0 , �7�.(��B� �0� ��� � � ��� �0� 	�� � � � ����=\� � 010 � M(KK)
% %&% S�S

��% `�`H�6� 	���0  ��� � a) , 	 ��� 0 � ��� � � � � ��� ��� 	�� � � � � � � � � 0�0 � M(K+K−)

� � 8 � � 0 � � φ(1020) � � � ����� � � � �)� K+ 8 � � � , 	���� � � � � � dE/dx �
� ��� � � ������� � ����� 0

LNK > 0.05
% ��� 	���0  ��� � b) , 	 ��� 0 � ��� � � � �

, �7�)��	���� � ����� cos θ∗ � � 8 � � 0 � � 8 �	�����#��= �
� � 010 � φ(1020) � � � ����� � � 1.01 <

M(K+K−) < 1.03
DV*����^% �6� 	���0  ��� � c) , ��� � � � ��� � , 	 ����� � � ��� �

 -K� � , �7����	���� � ����� θ∗ φ(1020) � � � �B��� � % ��� 	���0  ��� � d) , 	 ��� 0 � ��� � � � �
��� �0� 	�� � � � � � � � � 0�0 � M(K+K−) � � 8 � � 0 � � φ(1020) � � � ����� � � � �)� K+

8 � � � , 	���� � � � � � dE/dx � � ��� � � ������� � �����|0
LNK > 0.05

� � 	 � 8 � �0� ��� �
cos θ∗ < 0

% ��� 	���0  ��� � e) , 	 ��� 0 � ��� � � � � � � � � ��� ��� 	�� � � � � � �Y� � 0�0 �
M(K+K−)

� � � � � � 	���0  ��� � d)
0 � � , �7�	��� � � �.(�� � � � 	 � 8 � ��� ��� � �

dE/dx � � ��� � � ������� � ����� � �)� K− � LNK > 0.05
%Y%6%&%6%&%6%�%&%6%6%&%6%&% S �

��% ` ' 0]�6� � � � � � ���50 � ( εK

� � � � ��� dE/dx � � ��� � � ������� � ����� � � � �  ���������
��� ,  �.(50 � � � ��� � � � 	 � 8 � �0� ��� � � LNK > 0.10

� � 	���0  ��� � a) � ��� K+ �� � ����� � � b) � �)� K− � � � ����� � � 0 � 	 � 8 � �0� ��� � � LNK > 0.05
� � 	���0  ��� � c)

� �)� K+ � � � ����� � � d) � �)� K− � � � ����� � % %�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% S'N
��% ` �-0]�6� � � � � � ���50 � (W	 � �L����0 � 	  ������� εrec

� � � �  ��������� pT

�
ylab �

�)�
ρ0 �

K∗0 � φ(1020) � � � �B����� � % %6%&%6%6%&%6%&%6%�%&%6%6%&%6%&%6%6%&%�%6%&%6%&%6%6% K ���% ` � ��� �0� 	�� � � � � � � � � 0�0 � � �� + , ������� � 0 , 	�� � � � � , �X�.��� � ��� � � �Y��� � � � � �� � 	0� � � , �50^� � ��� .�� � � ����� ��� ��� 	�� � � � ����= � � 010 � � �� + , ������� � 0
� � ��� � �#� ��� � � �!� � � � � �;� � 	0� ��� � ����	�� ��	�� �0� ��� � � � � , �7�	��� � �#�7� ��. � 0 � � �
� +0� � � � % � , �.�'&
� � � � , 	 � 	 �/� ��0 � � � �	������� , ��� � � �/����1 � � ��� � � # � 	��.��<� �	� �	��	�� �0� ��� � 0>- � � � 	 � � ��	���� 032 4 $ 57� 0  . � � ��� � 8 � �  . � � � N�0 #0B��� � ��� � 0 � ��� ������% %6%6%6%6%&%6%&%6%6%&%6%&%�%6%&%6%6%&%6%&%6%6%6%6%6%&%6%&%6% K �
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 � � `
��% ` S ��� �0� 	�� � � � � � � � � 010 � M(π+π−) � , � 	 ��� + � 	 � + pT

��� � � 	 ��� � � +�%/&��� � � � � � + ��� � � 	 �0� �)� � �
0^� �"�0� , 	 ��� 0 � �7� � � � � ��� �0� 	�� � � � � � � � � 010 �
π+π− 0 , � � � 	 � � 0 , �.� &"� � �
�	�������P0B��� � ��� � 0 � �� �� � 	 � �  �.( � � � � � , � � -"��������  ������� � = �	��% ` ��� � � ��� � + � , 	 � 	 �/� ��0 � � � �	������� , 	 ��� 0 � ��� �)� � � 0B� 8 ��=
�L��� 8 ��� � � ��	�� � =Y����� B(m) � �  ��������� �	��% ` ��� �y0 , 	 ���0� , 	 ��� 0 � ��� � � � �
��� ��� �N� � , � � -B����� � , �50 � �J��� .�� � � �����E�#��� 8 ��� � � ��	�����-"� ����� � B(m) �
,  ��� � ��	�� � � ��& � 	���+ ,  ��� � ��	�� � �5�	�������;0B��� � ��� � 0 � �� L1 � � �L� �6��� � � �
ω
�

K∗0 � � 	 � � � ����=@0"��� � ��� � 0 � ��� ������% � , 	 ���0� � �����  , 	 ��� 0 � ��� � � � �
��� ��� �N� , ��0^� �6��� .�� � � ����� , � � -B�������[�  ������� � = � ��% ` ���^%�%6%6%6%6%&%6%&%6% K S��% `BK ��� �0� 	�� � � � � � �>� � 0�0 � M(π+π−) � , �50^� ��� ���L+o. � � � 	 � + pT

��� � � 	 ��� � � +�%/&��� � � � � � + ��� � � 	 �0� �)� � �
0^� �"�0� , 	 ��� 0 � �7� � � � � ��� �0� 	�� � � � � � � � � 010 �
π+π− 0 , � � � 	 � � 0 , �.� &"� � �
�	�������P0B��� � ��� � 0 � �� �� � 	 � �  �.( � � � � � , � � -"��������  ������� � = �	��% ` ��� � � ��� � + � , 	 � 	 �/� ��0 � � � �	������� , 	 ��� 0 � ��� �)� � � 0B� 8 ��=
�L��� 8 ��� � � ��	�� � =Y����� B(m) � �  ��������� �	��% ` ��� �y0 , 	 ���0� , 	 ��� 0 � ��� � � � �
��� ��� �N� � , � � -B����� � , �50 � �J��� .�� � � �����E�#��� 8 ��� � � ��	�����-"� ����� � B(m) �
,  ��� � ��	�� � � ��& � 	���+ ,  ��� � ��	�� � �5�	�������;0B��� � ��� � 0 � �� L1 � � �L� �6��� � � �
ω
�

K∗0 � � 	 � � � ����=@0"��� � ��� � 0 � ��� ������% � , 	 ���0� � �����  , 	 ��� 0 � ��� � � � �
��� ��� �N� , ��0^� �6��� .�� � � ����� , � � -B�������[�  ������� � = � ��% ` ���^%�%6%6%6%6%&%6%&%6% K K��% ` � ��� �0� 	�� � � � � � � � � 0�0 � M(π+π−) � . � � � 	 � + ylab

��� � � 	 �0� � � +�% /6�)�� � � � � + ��� � � 	 ��� �.� � �N0^� �"�0� , 	 ��� 0 � ��� � � � � ��� ��� 	�� � � � � � �
� � 0�0 � π+π−

0 , � � � 	 � � 0 , �)�'&"� � � �	������� 0B��� � ��� � 0 � �� �� � 	 � �  �.( � � � � � , � � -"��������  ������� � = �	��% ` ��� � � ��� � + � , 	 � 	 �/� ��0 � � � �	������� , 	 ��� 0 � ��� �)� � � 0B� 8 ��=
�L��� 8 ��� � � ��	�� � =Y����� B(m) � �  ��������� �	��% ` ��� �y0 , 	 ���0� , 	 ��� 0 � ��� � � � �
��� ��� �N� � , � � -B����� � , �50 � �J��� .�� � � �����E�#��� 8 ��� � � ��	�����-"� ����� � B(m) �
,  ��� � ��	�� � � ��& � 	���+ ,  ��� � ��	�� � �5�	�������;0B��� � ��� � 0 � �� L1 � � �L� �6��� � � �
ω
�

K∗0 � � 	 � � � ����=@0"��� � ��� � 0 � ��� ������% � , 	 ���0� � �����  , 	 ��� 0 � ��� � � � �
��� ��� �N� , ��0^� �6��� .�� � � ����� , � � -B�������[�  ������� � = � ��% ` ���^%�%6%6%6%6%&%6%&%6% K �
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 � � '

��% ` N ��� �0� 	�� � � � � � � � � 0�0 � 0 , � � � 	�� � � π+π− � a � b
� � K±π∓ � c � � K+K−

�
d
�^% � , �.� &"� �N� ��	�� ���N� , ��� � � �/�0��1 � 	 � �  �.( � � � , � � -B������� �  ������� � =

F (m)
� , 	 � 	 �/� ��0 � �N� �	�������H0B��� � ��� � 0 � �� L1 � � �L� �6�. �#��� 8 ��� � � ��	�����-B��6��� � B(m)

% ��� b) � ��� ��� �N� � , � � -B����� � �  ������� � = F (m) , ��� � � � � �
, �50^� � ��� .�� � � ����� �#��� 8 ��� � � ��	�����-"� ����� � B(m)

� ,  ��� � ��	�� �N� �& � 	���+ ,  ��� � ��	�� �N� �	������� , ��� � � �/�0��1 � � ��� �6� � � � ω
�

K∗ � � 	 � � � ����=0B��� � ��� � 0 � ��� ������% ��� c) � ,  ��� � ��	�� � �Y�	�������;0"��� � ��� � 0 � �7 �� � � ��� �6�) � �� � 	 � � � ����= � & � 	���+ ,  ��� � ��	�� � � �	������� I�� ��� �6�) � � K∗ 0���-�� � � � % �6� d) �
,  ��� � ��	�� � �>�	�������U0"��� � ��� � 0 � �7 �� � � ��� �6�. � � φ

0���-�� � � � % %6%6%&%6%&%6% K N��% ` � ��� �0� 	�� � � � � � � � � 010 � M(K±π∓) � , � 	 ��� + � 	 � + ��� � � 	 ��� � � + , �
pT

0
dE/dx � � ��� � � ������� � ��� � =@% � ��� � � 	 ��� � � 1 , � pT

��0 , �7�)(��  �� � 02�
� � , �7� ��� � � �.(���� � � 	 � 8 � �0� ��� � � �  -B�7� , �7�)��	���� � ����� K∗0 � � � ����� � �
cos θ∗ < 0

% /6�)� � � � � ��-"� ��� � � 	 ��� � � � 0^� �"�0� , 	 ��� 0 � �7� � � � �
��� �0� 	�� � � � � � � � � 0�0 K±π∓ 0 , � � � 	 � � 0 , �.�'&
� � � . � 	�� � � �	�������
0B��� � ��� � 0 � �� �� � 	 � �  �.( � � � � � , � � -B������� �  ������� � = � ��% ` ��� ��� ��� � + �0 , �.� &"� � � � ���7� � � � �0� ���	������� , 	 ��� 0 � ��� �)� � � 0"� 8 ��=C�L��� 8 ��� � � ��	�� � =�6���

B(m) � �  ��������� �	��% ` � � � 0 , �.� &"� � � . � 	�� � � �	������� 0������  I0  �<� � 	�� � = � ��� �6� � 0 � + � � 	 � � � ����� � � ��	 � 0�� � � I 0���-�� � � K∗0 �� � ����� � �/0 , 	 ����� , 	 ��� 0 � ��� � � � � 0���-�� � � K∗0 � � � ����� � � � � , �50 � �
 . � � � 	 � ��	 � & � ����� �	� � � � � ��	 � 0 , �.�'&
����= ��	 � 0�����= � , 	 � 	 �/� ��0 � ��=� ���7� � � � � ��= 0"��� � ��� � 0 � ��� ����� � &"��	����#� � � � 	 � � � ��� � K∗0 � � � �B��� � , � �0 � �����?� � 0���-�� � �.���{. � 	�����=��	����� � = � � ��� �6� � � 	 � � � ����� ρ0 � � � ����� � 0���� � =�	����� � = � ω

0>� � �Y0����  �<��� ���#�7�.�
0.75
D_*��E. � 	�����= �	����� � = � φ(1020)0 , �.� &"����= �����7� � � � � ��=
� ����� � =@% � , 	 �����>� �����  , 	 ��� 0 � ��� � � � � ��� ��� �N�

, �50^� �6��� .�� � � ����� , � � -"�������[�  ������� � =��	��% ` � �^% %&%6%&%6%6%6%6%6%&%6%&%6% K �



��� 
���� � 
�������� �	� ��
�
 � � �

��% ' � ��� �0� 	�� � � � � � �C� � 010 � M(K±π∓) � . � � � 	 � + , �50 � ��� ����+ ��� � � 	 �0� � � +
, � pT

8 � � dE/dx � � ��� � � ��� ��� � �����@%$/6�)�C� � � � ��-"� ��� � � 	 �0� � � ��0 � �B�0�
, 	 ��� 0 � ��� � � � � ��� �0� 	�� � � � � � � � � 0�0 K±π∓ 0 , � � � 	 � � 0 , �)�'&"� � ��. � 	�� � ��	��������0"��� � ��� � 0 � �7 �� � 	 � �  �.( � � � � � , � � -"������� �  ������� � = � ��% ` ��� ��� ��� � + �0 , �.� &"� � � � ���7� � � � �0� ���	������� , 	 ��� 0 � ��� �)� � � 0"� 8 ��=C�L��� 8 ��� � � ��	�� � =�6���

B(m) � �  ��������� �	��% ` � � � 0 , �.� &"� � � . � 	�� � � �	������� 0������  I0  �<� � 	�� � = � ��� �6� � 0 � + � � 	 � � � ����� � � ��	 � 0�� � � I 0���-�� � � K∗0 �� � ����� � �/0 , 	 ����� , 	 ��� 0 � ��� � � � � 0���-�� � � K∗0 � � � ����� � � � � , �50 � �
 . � � � 	 � ��	 � & � ����� �	� � � � � ��	 � 0 , �.�'&
����= ��	 � 0�����= � , 	 � 	 �/� ��0 � ��=� ���7� � � � � ��= 0"��� � ��� � 0 � ��� ����� � &"��	����#� � � � 	 � � � ��� � K∗0 � � � �B��� � , � �0 � �����?� � 0���-�� � �.���{. � 	�����=��	����� � = � � ��� �6� � � 	 � � � ����� ρ0 � � � ����� � 0���� � =�	����� � = � ω

0>� � �Y0����  �<��� ���#�7�.�
0.75
D_*��E. � 	�����= �	����� � = � φ(1020)0 , �.� &"����= �����7� � � � � ��=
� ����� � =@% � , 	 �����>� �����  , 	 ��� 0 � ��� � � � � ��� ��� �N�

, �50^� �6��� .�� � � ����� , � � -"�������[�  ������� � =��	��% ` � �^% %&%6%&%6%6%6%6%6%&%6%&%6% � �
��% ' ` ��� �0� 	�� � � � � � � � � 0�0 � M(K±π∓) � . � � � 	 � + ��� � � 	 ��� � � + , � ylab

0
dE/dx � � ��� � � ������� � ��� � = � 0 � 	 � 8 � �0� ��� � � � �T -B�7� , �7����	���� � ����� K∗0 �� � ����� � � cos θ∗ < 0

% /6�)� � � � � ��-B� ��� � � 	 �0� � � �90^� �"�0� , 	 ��� 0 � �7� � � � �
��� �0� 	�� � � � � � � � � 0�0 K±π∓ 0 , � � � 	 � � 0 , �.�'&
� � � . � 	�� � � �	�������
0B��� � ��� � 0 � �� �� � 	 � �  �.( � � � � � , � � -B������� �  ������� � = � ��% ` ��� ��� ��� � + �0 , �.� &"� � � � ���7� � � � �0� ���	������� , 	 ��� 0 � ��� �)� � � 0"� 8 ��=C�L��� 8 ��� � � ��	�� � =�6���

B(m) � �  ��������� �	��% ` � � � 0 , �.� &"� � � . � 	�� � � �	������� 0������  I0  �<� � 	�� � = � ��� �6� � 0 � + � � 	 � � � ����� � � ��	 � 0�� � � I 0���-�� � � K∗0 �� � ����� � �/0 , 	 ����� , 	 ��� 0 � ��� � � � � 0���-�� � � K∗0 � � � ����� � � � � , �50 � �
 . � � � 	 � ��	 � & � ����� �	� � � � � ��	 � 0 , �.�'&
����= ��	 � 0�����= � , 	 � 	 �/� ��0 � ��=� ���7� � � � � ��= 0"��� � ��� � 0 � ��� ����� � &"��	����#� � � � 	 � � � ��� � K∗0 � � � �B��� � , � �0 � �����?� � 0���-�� � �.���{. � 	�����=��	����� � = � � ��� �6� � � 	 � � � ����� ρ0 � � � ����� � 0���� � =�	����� � = � ω

0>� � �Y0����  �<��� ���#�7�.�
0.75
D_*��E. � 	�����= �	����� � = � φ(1020)0 , �.� &"����= �����7� � � � � ��=
� ����� � =@% � , 	 �����>� �����  , 	 ��� 0 � ��� � � � � ��� ��� �N�

, �50^� �6��� .�� � � ����� , � � -"�������[�  ������� � =��	��% ` � �^% %&%6%&%6%6%6%6%6%&%6%&%6% � `
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 � � �

��% '�' ��� �0� 	�� � � � � � � � � 010 � M(K+K−) � , � 	 ��� + � 	 � + ��� � � 	 �0� � � + , �
pT

0
dE/dx � � �	� � � ������� � ��� � =@%�/6�)� � � � � ��-"� ��� � � 	 ��� � � ��0 , �.� &"� � �0�������� � �������;0B��� � ��� � 0 � �� �� � 	 � �  �)( � � � � � , � � -B�������5�  ������� � = �	��% ` � �

��� ��� � + � , 	 � 	 �/� ��0 � � � �����7� � � � ��� � �	������� , 	 ��� 0 � ��� ��� � � 0B� 8 ��=
�L��� 8 ��� � � ��	�� � =J����� B(m) � �  ��������� � ��% ` ��� � � � ��� � , �T� � ��� �.(����50 � �
, 	 ��� 0 � ��� � � �/0���-�� � � φ(1020) � � � ����� ��� � � , �50^� �W . � � � 	 � ��	 � & � �����
��� � � � � ��	 � 0 , �.�'&"����=H��	 � 0�����=��{0���� � =?�	����� � ={0"��� � ��� � 0 � ��� ����� � � �����  
, 	 ��� 0 � ��� � � � � ��� ��� �N� , �50^� �6��� .�� � � ����� , � � -"�������[�  ������� � =��	��% ` � �^% ��'

��% ' � ��� �0� 	�� � � � � � � � � 0�0 � M(K+K−) � , �50 � ��� ����+P. � � � 	 � + ��� � � 	 �0� � � + , �
pT

8 � � dE/dx � � ��� � � ��� ��� � �����@%)/6�)�E� � � � ��-B� ��� � � 	 �0� � � ��0 , �.� &"� � �0�������� � �������;0B��� � ��� � 0 � �� �� � 	 � �  �)( � � � � � , � � -B�������5�  ������� � = �	��% ` � �
��� ��� � + � , 	 � 	 �/� ��0 � � � �����7� � � � ��� � �	������� , 	 ��� 0 � ��� ��� � � 0B� 8 ��=
�L��� 8 ��� � � ��	�� � =J����� B(m) � �  ��������� � ��% ` ��� � � � ��� � , �T� � ��� �.(����50 � �
, 	 ��� 0 � ��� � � �/0���-�� � � φ(1020) � � � ����� ��� � � , �50^� �W . � � � 	 � ��	 � & � �����
��� � � � � ��	 � 0 , �.�'&"����=H��	 � 0�����=��{0���� � =?�	����� � ={0"��� � ��� � 0 � ��� ����� � � �����  
, 	 ��� 0 � ��� � � � � ��� ��� �N� , �50^� �6��� .�� � � ����� , � � -"�������[�  ������� � =��	��% ` � �^% � �

��% ' � ��� �0� 	�� � � � � � � � � 0�0 � M(K+K−) � . � � � 	 � + ��� � � 	 �0� � � + , � ylab0
dE/dx � � ��� � � ������� � ��� � =@%�/6�)� � � � � ��-B� ��� � � 	 �0� � � �@0 , �.� &"� � �0�������� � �������;0B��� � ��� � 0 � �� �� � 	 � �  �)( � � � � � , � � -B�������5�  ������� � = �	��% ` � �

��� ��� � + � , 	 � 	 �/� ��0 � � � �����7� � � � ��� � �	������� , 	 ��� 0 � ��� ��� � � 0B� 8 ��=
�L��� 8 ��� � � ��	�� � =J����� B(m) � �  ��������� � ��% ` ��� � � � ��� � , �T� � ��� �.(����50 � �
, 	 ��� 0 � ��� � � �/0���-�� � � φ(1020) � � � ����� ��� � � , �50^� �W . � � � 	 � ��	 � & � �����
��� � � � � ��	 � 0 , �.�'&"����=H��	 � 0�����=��{0���� � =?�	����� � ={0"��� � ��� � 0 � ��� ����� � � �����  
, 	 ��� 0 � ��� � � � � ��� ��� �N� , �50^� �6��� .�� � � ����� , � � -"�������[�  ������� � =��	��% ` � �^% � �
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��% ` ������� 1 ��� � ��� � � ���6� � 	 � ����� � �.(���� � � ��� ����	 � ������������� � 0 � . � ��� ��6� � ��	���� ��� ����� � �)� ρ(770)0 � K∗(892)0 �
φ(1020) � � � �B����� �

, 	 ��� 0 � ��� � � ��� � � a)
� � � �  ��������� , � , � 	 � .�����-"� ��� ,  �.(50 � � |ylab| < 1

�
� � b)

� � �
�  ��������� 8 � 0 � 	�� � � � �)� pT > 0.5
D_*��U%'#Q	�� �0� �"� � 	���0  ��� � a)0B��� � ��� � 0 � �� �� � , � � -B����� � 0 � � , � ������= �  ������� � = � ��0 , �7�.(��  �1O3"� =

��� 	 � � � ��� � � ` % ` ��� 0 n = 6.7
% D � ���'& � �����(8 	HG 7 G � � � 	 6B> : , ��� � � � � ��� �)�

� ��� � � # � 	L�.�*0����  �)������� 032 4 $ 57� � � � ��	 � & � ��� �N� � �5.���� � �(0 $ @ 2BAC4� ,  0 � �N� � �5.���� �P� � c)
� � �R�  ��������� , � , � 	 � .�����-"� ��� ,  �.(50 �!� |ylab| < 1

��� � d)
� � �?�  ��������� 8 � 0 � 	�� � � � �)� pT > 0.5

D_*��U%�� � � � ��0 � ��. � 0B��� � �0���0 � � � � � ��. � 0B��� � �'&"� 8 ���U0 �.��� � � � � �0�D� 	 � � ��.������ � * � �L+\	���0  ��� � +�% % � �
��% ' ������� 1 ��� � ��� � � ����� � 	 � ����� � �)(���� � 0 � . � ��� � ��� � ��	��I� ��� ����� � � ��  ��������� , � , � 	 � .�����-"� ��� ,  �.(50 � % #�	�� ���N� � � 	���0  ��� � 0"��� � ��� � 0 � �� L1 �

, � � -B����� � 0 , ���<� 3 ( 1 0 � � , � ������= �  ��������� � ` % ` ���^% � � � � ��0 � ��. � 0B��� � �0���0 � � � � � ��. � 0B��� � �'&"� 8 ���U0 �.��� � � � � �0�D� 	 � � ��.�����% %&%6%6%6%6%6%&%6%&%6% N �
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��% ` � � � � ���!��	  �� � �N� ����� � � � � ��. � 0"��� � ��� � � 	 �0� � � � * � ��= � ��010 � 	 � � ����� � �)�
ρ(770)0 � K∗(892)

�
φ(1020) � � � ������� � % θ∗ I  -"�7� , �X�)��	���� � ����� K∗(892) �� � ����� � � � % � %  -B�X�Y� � � �. � � , 	 ��� � � ��� � � �.� ��� � ����� K∗(892) � � � �B��� � �� � ������� � 0���0 � � � � , ���#��� K∗(892) � � � �B��� �!� 	 � 0 , �6��� K∗(892) → Kπ

% % � �
��% ` ������� 1 ��� � ��� � ��� �0� 	�� � � � ��� � � ����� � 	 � ����� � �.(���� � � ��� ���6	 � ������������� �0 � . � ��� � ��� � ��	���� ��� ����� d2σ/πdp2

T dylab �
�)�

ρ(770)0 � K∗(892)0 �

φ(1020) � � � ������� � � � 8 � � 0 � � 8 � 0 � 	�� � |ylab| < 1.0 � ��� � � 	 ��� � � +
, � pT
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